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0�0�� �� +� �!���� �� ��5?�( ! )�-� +�"��#��"� ��)�-$ � � � � � � � A@

0�0�A �!��#�!���� +�"��#��"� )�#��� ! #����( �!� ,) �!��$8�(

)-���� ! ������ ����+ +�"��#��+ )�-� � � � � � � � � � � � � � � B4
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4�0 ���-���!���� ��#�#�'��( ��+�"��'�����#� )-���� +�#���+ ,�--�!���(

+�"��#�+�# �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � @�

4�0�� 
�#��5 !���#���!-���$ ) ��# ���#!����"�  ��) ���-���$ #���!

! #����, �!� ,) �!��$8�, )-����, � � � � � � � � � � � � � � � � � @�

4�0�0 �)������ =��)� �+��#�-.��( &�#���!�� � ,� ��#� ��#���

�9 ��%�! � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � @2
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4�4 ��+� ���� � �#�'����( )-�#���#� #���  ��)� �!���$ � )�+�8.7

+�-�( ��  �+�"��#��( '��#�%5 � � � � � � � � � � � � � � � � � � � � � � � 2�

4�4�� �)������ +�#����� ��+� ���$ � � � � � � � � � � � � � � � � � � � � 2�

4�4�0 �)������ =��)� �+��#�-.��( &�#���!�� � ,� ��#� ��#���
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4�4�� � �!�����  ��&-.#�#�!  ��'�#� )� �+�# �! !�, �!5, �# &�#& 6

�9 ��&78�,�$ ! )-����, ! )�-� +�� �+�"��#�6 � ����5+�

=��)� �+��#� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��B

4�� ���-���!���� ��  �-$%�� +�/�& # ���)� #�5+� � ��-���(�5+� �1D

,� ��#� ��#���+� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��@

4���� �9�� =��)� �+��#�-.�5, +�#���! �) ���-���$ !� ,��"� � �>

#�'����"� )�-$ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��@

4���0 �%���� !� ,��"� � �#�'����"� )�-$ ! )-����, EF �� ����!�

��-���(�5, �1D ��+� ���( � � � � � � � � � � � � � � � � � � � � � ��2
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:; � )�!� ,���#�5( =�� "�#�'����( 9� .� :���*;�!��"�#���G

1
�< � !5����#�+)� �#& �5� �!� ,) �!������G

H; IJKL � ����+���-�"�'����$ #�� �$ H���9& "�*;����&G

<< � )� �+�# )� $���G

�1D � �!� ,!5����� '��#�#5G

MNO � "�9 ����$ ���#�+� P�!� ,) �!�����*��  �+�"��#��PG

a0 � !5��#� ��  �+�"��#��( '��#�%5 ��� )�!� ,���#.7 #����( �!� ,) �!��$>

8�( )-����G

A � !��#� �5( )�#��%��- IB = rot ALG

B � )�-��� +�"��#��� )�-�G

B0 � �+)-�#&�� ������ ����"� +�"��#��"� )�-$6 �-$ +�"��#��"� ��)�-$

B0 = 2m0/a
3
0G

ds � #�-8��� �!� ,) �!��$8�( )-����G

df � #�-8��� ��  �+�"��#��( )-����G

dm � � ����(  ��+� +�"��#��( '��#�%5G

dH � ,� ��#� �5(  ��+� '&!�#!�#�-.��( �9-��#� ��#'��� Q�--�G

H0 � !��?��� ���� ����� +�"��#��� )�-�G

Hc1 = Φ0/(4πλ
2) ln(λ/ξ) � ��/��� � �#�'����� )�-�G

Hcm = Φ0/(2
√

2πλξ) � #� +�����+�'����� � �#�'����� )�-�G

Hc2 = Φ0/(2πξ
2) � !� ,��� � �#�'����� )�-�G

Hc3 = γHc2 � � �#�'����� )�-� )�!� ,���#��( �!� ,) �!���+��#�6 γ > 1G

Hen � � �#�'����� )�-� ) ������!���$ +�"��#��"� )�#��� IRSTUVLG

Hp
en � � �#�'����� )�-� ) ������!���$ +�"��#��"� )�#��� ! +���� ��#�--�'����(

�!� ,) �!����� W )-����( )�!� ,���#.7 IXYZSRNXRU[RWTLG

Hmin
en � ���+��.?�� )�-�6 ) � ��#� �+ ��'����#�$ ) ������!���� +�"��#��"�

)�#��� ! +���� ��#�--�'����( �!� ,) �!����� � �����#��( )�!� ,���#.7G

h = H0/B0 � 9�� ��+� ��� +�"��#��� )�-�G

h0 � !5��#�6 �� ��#� �( ) ���!���#�$ ��+� ���� ) ��# ���#!����"�  ��) ���-���$

+�"��#��"� )�-$ Bz(r) ��#'���+ Q�--�G

G(r, r′) � )-�#���#. #���6 �����!��+�$ ��-.%�+ !�, �( � )-�#���#.7 n(r) =

Nδ(r − r′)/2πr6 "�� r′ �  ���&� ��-.%�G

jp � � �#�'����$ )-�#���#. #��� )�����"�G

jGL = (
√

2/6π
√

3)cHcm/λ ∝ cΦ0/ξλ
2 � � �#�'����$ )-�#���#. #���  ��)� �!���$

H���9& "�*;����& �-$ +���� ��#�--�'����, �9 ��%�!G

jc � =����#�!��$ � �#�'����$ )-�#���#. #���  ��)� �!���$G

jtr � # ���)� #�5( #��G

jv � ��+)����#� �!� ,) �!��$8�"� #���6 �!$�����$ � ��-�'��+ !�, �( !

�!� ,) �!��$8�( )-����G

A



jfm � ��+)����#� �!� ,) �!��$8�"� #���6 !������78�$ ! )-���� ! )�-�

+�"��#��( '��#�%5 � ���#!�#�#!&78�$ +�(���� �!���+ #���+G

J = d−1
s

∫
j(z) dz � )�!� ,���#��$ )-�#���#. #��� I\]RRT W^UURSTL6 #��&8�"� )�

#����( )-����G

Ldef � "-&9��� �����#�! �� )�!� ,���#� �!� ,) �!������6 �-$ �!� ,) �!������

�� �-&'�(�5+� �����#�+� � � �����!�� �#�'��� �#�-������G

(r, ϕ, z) � %�-��� �'����$ ���#�+� ��� ����#G

r0 � #�'��6 ! ��#� �( z−��+)����#� �&++� ��"� +�"��#��"� )�-$ �9 �8��#�$ !

�&-.6 Bz(r0) = 0G

r = x x0 + y y0 � �!&+� �5(  ���&�*!��#� G

R = r + z z0 � # �,+� �5(  ���&�*!��#� G

m0 � ��)�-.�5( +�+��# ��  �+�"��#��( '��#�%5G

m � ��!�, �����#. �!� ,) �!��$8�"� �� ��5?� �-� � 9�#�-.�5( +�+��#

'��#�%5G

Nf � '��-� �!��#�! +�"��#��"� )�#��� '� �� )-�8��.6 �" ���'���&7 ���#& �+

Bz(x, y) = 0 ) � H0 = 0G �-$ +�"��#��"� ��)�-$ Nf = 4πm0/(3
√

3a0Φ0)G

n(r) � )-�#���#. !�, �(G

Tc0 � � �#�'����$ #�+)� �#& � ���-� �!����( �!� ,) �!��$8�( )-����G

Tc � � �#�'����$ #�+)� �#& � �!� ,) �!��$8�( )-���� ! "�9 ����( MNO

���#�+�G

λ � "-&9��� ) ������!���$ +�"��#��"� )�-$G

ξ � �-��� ��"� ��#���#�G

λab6 λc6 ξab6 ξc � "-&9��� ) ������!���$ +�"��#��"� )�-$ )� "-�!�5+

� ��#�--�" ���'����+ ��$+ ! �����# �)�5� �!� ,) �!������G

ρ = r/a0 �-� r/λ � 9�� ��+� ��$ ��� ����#� ! %�-��� �'����( ���#�+�

��� ����#G

Φ0 = πh̄c/|e| � 2 · 10−7 H�·�+2 � �!��# +�"��#��"� )�#���G

ψ = |ψ|eiθ � �� +� �!���5( )� �+�# )� $���6 θ � ���� )� �+�# � )� $���G

ψm = fme
imϕ � ��9�#!����$ �&��%�$ ���#�$��$ � �) ���-���5+ � 9�#�-.�5+

+�+��#�+ mG

θ(x) � �&��%�$ �����'��"� ���'�� IQ�!���(��LG

< ��9 ���!���� �& .� �+��# �-��&78�( !��C

f̃(q) =
+∞∫
−∞

f(x) exp(iqx)dnx

f(x) = (2π)−n
+∞∫
−∞

f̃(q) exp(−iqx)dnq�

B



��������


����������� �� !

����( �� !�/��(?�, ) �9-�+ ������ �!� ,) �!������! $!-$�#�$ ��������

+�#� ��-�! � +����+�-.��( � �#�'����( #�+)� �#& �( Tc6 ��, ��$78�, �!��

�!� ,) �!��$8�� �!�(�#!� ! ��-.�5, +�"��#�5, )�-$, � �)���9�5, �9��)�'�#.

9�������)�#�!��� ) �#������ #��� 9�-.?�( )-�#���#�� �#� 5#�� ! �2@B "� !5��>

��#�+)� �#& �5, �!� ,) �!������! I1
�<L � !5����+� ���'���$+� � �#�'����(

#�+)� �#& 5 ! ���'�#�-.��( �#�)��� ��$-� ) �9-�+& �, �,-�/����$6 )����-.�&  $�
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� �#�'����"� )�-$ I�+�6 ��) �+� 6 e�fL6 '#� �#� 5!��# ?� ���� )� �)��#�!5 �-$
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'��#�'�5+ ) ������!����+ +�"��#��"� )�#��� ! !��� �!��#�!���5, !�, �!5,

-���(� < ��&#�#!�� !�, �( ! �!� ,) �!������, ������# �� .���5� ) �)$#�#!�$

�� )&#�  ��-���%�� �!� ,) �!��$8�, &�# �(�#! �-$ ) �+5?-�����#� I#���,

��� �!� ,) �!��$8�� +�"��#5 �-� -���� )� ���'L6 )����-.�& ) � �!�/����

!�, �!5, -���( )�� ��(�#!��+ # ���)� #��"� #��� jtr !�������# ����'��� &��-.���

��) �#�!-���� +�#� ��-� ρ = ρnH0/Hc2 Iρn � &��-.��� ��) �#�!-���� �!� ,) �>

!������ ! �� +�-.��+ ���#�$���6 H0 � !��?��� +�"��#��� )�-�6 Hc2 � !� ,���
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�" ���'�!��# ���)���� )�-�( � #�+)� �#& 6 ) � ��#� 5, !��+�/�� ) ��#�'�����

��)�-.��!���� �!� ,) �!������!� �!�/���� !�, �( #��/� ) �!���# � &,&�?���7

�1D ,� ��#� ��#�� �!� ,) �!��$8�, �9 ��%�!� �� �� +� �!���� !�, �!5,

�# &�#& !  ��-.�5, �!� ,) �!��$8�, �9 ��%�, ����5!�7# !-�$��� �-��&78��

���#� 5C �����# �)�$6 ��#� �$ ���9���� !�/�� �-$ 1
�<G �����#5 � �-�95�

�!$��6 �9-�"'�78�� ) ������!���� +�"��#��"� )�#���G 9�-.?�(  ��+�"��'�!�78�(

���#� 6 ) �!��$8�( � ���'�#�-.��+& &��-���7 #��� ! ) �� ��!�( �9-��#�G

������ �����#. +�"��#��"� )�-$ � � � 1 !5����#�+)� �#& �5, �!� ,) �!������,

�� �!�(�#!� !�, �!�( +�#� �� #��/� ����5!��# !-�$��� ��-.�5( ) ��# ���#!���5(
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 ��&-.#�#� '�"� ! 1
�< +�#� ��-�,  ��-��&�#�$ 9�-.?�� '��-�  ��-�'�5, !�, �!5,

���#�$��( I!�, �!�$  �?�#��6 !�, �!�$ /�����#.6 !�, �!�� �#��-� � � �L�

�&8��#!&�# �����-.�� !��+�/���#�( ��9�/�#. )� �,��� �!� ,) �!������ !

 ����#�!��� ���#�$���C

�� ���-7'�#. )�$!-���� !�, �( ! �!� ,) �!������� :��!�, �!�� #� +�����>

+�'���� &�#�('�!�� ���#�$��� +�/�# �&8��#!�!�#. #�-.�� ! �-�95, +�"��#�5,

)�-$, IH0
<∼ Hc16 Hc1 � ��/��� � �#�'����� )�-� †L� 
�+ �� +����6 !  $��

�-&'��! ����5(  �9�'�( ���)���� )�-�( +�/�# 95#. �&8��#!����  ��?� �� !)-�#.

�� � �#�'����"� )�-$ Hen )���!-���$ =�� "�#�'����"� 9� .� �6 ) �)$#�#!&78�"�

) ������!���7 !�, �( ! �!� ,) �!����� '� �� )�!� ,���#.6 Hen > Hc1� �-$

����-.�5, 1
�< �9 ��%�! )�-� )���!-���$ )�!� ,���#��"� =�� "�#�'����"� 9� .� �

+�/�# ���'�#�-.�� ) �!5?�#. ��/��� � �#�'����� )�-�C Hen/Hc1 ∼ 206 )�=#�+&

)&#. )�!5?���$ =�� "�#�'����, 9� .� �! ! ) ��%�)� +�/�# ) �!��#� � &-&'?���7

# ���)� #�5, � !5����'��#�#�5, ,� ��#� ��#�� �!� ,) �!������!�

0� ���-7'�#. �!�/���� !�, �(� 
���(  �/�+ I)�����" +�"��#��"� )�#���L

!��+�/�� ! ������ ���5, �!� ,) �!������,� ���#�$��� � ��)��!�/�5+� !�, �!5+�

-���$+�  ��-��&�#�$ #�-.�� �-$ ���#�#�'�� �-�95, )-�#���#�( # ���)� #��"� #���

jtr < jp6 #� ��#. )��� ��-� ;� ��%�6 ��(�#!&78�$ �� !�, . � �# �+$8�$�$ �� !�#.

�"� � %��# � )�����"�6 9&��# +��.?� ��-5 ) �#$/���$ !�, $ � ������ �����#�G jp
� � ���$$ � �#�'����$ )-�#���#. #��� )�����"� ‡�

��5+� �-�!�+�6 �-$ ��, �����$ 9�������)�#�!��"� ) �#�����$ #��� ���9,���+�

�������� !5����, )�#��%��-.�5, 9� .� �!C -�9� �-$ ) ������!���$ !�, �( I���
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�-&'��L� �#+�#�+6 '#� � �#�'����� )�-$ � #���6 ���#!�#�#!&78�� )���!-���7

=�� "�#�'����, 9� .� �!6 ! ���'�#�-.��( +� � �) ���-$7#�$ ��!� ?���#!�+
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�����#5 )�!� ,���#� �!� ,) �!������ )���!-$7# )�!� ,���#�5( =�� "�#�'����(

9� .� :���*;�!��"�#��� I:;L6 #� ��#. &+��.?�7# ���#!�#�#!&78�� )�-� !,���

!�, �( Hen�
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! �+�?����� ���#�$��� � �� �+�?����"� ���#�$��$ ! �� +�-.��� ���#�$���6 �

#��/� ����!5� )� �,��5 +�/�&  ��-�'�5+� ���#�$��$+� !�, �!�( +�#� �� !

 ��-.�5, �9 ��%�, ) ���#�!-$7# ���'�#�-.�5( #�� �#�'����( � ) ��#�'����(

��#� ��� ���95( ��#� �� ) ���#�!-$�# ��&'���� �!�(�#! !�, �!�"� ���#�$��$ !

#����, �!� ,) �!��$8�, )-����,6 ��#� 5� ?� ��� ��)�-.�&7#�$ �-$ �������$

+�� �=-��# ���5, �!� ,) �!��$8�, &�# �(�#!C �/��������!���, ���#��#�! eB6 �f6

��1���! e@6 2f6 9�-�+�# �! e��6 ��f6  �����#� �! e�06 �4f6 ��-.# �! e��f6 -���(

)� ���' �1D ���)����� e�Af� ��-�� ! ����� #�%�� 9&��+  ���+�# �!�#. �-��&78��

!�) ��5C

> 3��)� �+��#�-.��� �) ���-���� � �#�'����, )�-�( � #���! �!� ,) �!��$8�,

�9 ��%�!6 ! '��#���#�C Tc(H0)6 Hen(T )6 jp(T ) � jc(T )6 "�� jc(T ) � #�+)� �#& ��$

��!���+��#. =����#�!��"� � �#�'����"� #���  ��)� �!���$6 ,� ��#� ��&78�"�

-���-.���  �� &?���� �!� ,) �!��$8�"� ���#�$��$� 3#� ���9,���+� �-$

�%���� )� �+�# �!  ��-.�5, �!� ,) �!��$8�, �9 ��%�! I#���, ��� "-&9���

) ������!���$ +�"��#��"� )�-$ λ6 �-��� ��"� ��#���#� ξ6 �-��� �!�9����"�

) �9�"� l6 #�) �)� �!���$ � #�) +�/" ��&-.�5, " ���%LG

> �%���� ) ���-.�5, ���'���( � �#�'����, )�-�( � #���!6 ! '��#���#�6

 ��'�# +����+�-.�� !��+�/��( � �#�'����( #�+)� �#& 5 Tc(H0) �-$ �!� ,>

) �!������! ! ������ ����+ +�"��#��+ )�-� � � �#�'����"� )�-$ Hmin
en (T )6

���#!�#�#!&78�"� ) ���-.��+& )���!-���7 9� .� � :;G

> ���-���!���� ) ��# ���#!���5, ,� ��#� ��#�� !�, �!5, �# &�#& 6 �� +�>

 &78�,�$ ! �!� ,) �!��$8�, �9 ��%�,6 � ��&'���� !-�$��$ ������ �����#�(

�9 ��%�! I�����#�!L � ������ �����#�( +�"��#��"� )�-$ �� ) �%��� �� +� �>

!���$ � )� �+�# 5 !�, �!5, �# &�#& �

��-. ) ��!� �#�-.��"� #��#� �!���$ )� �+�# �! �!� ,) �!��$8�, )-����

���9���� !�/�� ) � ��"�#�!-���� �-�/�5, ��+9��� �!���5, �# &�#& 6 #���,

��-.# 56  �����#� 5 �-� "�9 ���5� MNO ���#�+56 ��"�� # �9&�#�$ �%���#.

)� �+�# 5 �!� ,) �!��$8�( )�����#�+5 ITc6 Hc26 ξ6 jp6 jcL ! ) �%���� �� �������$�

���9,���+5+ &�-�!��+ $!-$�#�$ ��, ������ ��'��#!� )�!� ,���#� �9 ��%� !

) �%���� ���"���#���6 '#� +�/�# 95#. ��&8��#!�+� #�-.�� �� ����!� 9�����#��#�5,

�� �� &?�78�, +�#����� �-$ #��#� �!���$ ��'��#!� �!� ,) �!��$8�, )-����

� ���-���!���$ -���-.�5, ,� ��#� ��#�� )-���� ! ����� #�%�� ��)�-.�&7#�$

,�--�!���$ +�"��#�+�# �$ � 9-�/��)�-.��$ �1D +�� ����)�$�

��� 95-� �#+�'��� !5?�6 )�!� ,���#�5� �����#5 )���!-$7# 9� .� :;�

1  �9�#� e�Bf 95-� =��)� �+��#�-.�� )�������6 '#� &!�-�'���� )�!� ,���#��(

?� �,�!�#��#� +�/�# &+��.?�#. !�-�'��& Hen ! �����-.��  �� I! ��!���+��#� �#

#�+)� �#& 5L� 
�� �#�'����� ���-���!���$ �����"� !�) ��� 95-� ��� ���#�'��5

�� �) ���-���� P�)#�+�-.��"�P #�)� )�!� ,���#�5, �����#�!6 ��#� 5� �9-���-�
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95 +����+�-.��( �)���9���#.7 � )���/���7 )�-$ Hen� �-$ +����!�5, �!� ,>

) �!������! 95-� )������� e��f6 '#� #���+� �����#�+� $!-$7#�$ "-&9����

# �8��56 � ���#� �!���5� )� �--�-.�� !��?��+& +�"��#��+& )�-7� �+���� !

=#�+ �-&'�� �/����#�$ +����+�-.��� -���-.��� &��-���� )-�#���#� #��� !9-���

� �$ �����#�6 '#� ��-/�� ) �!���#. � �9-�"'���7 &�-�!�( �-$ !,�/����$ !�, �(

� )�!� ,���#� �!� ,) �!������� ��+�#�+6 '#� !-�$��� �-����9 ���5, �����#�!

�� &�-�!�$ �-$  �/����$ !�, �( ! )�#��� ���� $/����( �!� ,#��&'�( /�����#�

 ���+�# ��� !  �9�#� e�@f� �� ���#�$8�"� ! �+��� ��#��#�$ �#� 5#5+ !�) ��

� !5'��-���� )�-$ Hmin
en ) ���-.��"� )���!-���$ 9� .� � :;6 �-$ ��#� �"� !

 �9�#� e��f 95-� )�-&'��� �%����6 �) �!��-�!�$ #�-.�� )� )� $��& !�-�'��56 !

#� ! �+$ ��� �-$ ��#� ) �#�%�� =��)� �+��#�-.�5, ����5, ���9,���+� #�'���

 �?���� ����'�� 1  �9�#� e�2f ���9,���+5( '��-���5( ��=���%���# 95- )�-&'��

!  ��&-.#�#� '��-����"�  �?���$ & �!����( H���9& "�*;����& IH;L6 ������ !

=#�+ �-&'�� )�!� ,���#�5� �����#5 �+�-� �� +&6 �#-�'�&7 �# �)#�+�-.��(� 1

���#�$8�( ����� #�%�� 9&��# ) ���#�!-��� #�'��� ���-�#�'�����  �?���� ����'�

�  ��) ���-���� =� ��� &78�, +�(���� �!���, #���! !9-��� � �$ �-����9 ����"�

�����#�6 '#� ) ���#�!-$�# ����+����5( ��#� �� �-$ 9�-�� ��  ��#��( �%���� )�-$

) ���-.��"� )���!-���$ 9� .� � :; ! +����!�5, �!� ,) �!������,� 
5 )�-�"��+6

'#� ) ���#�!-�����  �?���� +�/�# �" �#.  �-. " &9�( �%���� !-�$��$ �����#�!

�� !�-�'��& )�!� ,���#��"� 9� .� � ! �!� ,) �!��$8�, )-����, ) �+�/&#�'��(

#�-8��5 Ids
>∼ λ6 "�� ds � #�-8��� �!� ,) �!��$8�( )-����6 λ � -������!���$

"-&9��� ) ������!���$ +�"��#��"� )�-$L ! )� �--�-.��+ +�"��#��+ )�-� †�
1�) �� � �#�)��� )���!-���$ 9� .� � :; #��/� ) ���#�!-$�# ��#� ��

! �!$�� � ) �9-�+�( ��  ��#��"� =��)� �+��#�-.��"� �) ���-���$ ��/��"�

� �#�'����"� )�-$ Hc1 I�+� �9�� e00fL � �"� #�+)� �#& ��( ��!���+��#� !
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�����#5 ���#�-.�� ��-.�� )���!-$7# 9� .� :;6 '#� ��+� $�+�� ���'���� )�-$6

���#!�#�#!&78�� ��-�+& �� ��!���+��#� M(H0)6 +�/�� �#�/���#!�#. � )�-�+ Hc1�

������ ) � #���+ �) ���-���� Hc1 !�������# ) �9-�+� �9h$�����$ ��!5?���5,

���'���( � )�-�/�#�-.��( � �!���5 Hc1(T ) ) � �����, #�+)� �#& �,� 1

���#�$8�� ! �+$ =��)� �+��#�-.�� &�#���!-���6 '#� �#+�'���5� ���+�-�� �!$���5

W ����  ��#�5+ �#�/���#!-����+ ��/��"� � �#�'����"� )�-$ W � �#�'����+ )�-�+

) ������!���$ +�"��#��"� )�#��� e0�6 0Af�

�-$ �) ���-���$ #������&8�( �)���9���#� #����)-���'�5, �!� ,) �!��$8�,

�9 ��%�! I�%���� � �#�'����"� #��� )�����"�L �95'�� ���-��&7#�$ !�-.#*�+)� �5�
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! #����( �!� ,) �!��$8�( )-���� )� ��!��#��+& ) ���-7 +�"��#��"� )�-$ ���
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#���  ��)� �!���$ jc ! #����, )-����, `aZ2b^3c7 � )�+�8.7 +�-�(
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��!���#. �# !��?��"� +�"��#��"� )�-$ H0� ���9,���+5+ &�-�!��+ �-$
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A� �-$ #����, )-���� EF =��)� �+��#�-.�� )�������6 '#� !� !��?��+ +�"��#��+

)�-� � �#�'����$ #�+)� �#& � T res
c 6 �) ���-����$ �� ����!�  ����#�!�5,

��+� ���(6 ��!)����# � � �#�'����( #�+)� �#& �( T nl
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�1D �#�-���� �9�� &/����� ���#!�#�#!�� ) ����#�!-$�# !��+�/���#. ���-�>

��!���$ #�+)� �#& ��( ��!���+��#� !� ,��"� � �#�'����"� )�-$ �� ����!�

��&'���$ -���-.�5, ��-���(�5, �1D �!�(�#! �9 ��%�!�

�&*�!0 (���' �(��#� ( ,���*��&� #�+�������(

����� #��# ) ���+�- &'��#�� ! )��#���!�� �  �?���� =��)� �+��#�-.�5, �

#�� �#�'����, ����'6 ! �9�&/����� )�-&'���5,  ��&-.#�#�! � �, ��#� ) �#�%��� 1

'��#���#�6 !  �9�#�, g*gj �!#� �+ !5)�-���  ��'�# #���! � =�� "�� !�, �!�( -����

!9-��� � �$ # �8��56 �) ���-��� � �#�'����� )�-� !,��� Hmin
en 6 � #��/� ) ��-�/���

��#� ) �#�%�$  ��&-.#�#�! =��)� �+��#�!6 �)&9-���!���5, ! -�#� �#& �� 1

 �9�#�, j*jgg6 )��!$8���5, ���-���!���7 ��%�--$%�( � �#�'����( #�+)� �#& 5 !

�!� ,) �!��$8�, )-����, ! )�-� +�"��#�5, '��#�%6 �!#� �+ ) ��-�/��� )��#���!��

����'�6  ��'�#5 � ��#� ) �#�%�$ )�-&'���5,  ��&-.#�#�! !5)�-���5 ��!+��#��

� � &"�+� ���!#� �+�� 1  �9�#�, jggg*k �!#� �+ !5)�-���5 !�� ��+� ���$6

�9 �9�#�� =��)� �+��#�-.�5, ����5, �  ��'�# ,� ��#� ��#�� !�, �!5, �# &�#& 6

!������78�, ! �!� ,) �!��$8�( )-���� ! )�-� +�"��#��( '��#�%5� 1  �9�#�

kg �!#� �+ !5)�-���5 !�� ��+� ���$ ) ��# ���#!���5, ,� ��#� ��#�� !�, �!5,

�# &�#& 6 �9 �9�#�� =��)� �+��#�-.�5, ����5, � �, ��#� ) �#�%�$� 1  �9�#� kgg

�!#� �+ !5)�-���5 # ���)� #�5� ��+� ���$6 )��!�-�!?�� �9�� &/�#. ��  �-$%�7

+�/�& ��-���(�5+� � # ���)� #�5+� ,� ��#� ��#���+� #����, )-���� EF6 � #��/�

) �!���� ���-�� )�-&'���5, =��)� �+��#�-.�5, ����5,�


,#�$�1&) #�$��!

����� #�%�$ !5)�-���� ! ���#�#&#� ������ +�� ��# &�#& ��� ! )� ��� �

�22� )� 0��4 "��� ����!�5�  ��&-.#�#5 ����� #�%�����(  �9�#5 �9�&/��-��. ��

��+��� �, ! ���#�#&#� ������ +�� ��# &�#& ���G ! � "������( ��%����-.��(

-�9� �#� �� IlZTRUdZY m]RnUV gS\TdT^TR6 oUpnSSR EZTdnSZY KZFnUZTnUV6 qMoLG !


�,��-�"�'����+ &��!� ��#�#� Q�-.����� IKnr mRsXRUZT^UR KZFnUZTnUV6 tRY\dSud

qSdvRU\dTV n[ mRW]SnYnpV6 OdSYZSwL�

����!�5�  ��&-.#�#5 95-� ) ���#�!-��5 �� 1�� ����(���, ��!�8���$, )�

������ �����, #�+)� �#& I
���!� � �22@ "�6 �����. � 0��� "�6 	��#� ��9& " �

0��4 "�LG �� ��/�"� �����, �����$, +�-��5, &'��5, I�� ��!"� �� � 0���6 0���6

0��0 ""�LG �� 2 +�/�&�� ����+ ��+��� � )� !�, �!�+& ���#�$��7 � ����+��� !�, �(

IcYRUnS6 OUZSWR � 0��4 "�L� � �)&9-���!��5 !  �9�#�, g*kgg�

��$�&��1&&

<� #�+� ����� #�%�� �)&9-���!��� �0  �9�# IA �#�#�( !  ��� � &�+5, /& ��-�,6

� ���-�� �� +�/�&�� ����( ����� ��%��6 4 ���-��� �� !�� ����(���, ��!�8���$,6

4 ���-��� �� ��/�"� �����, �����$, +�-��5, &'��5,L�

�A



�$%� & ��#����#� '&���#��1&&

����� #�%�$ ���#��# �� !!�����$6 # �, "-�!6 ���-7'���$6 �!&, ) �-�/���(6

�)����  �9�# �!#� � )� #�+� ����� #�%��6 �)���� %�#� �!����( -�#� �#& 5 I�A�

 �9�#L� �98�( �9h�+ ����� #�%�� �4A �# ���%6 !�-7'�$ 4B  ��&���! � � #�9-�%&�

<� !�$ "-�!� )��!$8��� ���-���!���7 &�-�!�( !,��� ) $+�-���(�5, !�, �!5,

-���( ! �!� ,) �!����� � )�!� ,���#�5+� �����#�+� ! )� �--�-.��+ +�"��#��+

)�-�� ����!�5�  ��&-.#�#5 "-�!5 �)&9-���!��5 !  �9�#�, g*gj�

1  ����-� ��� �9�&/��7#�$ ����!�5� �!�(�#!� !�, �!�"� ���#�$��$ ! +����!�5,

�!� ,) �!������,6 ) � ��� =�� "�#�'����, 9� .� �! �-$ ) ������!���$ +�"��#��"�

)�#��� ! �!� ,) �!������ < ���#�!-�� �9��  �9�# )� ��&'���7  ��-�'�5,

+�,����+�! )���!-���$ 9� .� � :;6 #� ��#. &+��.?���$ � �#�'����"� )�-$

) ������!���$ +�"��#��"� )�#��� Hen�

1  ����-� ��0 ! -������!���+ ) �9-�/���� ���-���!��� ) ��# ���#!�����  ��>

) ���-���� =� ��� &78�, +�(���� �!���, #���! !9-��� � �$ "-&9���( 9������'��

#����( �-���!����( # �8��56 � ���#� �!����( !��-. !��?��"� ���� ����"�

+�"��#��"� )�-$� 15'��-��� ��!���+��#. =�� "�� !�, �!�( -���� �# �"�

+��#�)�-�/���$6 �) ���-��� �)#�+�-.��� ��) �!-���� �-$ ) ������!���$ !�, $

� )�-&'��� �%���� )�-$ )���!-���$ 9� .� � Hmin
en � <����-.�&  ���+�# ���5(

�-��� )�!� ,���#�5, �����#�! �9-����# +����+�-.��( �)���9���#.7 � )���!-���7

9� .� � :;6 #� )�-� Hmin
en ���# �%���& ) ���-.��"� )���!-���$ 9� .� �

:; ! +����!�5, +���� ��#�--�'����, �9 ��%�,� <�-&'���5(  ��&-.#�# +�/�#

) �+��$#.�$ ! ��'��#!� �%���� �#�)��� )���!-���$ )�!� ,���#��"� 9� .� � :;

)�!� ,���#�5+� �����#�+� ! �!� ,) �!��$8�, )-����, ) �+�/&#�'��( #�-8��5

� 9&��# ��)�-.��!�� !  ����-� 4�4 �-$ ��#� ) �#�%�� =��)� �+��#�-.�5, ����5, )�

��+� ���7 )�!� ,���#��"� 9� .� � ! �!� ,) �!��$8�, )-����,�

1#� �$ "-�!� )��!$8��� #�� �#�'����+& ���-���!���7 !�) ��� � �� +� �!����

�+�?����"� ���#�$��$ � �# &�#& � !�, �!5,  �?���( ! #����, ���# �)�5,

�!� ,) �!��$8�, )-����, ! ������ ����+ +�"��#��+ )�-�6 �9-���78�+ �����-.��(

��++�# ��(� ����!�5�  ��&-.#�#5 "-�!5 �)&9-���!��5 !  �9�#�, j*gk�

1  ����-� 0�� �9�&/��7#�$ ����!�5� �!�(�#!� !�, �!�"� ���#�$��$ !

�!� ,) �!������, � �" ���'����( "��+�# ��( I#����� )-���� � +������)�'�����

�!� ,) �!������L� ���-�� �9�� ���9�����#�( #� +�����+�'����, � # ���)� #�5,

�!�(�#! "�9 ���5, �# &�#& P�!� ,) �!�����*��  �+�"��#��P IMNOL6 $!-$78�,�$

) �+� �+ ) ��#�'����(  ��-���%�� �!� ,) �!��$8�, ���#�+ � !�&# ����+

������ ���5+ +�-��+��?#�9�5+ +�"��#�5+ )�-�+�

1  ����-� 0�0 #�� �#�'���� ���-���!��5 ���9�����#� )�-�!�( ��!���+��#�

� �#�'����( #�+)� �#& 5 Tc(H0) #����( �!� ,) �!��$8�( )-���� ! ������ ��>

��+ �����-.�� ��++�# �'��+ +�"��#��+ )�-�6 ! '��#���#�6 ! )�-� #�'�'��"�

�B



+�"��#��"� ��)�-$� �-$ ������ ����"� +�"��#��"� )�-$6 �+�78�"� ��+��&#5�

-���� �&-�( Bz(r) = 0 ) ��������� ��+���#����$ ��!���+��#. � �#�'����( #�+>

)� �#& 5 )-���� Tc �# !��?��"� ���� ����"� +�"��#��"� )�-$ H0 I��%�--$%��

� �#�'����( #�+)� �#& 5L6 '#� $!-$�#�$ ���-�"�+ =����#� ;�##-�*<� ����

�9�� &/��� �&8��#!����$ ���++�# �$ -���� ����!�"� )� �,��� Tc(H0) �= Tc(−H0)�

<�������6 '#� ) � #�+)� �#& �,6 9-����, � � �#�'����( #�+)� �#& �6 ) ��&#�#!��

��  �+�"��#��( )�����#�+5 �#�+&-� &�# )�$!-���� +��"��!��#�!5, !�, �!5,

���#�$��( � ��-��# !��+�/�5+ ��&'���� +������)�'����, =����#�! ! �!� ,) �!��$>

8�, )-����, 9�-.?�"�  ��+� �� < ��-�/��� �����-.�� �)���9�! =��)� �+��#�-.��

�9�� &/���$ ��%�--$%�( Tc(H0)6 ! '��#���#�6 )� #�+)� �#& ��( ��!���+��#�

��-���(��"� �#�-��� P3ω(T ) +�/�� �&��#. �# -���-.��( � �#�'����( #�+)� �#& �

�9 ��%� I ����- 4��L�

1  ����-� 0�4 #�� �#�'���� ���-���!���  �� &?���� +�(���� �!���"� ���#�$��$

! #����( �!� ,) �!��$8�( )-����6 ) ��!� �#�-.�� �,-�/�����( ! �&-�!�+

+�"��#��+ )�-�6 ! )�-� #�'�'��"� +�"��#��"� ��)�-$ ) � H0 = 0� <�������6 '#�

! =#�+ �-&'�� �#�%���� ���  ��) ���-���� !�, �( ) ���#�!-$�# ��9�( �!� &���,

��-.%�6 ��,��$8�,�$ �� 9�-.?�+  ���#�$��� � &" �# � &"�� <�-&'���5�  ��&-.#�#5

9&�&# ��)�-.��!��5 !  ����-� 4�4 �-$ ��#� ) �#�%�� =��)� �+��#�-.�5, ����5, )�

��+� ���7 )�!� ,���#��"� 9� .� � ! �!� ,) �!��$8�, )-����,�


 �#.$ "-�!� )��!$8��� =��)� �+��#�-.�5+ ���-���!���$+ #�+)� �#& �5,

��!���+��#�( � �#�'����, )�-�( � #���! �!� ,) �!��$8�, )-���� � )�+�8.7

�� �� &?�78�, 9�����#���5, +�#����� ����!�5�  ��&-.#�#5 �����( "-�!5

�)&9-���!��5 !  �9�#�, gk*kgg�

1  ����-� 4�� ) ���#�!-�� ���-�� =��)� �+��#�-.�5, ����5,6 �)&9-���!���5,

! -�#� �#& �6 )� ��+� ���7 9� .� � :; ! +���� ��#�--�, `aZ2b^3c7� �%����6

)�-&'���5� !  ����-� ��06 &���5!�7# �� #�6 '#� ! �9-��#� !5����, #�+)� �#& 

(T ∼ Tc) )�!� ,���#��$ ?� �,�!�#��#. �� +�/�# �9��)�'�#. ��9-7���+&7 �#�)��.

)���!-���$ 9� .� �6 )�=#�+& )�-&'���5�  ��&-.#�#5 &���5!�7# �� !�/�&7  �-.

#� +���#�!�%�����"� +�,����+� )���!-���$ 9� .� � :;�

1  ����-� 4�0 ) ���#�!-�� �9��  �9�# )� +�#���+ !���#���!-���$ �!&+� ��"�

 ��) ���-���$ #��� ! )-����, )�  ��&-.#�#�+ ��+� ���$ +�"��#��"� )�-$

!�� �9 ��%�� 3��)� �+��#�-.�� ���-���!��� ) ��# ���#!�����  ��) ���-����

��#�#�'��( ��+�"��'�����#� Bz(x, y) ! #����, )-����, `aZ2b^3c7 � !5'��-��

) ���-. )-�#���#� #��� J(x, y)� <�������6 '#� ) ���-. #��� ! ���'�#�-.��( +� �

�) ���-$�#�$ �� +�( �  ��+� �+ �9 ��%�6 � #��/� ��'��#!�+ ) �� ��!�( �9-��#��

<�-&'��� #�+)� �#& ��$ ��!���+��#. � ����"� � �#�'����"� #��� )�����"� jp(T )�

1  ����-� 4�4 =��)� �+��#�-.�� �) ���-��� #�+)� �#& ��$ ��!���+��#.

!�-�'��5 -���-.��"� =�� "�#�'����"� 9� .� � �-$ �9 ���!���$ �+�?����"�

���#�$��$ ! #����)-���'�5, �!� ,) �!��$8�, �9 ��%�, `aZ2b^3c7 � )�+�8.7

��



+�� �+�"��#�� :5-� �9�� &/���6 '#� #�+)� �#& ��$ ��!���+��#. ���#!�#�#!&78�"�

)� �"�!�"� #��� jc(T ) �&8��#!���� �#-�'��#�$ �# #�+)� �#& ��( ��!���+��#� #���

 ��)� �!���$ jGL(T )6 '#� &���5!��# �� d−#�) �)� �!���$ ! " ��&-� �!���5,

)-����, `aZ2b^3c7�

�����- 4�� )��!$8�� =��)� �+��#�-.��+& ���-���!���7 ��  �-$%�� +�/�&

# ���)� #�5+� � ��-���(�5+� �1D ,� ��#� ��#���+� ! )-����, EF6 ) �$!-$7>

8�(�$ ! �������!�+ �+�?���� � �!�(  ����#�!��"� )� �,��� ρ(T ) � #�+)� �#& >

��( ��!���+��#� +�8���#� # �#.�( "� +����� P3ω(T ) ! �9-��#. �����, #�+)� �#& 

) � &!�-�'���� !��?��"� +�"��#��"� )�-$� �9�� &/����� ���#!�#�#!�� )��!�-$�#

���9�-�� ) ��#� )�-&'�#. ���� +�%�7 � -���-.��( � �#�'����( #�+)� �#& � Tc �

�� )�-�!�( ��!���+��#� ! #����, �!� ,) �!��$8�, )-����,�

1 ���-7'���� ) �!����5 ����!�5�  ��&-.#�#5 ����� #�%�����(  �9�#5

� ) ��-�/��5 ��!5� ����'� �-$ ��-.��(?�"�  ��!�#�$ #�+5 ���#�$8�"�

���-���!���$� < �-�/���� � ���� /�# �) �!�'�&7 ���� +�%�7 �9 �9 �8����

���"&-$ �5, ��#�" �-.�5, & �!����(� < �-�/���� 0 ���� /�# !�)�+�"�#�-.�5�

+�#�+�#�'����� !5�-����6 �#���$8���$ �  ��'�#& )� �+�# �! !�, �!�( �# &�#& 56

�� +� &78�(�$ ! #����( )-���� ! )�-� +�� �+�"��#��
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��"-���� ����+���-�"�'����( #�� ��6 ) ��-�/����( ! �2A� "� 1� ;� H���9& "�+

� ;� �� ;����& e�2f6 )� �,�� +�#�--� ! �!� ,) �!��$8�� ���#�$��� $!-$�#�$

����!5+ )� �,���+ !#� �"�  ���6 �-$ ��#� �"� )� �+�# �+ )� $��� I<<L $!-$�#�$

��+)-�����$ �&��%�� ψ(r)6 �+�78�$ �+5�- -���-.��( )-�#���#� �!� ,) �!��$8�,

=-��# ���!6 |ψ|2 ∝ ns/2� < ��# ���#!�����  ��) ���-���� ψ(r) ! �����# �)��+

�!� ,) �!������ ) � ��-�'�� �!����#�%���� ��"� +�"��#��"� )�-$ �)��5!��#�$

�-��&78�( ���#�+�( & �!����( H���9& "�*;����& I�+�6 ��) �+� 6 e�fL

∑
α

ξ2
α

(
i∇α +

2πi

Φ0

A
)2

ψ − ψ + ψ|ψ|2 = 0 I���L

js =
c

4π
rot rot A =

c

4π

∑
α

(
− iΦ0

4πλ2
α

(ψ∗∇αψ − ψ∇αψ
∗) − |ψ|2

λ2
α

Aα

)
I��0L

1 & �!����$, I���L * I��0L !!����5 �-��&78�� �9����'���$C B = rot A � +�"��#���

)�-�6 Φ0 = πh̄c/|e| = 2 · 10−7 H�·�+2 � �!��# +�"��#��"� )�#���G α = {x, y, z}�
m���� 5 λ � ξ ���#!�#�#!&78�+ !59� �+ ���#�+5 ��� ����# +�"&# 95#. ) �!����5

� "-�!�5+ ��$+� 1�-�'��5 λα � ξα �+�7# ��)�� ���#!���5( ����'����( �+5�-C λα

$!-$�#�$ ,� ��#� �5+ +��?#�9�+ ��#&,���$ +�"��#��"� )�-$ �-$ #���6 #��&8�"�

! ��) �!-���� αG ! #� ! �+$6 ��� ξα ,� ��#� ��&7# �-��& ��"� ��#���#� !�-��!�(

�&��%�� )� ��� α�

��+�#�+6 '#� & �!����$ H; I���L * I��0L �-$ ���# �)��"� �!� ,) �!������

Iλα = λ6 ξα = ξL ��)&���7# �&8��#!�!���� !�, �!5,  �?���( !��� ψ(r) =

|ψ(r)| exp(imϕ)6 "�� m > ��!�, �����#.6 ϕ > ���+&#�-.�5( &"�- ! %�-��� �'����(

���#�+� ��� ����#� 1�, �!�� I�+�?�����L ���#�$��� �9�� &/��� =��)� �+��#�-.��

! �24� "� ;� 1� x&9����!5+ � � � eA�f � ���-���!��� #�� �#�'���� ! �2A� "�

�� �� �9 �����!5+ eA�f� 1�, . ! ���# �)��+ �!� ,) �!������ &�# ��� �-��&78�+

�9 ���+C ! %��# � ��,���#�$ %�-��� �'����$ �9-��#. I�� �%�!��� !�, $6 WnURL

 ���&��+ )� $��� ξ � )���!-����( �!� ,) �!���+��#.7 |ψ|2 � 16 ��#� �$ �� &/���

%� �&-� &78�+� �!� ,) �!��$8�+� #���+�6  ��) ���-���� ��#� 5, ��!���# �#
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"��+�# �� �9 ��%�� �'�# �����# �)�� �!� ,) �!������ ) �!���# � ���� +�%��

�� +�-.��( �� �%�!��5 � #���!�"� ��#�!�6 ������ & �!����� �-$ ���5 !�-��!�(

�&��%�� ��#��#�$ ����+���5+C rot∇θ = 2πδ(r)z06 "�� z0 � �����'�5( !��#� 6

!59 ���5( !��-. ��� !�, $6 θ � ���� !�-��!�( �&��%���

1  $�� �-&'��!6 ��) �+� 6 �-$ �!� ,) �!������! gg  ��� � 9�-.?�+ )� �+�# �+

H���9& "�*;����& κ = λ/ξ � 1 I! #�+ '��-� �-$ 1
�<L ! �-�95, )�-$,

�9-��#� � )���!-����( �!� ,) �!���+��#.7 ���#�!-$7# +�-&7 '��#. �98�"� �9h�+�

�!� ,) �!������� 1 =#�+ �-&'�� +�/�� ) ���9 �'. ) ��# ���#!���5+ ��+������+

<< � �'�#�#. |ψ|2 � 1 �-$ !��"� �9 ��%� �� ���-7'����+ ����#� 5, #�'��6 ��#� 5�

+�/��  ���+�# �!�#. ��� ���"&-$ ���#�� 
���� ) �9-�/���� )��!�-$�# �)��5!�#.

�!� ,) �!����� ����+ -���(�5+ & �!�����+ ;������!6 ��#� �� �-$ ���# �)��"�

�!� ,) �!������ �+��# �-��&78�( !��

λ2 rot rot B + B =
∑

i

Φ0 δ(r − ri) z0, I��4L

"�� &'#���6 '#� rot∇θ = 2πδ(r − ri)z06 ri � ��� ����#� i*"� !�, $G �-$ �)�����$

+�(���� �!���"� I9��!�, �!�"�L ���#�$��$ ) �!&7 '��#. & �!����$ I��4L �-��&�#

)�-�/�#.  �!��( �&-7� 
���-. ;������! I� �� �9�98���� �� �����# �)�5( �-&'�(L

)��!�-$�# ���-���!�#. )�!������ �!� ,) �!������! ! �9-��#� �����, #�+)� �#& �

�-�95, +�"��#�5, )�-�(�

< ��# ���#!�����  ��) ���-���� +�"��#��"� )�-$ !�� &" !�, �!�( -����

��!���# �# �� +5 -���� � )� �+�# �! �!� ,) �!������ I"��+�# �'�����

 ��+� 56 �!$����#.6 �����# �)�$6 �-���#��#.L� < $+�-���(�5( !�, . ! +����!��+

���� ����+ ���# �)��+ �!� ,) �!������ I!�, . �9 �����!�L �+��# #�-.�� ���&

��+)����#& +�"��#��"� )�-$

Bz =
Φ0

2πλ2
K0

(
r

λ

)
=

Φ0

2πλ2

⎧⎨
⎩

ln(λ/r) + 0.11;

1.25 exp(−r/λ)/
√
r/λ;

ξ � r � λ

r � λ.
I���L

�9 �#�+ !��+����6 '#� )�-� Bz �+��# ���9�����#. ) � r = 0� 3#� �!$���� � #�+6 '#�

+���-. ;������! ) �+���+� #�-.�� �� 9�-.?�,  ���#�$��$, �# !�, $6 � )�=#�+&

#���$ ���#�!��$  ��,���+��#. ��-/�� &�# ��$#.�$ !!������+ ���#!�#�#!&78�"�

)� �+�# � �9 �����$6 ! ��'��#!� ��#� �"� ! #�� �� ;������! ��)�-.�&�#�$ �-���

��"� ��#���#� ξ� <�-�"�$ Bz(0) � Bz(ξ)6 )�-&'��+

Bz(0) � Φ0

2πλ2
ln (λ/ξ) , r <∼ ξ.

� "&+��#�+ ! )�-.�& #���"� &�# �����$  ��,���+��#� +�/�# �-&/�#. �-�9�$

-�"� ��+�'����$ ��!���+��#. )�-&'����"� !5 �/���$ �# #�'��"� ���'���$

)� �+�# � �9 �����$6 #�+ 9�-��6 '#� #���(  ��&-.#�# )��#!� /���#�$ '��-���5+

 �?����+ )�-��( ���#�+5 & �!����( H;�
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�) ���-�+ �!�9���&7 =�� "�7 �����%5 �-��5 �9 �����!���"� !�, $ !

���# �)��+ ���� ����+ �!� ,) �!������ ! -������!���+ ) �9-�/����� �!�9����$

=�� "�$ ε1 ) ���#�!-$�# ��9�( �&++& =�� "�� �� +�-.��"� �� � εcore � =�� "��

+�"��#��"� )�-$ � =�� "�� �!� ,) �!��$8�, #���! εelC

ε1 = εcore + εel,

εcore � 1

8π
πξ2H2

cm,

εel =
1

8π

∫
S

[
B2 + λ2 (rot B)2

]
dS =

1

8π

∫
S

B ·
(
B + λ2rot rot B

)
dS +

λ2

8π

∫
S

div [B × rot B] dS =

=
1

8π
B(r0) · Φ0 +

λ2

8π

∮
∂S

([B × rot B] · n) dl, I��AL

"�� n � !��?�$$ �� +�-. � )�!� ,���#� �!� ,) �!������ ∂S6 r0 � ��� ����#� !�, $6

Hcm =
Φ0

2
√

2πλξ

� � �#�'����� #� +�����+�'����� )�-�� �-$ �9 �����!���"� !�, $6 ��,��$8�"��$ !

9������'��( �!� ,) �!��$8�( � ��� Bz(∞) → 06 !�-�� )�!� ,���#��"� ��#�" �-�

! I��AL  �!�� �&-76 )�=#�+& =�� "�$ !�, $ �� ��!���# �# �"� +��#�)�-�/���$ �

�) ���-$�#�$ #�-.�� )� �+�# �+� �!� ,) �!������

ε1 =
(

Φ0

4πλ

)2
(

ln
λ

ξ
+ 0.25

)
. I��BL

;�"�� )�����#.6 '#� �-$ !5����#�+)� �#& �5, �!� ,) �!������! Iκ ∼ 102L &'�#

=�� "�� �� �%�!��5 $!-$�#�$ +�-�( )�) �!��(6 ln k � 0.256 )�=#�+& ��-�� +5 =#�(

+�-�( )�) �!��( 9&��+ ) ���9 �"�#.�

<����-.�& =�� "�$ !�, $ )�-�/�#�-.��6 #� ! �#�&#�#!�� !��?��"� +�"��#��"�

)�-$ ����!�5+ ���#�$���+ �!� ,) �!������ $!-$�#�$ +�(���� �!���� I9��!�, �!��L

���#�$���� 1�-�'��� !��?��"� )�-$6 ) � ��#� �+ ) ���,���#  �� &?���� +�(����>

 �!���"� ���#�$��$ � �#���!�#�$ =�� "�#�'���� !5"���5+ �9 ���!���� !�, �(6

���5!��#�$ )� !5+ � �#�'����+ )�-�+ Hc1� <�-� Hc1 ��,���#�$ �� &�-�!�$

�9 �8���$ ! �&-. �!�9����( =�� "�� H�99��

G = ε1 − 1

4π

∫
B · H0 dS

�'�#5!�$6 '#� H0 = H0z0 �
∫
BzdS = Φ0

Hc1 =
Φ0

4πλ2
ln
λ

ξ
. I���L
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1 �����# �)��+ �-&'�� +5 �+��+ �-��&78�� ���#��?���$ e�f

Hc
c1 =

Φ0

4πλ2
ab

ln
λab

ξab

, H0 ‖ c,

Hab
c1 =

Φ0

4πλabλc

ln

√
λabλc√
ξabξc

, H0 ⊥ c.

��+�#�+6 '#� )����-.�& ε1 ∝ Φ2
06 #� �'�!����6 '#� ���#�$���+ � +���+�-.��(

�!�9����( =�� "��( $!-$�#�$ ����+9-. �����!��#�!5, !�, �( �9 �����!��


��"��!��#�!5� !�, � ! +����!��+ �9 ��%� �9-���7# 9ó-.?�( =�� "��( � ��-/�5

 ��)���#.�$ �� �����!��#�!5� !�, �6 ��#� 5� ! �-&'�� ���� ����"� �!� ,) �>

!������ �� +� &7# "����"���-.�&7 !�, �!&7  �?�#�& eA�f� �'�!����6 '#� ) �

�� &?���� &�-�!�$ # ���-$%�����( ��++�# �� =�� "�$ !�, $ 9&��# ��!���#.

�# +��#�)�-�/���$ !�, $ ε = ε(r0)6 '#� ��-/�� ) �$!-$#.�$ ! )�$!-���� ��-5

f = −∂ε/∂r06 ��(�#!&78�( �� !�, �!&7 -���7�

������ ��
�� ���
������� �� �������� 
����

�� ���� �����	�C ! ���� ����+ �!� ,) �!������ ��-�6 ��(�#!&78�$ �� !�, .6

!�������# ) � ��-�'�� # ���)� #��"� #����

��(�#!�#�-.��6 )���#�!-$$ ! !5 �/���� I��AL +�"��#��� )�-� ! �-��&78�+ !���

B = Bv + Bc � ) ��)�-�"�$6 '#� )�-� !�, $ Bv �)��5!��#�$ & �!�����+ I��4L6 � )�-�

# ���)� #��"� #��� Bc &��!-�#!� $�# -���-.��+& ���#��?���7 rot Bc = 4πjtr/c6

�-$ ��)��!�/��"� !�, $ -�"�� )�-&'�#. '��#. )�-��( =�� "�� ���#�+56 ��!��$8&7

#�-.�� �# )�-�/���$ !�, $

ε′(r0) =
1

4π
Bc(r0) · Φ0 +

λ2

4π

∮
∂S

([Bc × rot Bv] · n) dl.

�-$ !�, $ ! 9������'��+ �!� ,) �!������ �-� ��-��� �# " ���%56 ��"��

)�!� ,���#�5( ��#�" �-  �!�� �&-76 )�-&'��+

fL = − ∂ε′

∂r0
=

1

c
[jtr × Φ0] . I��@L

<� ���-�"�� � =-��# �����+���( =#� ��-� ���5!��#�$ ��-�( ;� ��%�6 ,�#$ ��

) � ��� $!-$�#�$ "�� �����+�'����( eA0f�

0� ���� 
�������C ! 9������'��+ �!� ,) �!������ ! �#�&#�#!�� # ���)� #��"�

#��� ��-�6 ��(�#!&78�$ �� !�, .6 !�������# ) � ��-�'�� ������ �����#�(6 ��5+�

�-�!�+�6 ) � ) ��# ���#!����( !� ��%�� �!� ,) �!��$8�, �!�(�#!�

1 #�� �� ;������! ) ��&#�#!�� ������ �����#�( +�/�# 95#. �)�����

�!&+$ �)���9�+�� 1�>)� !5,6 ��!���+��#. =�� "�� �!� ,) �!��$8�, #���! �#

��� ����#5 +�/�# 95#. �� +�-.�� �)����� ��� λ = λ(r)� 	�-� ,� ��#� �5(

+��?#�9 ������ �����#�( ���'�#�-.�� ) �!5?��# λ6 #� �� �� +&-5 I��BL �-��&�#
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-���-.��� ���#��?���� ε1(r) ∝ λ−2(r)� ;�"�� !���#.6 '#� !�, �!�( -���� !5"����

 ��)�-�/�#.�$ ! �9-��#� � 9�-.?�+ ���'����+ λ6 #� ��#. ! �9-��#� � )���!-���5+�

�!� ,) �!��$8�+� ,� ��#� ��#���+�� �!-���� ��� �)-���$ !�, �( �� �����#�,

���5!��#�$ )�����"�+ +�"��#��"� )�#���� 1 �����+ �-&'�� )�����" �+��#

=-��# �+�"��#�&7 ) � ��&6 � ��-� )�����"� 9&��# +�-�( ! ��-& +�-��#�

) ��# ���#!���5, " �����#�! λ(r)�

���'�#�-.�� 9�-.?�( ��-�( ) �#$/���$ �9-���7# !�-7'���$ �� +�-.��( ���5

�-� )�-��#� +�-�"�  ��+� � )� $��� ξ� 1 ���# �)��+ �!� ,) �!������ -�"�� �%���#.

=�� "�7 )�����"�C εp � πξ2LH2
cm/8π �-$ %�-��� �'����( )�-��#� �-��5 L �

εp � πξ3H2
cm/8π �-$ ?� �!�( )�-��#�� ;�"�� !���#.6 '#� ��/� �-$ %�-��� �'����,

)�-��#�( I�����#�!6 �9-���78�, ���9�-.?�( ��-�( )�����"�L εp/ε1 � 1/ lnκ � 1�

<�����" ! �����#�+)� �#& �5, �!� ,) �!������, )�� �9�� �)���� ! +���" ����

e0Bf� 1 !5����#�+)� �#& �5, �!� ,) �!������, ! ��-& 9�-�� �-�/��( !�&# ����(

�# &�#& 5 +�"&# 95#.  ��-���!��5  ��-�'�5�  �/�+5 )�����"� e�fC ��--��#�!�5(

)�����"6 )�����" !�, �!5, �!$��� � � � < � ) �)&������ # ���)� #��"� #���

���#�#�'��( ��#����!���#� ��-� ;� ��%� fL +�/�# ) �!��(#� � ���77 ��-&

)�����"� fp6 ) � =#�+ !�, . +�/�# �#�#. �!�9���5+6 '#� ) �!���# � )� �,��&

�!� ,) �!������ !  ����#�!��� ���#�$���� 
���+ �9 ���+6 � �#�'����$ )-�#���#.
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+�#��#�9�-.��+ ���#�$���6 ��"�� !5,��& !�, $ �� �!� ,) �!������ ) �)$#�#!&�#

)�#��%��- )�����"�� < �%���  �� &?���$ #���"� +�#��#�9�-.��"� ���#�$��$6

��#� 5( ��) �!�/���#�$ �!�/����+ !�, �( )�� ��(�#!��+ #�)-�!5, �-&�#&�%�(6

���5!��#�$ � �)�+ +�"��#��"� )�#��� eA4f� � �) ) �!���# � )�$!-���7 ����'��"�

��) �#�!-���$ � )��#�)����+& &+��.?���7 ��,!�'����"� )�#��� � #�'����+
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�!� ,) �!������ ����'�5,  ��+� �!6 ��"�� ���9,���+� &'�#5!�#. !�-�� )�!� ,>

���#��"� ��#�" �-� ! !5 �/���� I��AL� ;�"�� )�������6 '#� �-$ !�, �!�( -����

!9-��� )-����( )�!� ,���#� +����!��"� �!� ,) �!������ #���� ��)�-��#�-.���

!���+���(�#!�� +�/�# 95#. �)����� ��� ) �#$/���� !�, $ � �"� �� ��-.��+&

���9 �/���7� 
���$ ����'� !)� !5� 95-�  ���+�# ��� D� :���+ � �/�

;�!��"�#���+ ! �2B� "� eA�f� 1 =#�+ �-&'�� �!�9����$ =�� "�$ H�99�� �����%5

�-��5 !�, �!�( -����6  ��)�-�/����( ��  ���#�$��� x0 �# )-����( )�!� ,���#�6

�) ���-$�#�$ �-��&78�+ !5 �/����+

G =
Φ0

4π

(
H0e

−x0/λ − Φ0

4π2λ2
K0(2x0/λ) −H0 +Hc1

)
, I��2L
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=� ��� &78�+� #���+�6 !#� �� �)��5!��# ) �#$/���� !�, $ � )�!� ,���#�6 # �#.�

� '�#!� #�� �-�"��+5� �9��)�'�!�7# &�-�!�� G(x0 → ∞) = ε1 − Φ0H0/4π� �'�#

) �#$/���$ � )�!� ,���#� ) �!���# � #�+&6 '#�  �� &?���� +�(���� �!���"�

 �/�+� � �� +� �!���� !�, �!�"� ���#�$��$ ��'����#�$ �� ) � ��/��+

� �#�'����+ )�-� Hc16 � ) � 9ó-.?�+ )�-� Hen6 ��#� �� ���9,���+� �-$ )���!-���$

)�#��%��-.��"� 9� .� � � #�� ���5!��+�"� )�!� ,���#��"� =�� "�#�'����"� 9� .� �

:���*;�!��"�#��� I:;L� �-$ �!� ,) �!������ � )-����( )�!� ,���#.7 )�-� Hp
en

+�/�� �%���#. �� &�-�!�$ dG/dx0 = 06 "�� ! ��'��#!� )� �+�# � �9 �����$

��)�-.�&�#�$ ξC

Hp
en =

Hcm√
2

� 0.7Hcm. I����L

���( )��,�� � ) �9-�+� &�#�('�!��#� +�(���� �!���"� ���#�$��$ ) ���#�!-��

!  �9�#� <� �� y��� eAAf � ����!�� �� ���-���!���� &�#�('�!��#� 9��!�, �!�"�

 �?���$ !  �+��, ��-���(�5, & �!����( H;� 1 ) ��)�-�/���� κ � 1 +�/�#

95#. !5'��-�� )� !5( ��#�" �- & �!����( H;6 ��#� 5( �!$�5!��# )�-� �� " ���%�

H0 �� ���'����+ +��&-$ << �� " ���%� +����!��"� �!� ,) �!������ � )-����(

)�!� ,���#.7C H2
0 = H2

cm(1 − |ψ(0)|4)� 
����+�-.�� !��+�/��� )�-�6 ) � ��#� �+

�8� �&8��#!&�# 9��!�, �!�� ���#�$��� |ψ(0)| �= 06  �!�� Hsh = Hcm I\^XRU]RZTdSpL6

��#� �� )� ���-�"�� � #�� ��( ����!5, )� �,���! +�/�# 95#. ���!��� )�-�+

)� �" �!� +�(���� �!���"� ���#�$��$� ��+�#�+6 '#� �-$ κ � 1 �9� )��,��� ��7#

9-����� ���'���$ � �#�'����"� )�-$ �� +� �!���$ �+�?����"� ���#�$��$� 1  �9�#�

eABf )��,�� �� y��� �9�98�� �-$ ���-��� &�#�('�!��#� +�(���� �!���"� ���#�$��$

! ������ ����+ �!� ,) �!��$8�+ )�-&) ��# ���#!�6 � !  �9�#� eA�f ��)�-.��!��

�-$  �?���$ ���-�"�'��( ) �9-�+5 ! �!� ,) �!������, � �����# �)�5+ d−#�)�+
�)� �!���$�

�� �������������� ���
��C ��-�6 ��(�#!&78�$ �� !�, .6 !�������# ) �

�!�/���� !�, $ ! �9 ��%� � )� �+���5+ ��'����+ ��>�� ��+�����$ �-��5 !�, �!�(

��#� I�+�6 ��) �+� 6 e0�fL� �'�# !-�$��$ "��+�# �'����"� 9� .� � ���9���� !�/��

) � ���-��� ��+�"��'�!���$ #����, �!� ,) �!��$8�, )-���� ! )� )�����&-$ ��+

)�-� e0�f�

������ ������ �� �����
���	 !��"��� #���$%�����
����

��� 95-� �#+�'��� !5?�6  �� &?���� +�(���� �!���"� ���#�$��$ � ) ����>

��!���� !�, �!5, -���( ! �!� ,) �!��$8�( �9 ���% ��-/�� ) ���,���#. ) �

&�-�!�� H0 ≥ Hen6 "�� H0 � !��?��� +�"��#��� )�-�6 Hen � )�-� )���!-���$

=�� "�#�'����"� 9� .� � �-$ ) ������!���$ +�"��#��"� )�#���� �-$ +����!��"�

�9 ��%� ! )� �--�-.��+ +�"��#��+ )�-� �� +� �!���� �+�?����"� ���#�$��$

� ����+��� !�, �( �) ���-$�#�$ ! ����!��+ )�!� ,���#�5+ =�� "�#�'����+

9� .� �+ :;6 �-$ ��#� �"� � �#�'����� )�-� )���!-���$ Hp
en � 0.7Hcm� ������

!  $�� =��)� �+��#�!6 ! '��#���#�6 ! !5����#�+)� �#& �5, �!� ,) �!������,

0�



`aZ2b^3c7−δ e�B6 AB6 A@6 A26 B�f6 ad2MU2bZb^2c8+δ e0A6 B�f � mY2aZ2bZb^2c8+δ eB�f6

95-� �9�� &/���6 '#� ��'�-� ) ������!���$ +�"��#��"� )�#��� ���#!�#�#!&�#

�'��. �-�95+ +�"��#�5+ )�-$+ Hen � Hp
en6 '#� &���5!��# �� �&8��#!�!����

���+�-.�� �����"� =�� "�#�'����"� 9� .� � ! =#�, �!� ,) �!������,� 3#� ��,���#�$

! ) �#�!� �'�� � !5!���+�  ����, =��)� �+��#�-.�5,  �9�#�, �2B�*, ""� eB06 B4f6

! ��#� 5, �#+�'�-��. �'��. ,� �?�� ��"-���� ��+� ���5, ���'���( )�-$ )� �" �!�

+�(���� �!���"� ���#�$��$ � � �#�'����+ )�-�+ ) ������!���$6 ) ������5!��+5+

#�� ��( eA�f�


�/�� !5��-�#. �����-.�� !��+�/�5, ) �'��6 �#!�#�#!���5, �� )���!-����

9� .� � ! !5����#�+)� �#& �5, �!� ,) �!������,C

�� < � ���&-�!�( #�+)� �#& � ) ������!���� )�#��� ! �!� ,) �!�����

+�/�# ��'���#.�$ ) � )�-$, +��.?�, Hp
en ��>�� #� +���#�!�%�����"� +�,����+�

) ����-���$ 9� .� � :;6 ) � =#�+ '��#�#� )�)5#�� �) ���-$�#�$ ��!��#�5+

!5 �/����+ ν ∝ exp(−ε/kT )� 3#�# +�,����+ ��-/�� 95#. ���9���� !�/�� �-$

1
�<6 )����-.�& ��� �9-���7# 9�-.?�( � �#�'����( #�+)� �#& �( � +��.?�(

=�� "��( ε !�, �!�( ��#�6 '�+ �����#�+)� �#& �5� �!� ,) �!������� 
���(

+�,����+ )���!-���$ � �#�'����"� )�-$ !,��� Hen ! ) �+������ � �-���#5+ 1
�<

�!� ,) �!������+  ���+�# �!�-�$ !  �9�#�, eB�f6 "�� 95-� )�������6 '#�

Hen = Hcm exp(−T/T0), T0 =
ε0L

ln t/t0
, I����L

"�� ε0 = (Φ0/4πλ)2G L � �-��� !�, �!�( ��#�6 ��#� �$ �-$ 1
�< ���#!�#�#!&�#

#�-8��� �!� ,) �!��$8�"� �-�$ ∼ 15÷20 ȦG t � ,� ��#� �5� ! �+��� =��)� �+��#�6

t0 ∼ 1010 ÷ 1012 ���6 t � �-�#�-.���#. =��)� �+��#�� �%���� )����5!�7# eB�f6 '#�

�-$ 1
�< T0 � Tc6 '#� �9��)�'�!��# ��-.��� )���!-���� 9� .� � ! �9-��#�

!5����, #�+)� �#& � 
���(  ��&-.#�# ��,���#�$ ! ��"-���� � =��)� �+��#�-.�5+�

����5+�  �9�#5 e0�f6 ! ��#� �( )�������6 '#� ! �9-��#� �����, #�+)� �#& 

(T < Tc/2) )�-� Hen =��)����%��-.�� !�� ��#��# ) � &+��.?���� #�+)� �#& 5�


� +���#�!� �!����$  �-����%�$ +�"��#��"� )�#��� ! ) ��&#�#!�� 9� .� � :;

 ���+�# ��� !  �9�#� eBAf�

0� :� .� +�/�# 95#. )���!-�� ��>�� �����#�! �� )�!� ,���#� �!� ,) �!������6

��#� 5� +�"&# ) �!���#. � -���-.��+& &!�-�'���7 )-�#���#� #��� ���-� �����#�!

�6 #�+ ��+5+6 �9-�"'�#. ) ������!���� !�, �( ��� ) � !5����, IT ∼ TcL6

#�� � ) � �����, IT � TcL #�+)� �#& �,� ��-. ��'��#!� )�!� ,���#� 95-�

!5$����� �8� !  ����,  �9�#�, eB4f6 )����-.�& ���� /�� ) ������!���$ )�#��� !

&!�-�'�!�78�+�$ )�-� ��9-7��-��. ! �)�%��-.�� ) �"�#�!-���5, �9 ��%�, � �'��.

"-����( I)�-� �!����(L )�!� ,���#.7�

� �+� =#�"�6 ! ��'��#!� � &"�, ���#� �!6 !-�$78�, �� �� +� �!����

�+�?����"� ���#�$��$6 ����#� 5� �!#� 5  ���+�# �!�-� !��+�/��� !-�$���

) �)�!� ,���#��"� �-�$ eABf6 �!� ,) �!��$8�� ,� ��#� ��#��� ��#� �"� +�"&#
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�#-�'�#.�$ �# �!�(�#! �9h�+��"� +�#� ��-� �6 #�+ ��+5+6 �9-�"'�#. ) ������!����

!�, �(G � #��/�  �-. �����# �)��"� d−#�)� �)� �!���$ ! 1
�< eA�f� ����'�

� ) ������!���� !�, �!5, )�-&)�#�-. ! +����!�5( �!� ,) �!����� � )-����(

)�!� ,���#.7  ���+�# ��� !  �9�#� eBBf6 "�� )�������6 '#� �-$ !�, �!5, )�-&)�#�-.

)�-� )���!-���$ 9� .� :; +�/�# 95#. ��/�6 '�+ �-$ ) $+�-���(�5, !�, �(

�9 �����!��

���-���!���� +�,����+� )���!-���$ 9� .� � :; )�!� ,���#�5+� �����#�+�

) ���#�!-$�# ��#� �� ! �!$�� � ����!��+� =��)� �+��#�-.�5+� ����5+�6

&���5!�78�+� �� ��-.�&7 ��!���+��#. )�-$ !,��� Hen �# � ���#�%�� )�-$

�#����#�-.�� � ��#�--�" ���'����, ���( �9 ��%� eB�f� <���9��$ ��!���+��#.

�� +�/�# 95#. �9h$����� !-�$���+ �����# �)�� �!� ,) �!������ ) � ��-�'��

����-.��( )-����( )�!� ,���#� eB�f� < $+�� =��)� �+��#�-.��� )��#!� /�����

!-�$��$ �����#�! )�!� ,���#� ) ���#�!-��� !  �9�#�, e�B6 A@f6 ! ��#� 5, �!#� 5

�9-&'�-� +���� ��#�--5 `aZ2b^3c7 )�#���+ �����=�� "�#�'�5, =-��# ���!� 3#�

) �!���-� � ��+�#��+& &,&�?���7 )�!� ,���#� 9�� ��+�����$ �9h�+�5, �!�(�#!

�9 ��%�6 �!�(�#!���5, �-$ �����( �+)-��#�%��� <��-� �9-&'���$ )�-� Hen

&+��.?�-��. ! �����-.��  �� I! ��!���+��#� �# #�+)� �#& 5L�

< � ��� )���!-���$ =�� "�#�'����"� 9� .� � :; )�!� ,���#�5+� �����#�+�

�)����� !  �9�#�, e��6 �@f� 1�-�'��� � �#�'����"� )�-$ Hen �) ���-$�#�$ 9�-����+

�!&, ��-C ��-�( ) �#$/���$ � )�!� ,���#� � ��-�( ;� ��%�6 !#�-��!�78�(

!�, . !"-&9. �!� ,) �!������� ��-�'�� )�!� ,���#�5, �����#�!6 ) �)$#�#!&78�,

) �#�����7 �!� ,) �!��$8�( ��+)����#5 #���6 +�/�# ) �!���#. � -���-.��+&

&!�-�'���7 )-�#���#� +�(���� �!���"� #���6 � �-���!�#�-.��6 � &��-���7 ��-5

;� ��%�� � �+� =#�"�6 ���9,���+5+ &�-�!��+ �-$ �� +� �!���$ �� +�-.��(

�� �%�!��5 !�, $ $!-$�#�$ &�-�!�� max jm ∼ jGL6 "�� jm � -���-.��$ )-�#���#.

=� ��� &78�, #���!6 jGL � � �#�'����$ )-�#���#. #���  ��)� �!���$ H���9& "�*

;����&� 
���� &�-�!��6 �9�&/���+��6 ��) �+� 6 !  �9�#� e0�f6 $!-$�#�$ �9�98����+

� �#� �$ ��(�+���*;����& �9 ���!���$ !�, �( ! �� $/����( �!� ,#��&'�(

/�����#�� < � ��-�'�� �����#�! &�-�!�� max jm ∼ jGL +�/�# 95#.  ��-���!��� !

9�-�� �-�95, +�"��#�5, )�-$, )� � �!����7 � �9 ��%�! 9�� �����#�!�

�#�)��. &��-���$ #��� �6 ���#!�#�#!����6 �#�)��. )���!-���$ 9� .� �

�) ���-$7#�$ ��� )� �+�# �+� �!� ,) �!������ Iξ � λL6 #�� � ,� ��#� ��#���+�

�����#�!C �� +�(6 "-&9���( Ldef 6 � ���#�%��( �#����#�-.�� � ��#�--�" ���'����,

���( � +�#� ��-�+ !�-7'���( I���-$#� �-� �� +�-.�5( +�#�--L� ����� )���!-����

9� .� � ! �!� ,) �!������, � ?� �,�!�#�( )�!� ,���#.7 ���-��� �!�-��. !

����!��+ �-$ +�-��, �����#�! Ldef < λ eA@6 B@f� 
�� !  �9�#� eA@f  ���+�# �!�-��.

+���-.��$ ����'� � !-�$��� �����#�! ! !��� "�&���!� ��-���-�� 1  �9�#� eB@f

95-�  �?��� ����'� �  ��) ���-���� +�(���� �!���, #���! ! �!� ,) �!������ �

=�� "�� !���+���(�#!�$ !�, $ �9 �����!� � )�!� ,���#.7 ! ) ��)�-�/����6 '#�
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)�!� ,���#. �!� ,) �!������ !��-. ����( ��� $!-$�#�$ �-&'�(��( �&��%��( �

+�-5+ � �����!�� �#�'�5+ �#�-������+� 1 �9��, �-&'�$, 95-� )�������6 '#�

9� .� )���/��#�$ �����'�#�-.���

�'�!����6 '#� )���!-���� 9� .� � :; 9&��# ���9�-.?�+ �-$ )�!� ,���#�5,

�����#�! ! !��� "-&9���, # �8��6 � ���#� �!���5, !��-. +�"��#��"� )�-$ �6

���#!�#�#!����6 )�)� �� =� ��� &78�+ #���+� ;79�$ � &"�$ �� +� �-� � ���#�%�$

�����#�! �� 9&��# �9��)�'�!�#. +����+�-.�� !��+�/�&7 ���%��# �%�7 #��� !9-���

� �$ �����#�� 1-�$��� �-����9 ���5, �����#�! ��  �/����� !�, �( ! )�#���

���� $/����( �!� ,#��&'�( /�����#�  ���+�# ��� !  �9�#� e�@f� 1 ��( 95-�

)�������6 '#� � �#�'����$ ��� ��#. )�#��� vc6 ���9,���+�$ �-$  �/����$ !�, $6

�-��&78�+ �9 ���+ ��!���# �# ,� ��#� ��#�� ) �)$#�#!�$C vc ∼ v(0)
c (ξ/Ldef)

1−µ6

"�� ξ � �-��� ��"� ��#���#�6 µ = π/(2π − ϕ0) � ϕ0 � &"�- ) � !� ?��� �����#�6

v(0)
c � � �#�'����$ ��� ��#. ��!��+&8����"� )�#���� �9�98���� =#�( +���-� ��

�-&'�( �� $/����( �!� ,#��&'�( /�����#� # �9&�# ��  ��#��"� &'�#� =����#�

=� ��� �!�� +�"��#��"� )�-$6 ��#� 5( 9&��# �&8��#!���� ) � Ldef
>∼ λ� 
�/��

�/���#.6 '#� =� ��� �!�� ) �!���# � ���58���7 ��!���+��#� vc �# Ldef ��

+��?#�9�, Ldef ∼ λ �6 ���#!�#�#!����6 ���58���7 ��!���+��#� Hen �# Ldef � 1

 �9�#� e��f6 ! ��#� �( ) �!���� ���-�� ) ��# ���#!����( �# &�#& 5 +�"��#��"�

)�-$ !9-��� � �$ # �8��56 )�-&'��� �-��&78�$ �%���� )�-$ )���!-���$ 9� .� � !

���# �)��+ �!� ,) �!������C Hen ∝ (ξ/λ)1−µHp
en� ������ =#�#  ��&-.#�# �) �!��-�!

#�-.�� )� )� $��& !�-�'��56 )����-.�& 9�� ��+� �5( '��-���5( ��=���%���#6

���9,���+5( �-$ �9h$�����$ =��)� �+��#�-.�5, ����5,6 +�/�# 95#. )�-&'��

#�-.�� !  ��&-.#�#�  �?���$ & �!����( H; �  ��) ���-���� #���! !�� &" �����#�

� &'�#�+ =� ��� �!���

1  �9�#�, e�26 0�f ����'� � !-�$��� )�!� ,���#�5, �����#�! �� &�-�!�$

�-$ !,��� !�, �( ���-���!�-��. �� ����!� '��-����"�  �?���$ ���#�%���� �5,

& �!����( H;� < ��+&8��#!� #���"� )��,��� ���#��# ! #�+6 '#� )�-&'��+��

!5 �/���� �-$ Hen &/� �� ���� /�# ������, ����!��#�5, ��=���%���#�! � +�/�#

95#. ��)�� ���#!���� ��)�-.��!��� �-$ ��#� ) �#�%�� =��)� �+��#�-.�5, ����5,�

�-��&�# �#+�#�#.6 ! &������5,  �9�#�, #��/�  ���+�# �� !�) �� � )���!-����

9� .� � :; !�-7'���$+� �� +�-.��"� +�#�--� �� )�!� ,���#� �!� ,) �!�������

�) ���-���5+ �����#�#��+ +�/�� �'�#�#. #� �9�#�$#�-.�#!�6 '#� !�� !5'��-���$

) ���#�!-��5 �-$ �!� ,) �!������ � ��9�-.?�+ )� �+�# �+ H; Iκ = λ/ξ < 20L6 '#�

�!$���� � ���'�#�-.�5+  ��#�+ �9h�+� !5'��-���(6 ! #� ! �+$ ��� #�� �#�'�����

�%���� e��f ) ������5!��# ���9�-.?�� )���!-���$ 9� .� � ) � κ � 1� � �+�

=#�"�6 �� +�  ���+�# �!��+5, �����#�! I) $+�&"�-.�5� )�-��#� ?� ���( w =

0.5 ÷ 5 ξ � "-&9���( l = 1 ÷ 20 ξL6 �# �"� "�!� $6 �� ���#!�#�#!�!�-� ���9�-��

�)#�+�-.��( �� +�� 
�+ �� +����6 )�-&'���5� !  �9�#�, e�26 0�f  ��&-.#�#5

����!�#�� �)��5!�-� ��!���+��#� Hen �# )� �+�# �! κ, w, l � ��,���-��. !  ��&+��+

��"-���� � ���+)#�#�'����+� �%����+� e��f6 )�-&'���5+� �-$ κ� 1 � Ldef � λ�

0�




���+ �9 ���+6 !�) �� � !5'��-���� � �#�'����"� )�-$Hmin
en 6 ���#!�#�#!&78�"�

) ���-.��+& )���!-���7 9� .� � :;6 �� ��, )� ��#��#�$ �#� 5#5+� 1 �-��&78�+

 ����-� 9&��# ) ���#�!-��� ���-�#�'�����  �?���� ����'� �  ��) ���-����

=� ��� &78�, +�(���� �!���, #���! !9-��� � �$ 9������'�� #����( # �8��56 '#�

) ���#�!-$�# ��#� �� �-$ ��  ��#��( �%���� Hmin
en �

2343 ��(�#5�����!0 6��#7��&*���&0 $�#��# �&��8�&(&�7�����

'�) �(�#5,#�(�'�&�� � 9�#�5�(���0 ,�(�#5�����:

������ &�
�������  ���'�� ���

�����
��� ���� �!
� � ���	 �������

�-$ �) ���-���$ � �#�'����"� )�-$ )���!-���$ 9� .� � :; Hen ! �!� ,) �!������

� �����#��( )�!� ,���#.7 ���9,���+� !5'��-�#. �!�9���&7 =�� "�7 H�99��

!�, �!�( -����� ��� 95-� �#+�'��� !� !!������ � �����( "-�!�6 +����+�-.��(

�)���9���#.7 )���!�#. 9� .� �-$ ) ������!���$ +�"��#��"� )�#��� �9-���7#

"-&9���� ILdef � λL �-����9 ���5� # �8��56 � ���#� �!���5� !��-. +�"��#��"�

)�-$� ��-�� �" ���'�+�$ ���-���+ �����( ����'� ! -������!���+ ) �9-�/����

� 9&��+ �'�#�#.6 '#� +�"��#��� )�-� !�&# � ���# �)��"� �!� ,) �!������ �

���-� �!����( # �8���( &��!-�#!� $�# �-��&78�+& & �!����7

∆Bz − 1

λ2
Bz = −Φ0

λ2
δ(r − a), Bz

∣∣∣
ΓS

= H0, I���0L

"�� ���#& ΓS ��!)����# � )�!� ,���#.7 �!� ,) �!������ I�+�  ��� �LG #�'��

r = a� Ldef 6 ϕ = ϕv ���#!�#�#!&�# ��� ����#� !�, $ ! %�-��� �'����( ���#�+�

��� ����# Ir, ϕ, zL � ��'�-�+ �� !� ?��� �-����9 ����"� �����#�6 ��. z ��) �!-���

!��-. �9 ��&78�( �-���6 ϕ0 � &"�- ) � !� ?��� �-���� <����-.�& ��� ��#� ��&7#

&�-�!�$ �� +� �!���$ !�, �!�"� ���#�$��$6 � !�, � 9&�&#  �/��#.�$ ���-�

!� ?��5 �-���6 ��-�� +5 9&��+  ���+�# �!�#. #�-.�� �9-��#. !9-��� !� ?��56

r � Ldef 6 ) � =#�+ ���#& ΓS +�/�� ��+���#. �� ���#& Γ6 ���#!�#�#!&78�(

�#� ���+ �-��� Iϕ = 0 � ϕ = 2π − ϕ0L� 1 ��-& -���(���#� & �!����$ I���0L  �?����

+�/�� ����#. ! !���C

Bz = Bz,m +Bz,v,

∆Bz,m − 1

λ2
Bz,m = 0, Bz,m

∣∣∣
Γ

= H0, I���4L

∆Bz,v − 1

λ2
Bz,v = −Φ0

λ2
δ(r− a), Bz,v

∣∣∣
Γ

= 0 I����L

"�� Bz,m ) ���#�!-$�# ��9�( +�"��#��� )�-�6 ���#!�#�#!&78�� +�(���� �!���+

#���+6 =� ��� &78�+ !��?��� +�"��#��� )�-� H0G Bz,v � )�-�6 ��������� !�, �!�(

-����(� �� +�-5,  ���#�$��$, r � λ �# !� ?��5 �-��� =� ��� &78�� =����#5

) ���9 �/�+� +�-56 |Bz/λ
2| � |∆Bz|6 )�=#�+& ! =#�( �9-��#� +�/�� �#9 ���#.

���#!�#�#!&78�� �-�"��+5� ! & �!����$, I���4L � I����L�

0@
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����
�
� •&

��?����+ & �!����$ I���4L ! ) ���-� r � λ $!-$�#�$ �-��&78��  ��) ���-����

I�+�6 ��) �+� 6 eB2fL

Bz,m = H0

[
1 − β

(
r

λ

)µ

sin(µϕ)
]
. I���AL

"�� µ = π/(2π − ϕ0)6 β * ����!��#�5( 9�� ��+� �5( ��=���%���#� 15'��-$$

)-�#���#. +�(���� �!���"� #���6 ��,���+

jm =
c

4π
rot

(
Bz,mz0

)
=
cH0

4πλ
µβ

(
r

λ

)µ−1

[− cos(µϕ) r0 + sin(µϕ) ϕ0] .

;�"�� !���#.6 '#� +��&-. )-�#���#� +�(���� �!���"� #��� �+��# ���9�����#. ) �

r = 0 �-$ µ < 16 #� ��#. )-�#���#. #��� !9-��� � �$ #�+ 9�-.?�6 '�+

+��.?� &"�- ϕ0� �'�!���� I�+� #��/� e��fL6 '#� )�-� Hen �+�#. +���+�-.���

���'���� �-$ 9������'�� #����, # �8��6 � ���#� �!���5, !��-. )�-$� ��+�#�+6

'#� 9�� ��+� �5( ��=���%���# β = β(ϕ0) �� +�/�# 95#. �) ���-�� 9�� &'�#�

=� ��� �!��� �-$ ����-.��( )-����( )�!� ,���#� Iµ = 1L ��=���%���# β  �!��

�����%�� �!#� 5  �9�#5 e��f ) ��)�-�/�-�6 '#� �-$ !��, &"-�! ϕ0 ��=���%���#

β )� $��� �����%56 ������ #���� ) ��)�-�/���� ��'�+ �� )��#!� /����� 1

�-��&78�+  ����-� +5 �) ���-�+ ��=���%���# β �-$ 9������'�� #����( # �8��5

�� ����!�  �?���$ ����'� I���4L � &'�#�+ =� ��� �!���
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������ ���

�����
��� ���� ������ ������ ������� ( �'�� )����������

1 =#�+  ����-� +5  ���+�# �+ ����'& � ) ��# ���#!����+  ��) ���-���� =�>

 ��� &78�, +�(���� �!���, #���! !�� &" #����( "-&9���( # �8��5 Iϕ0 � 16

Ldef � λL� �#  �?���$ ����� ��%��-.��"� & �!����$ I���4L )� �(��+ �  �?���7

���#!�#�#!&78�"� ��#�" �-.��"� & �!����$ I�+� #��/� eA@fLC

Bz,m(r) =
Φ0

2πλ2

∫
Γ

K0

( |r− r′|
λ

)
n(r′)dr′, I���BL

"�� !!����� ����!��#��$ �&��%�$ n(r)6 ) ���#�!-$78�$ -���(�&7 )-�#���#.

���#�!�5, !�, �(6  ��) ���-���5, )� " ���%� �!� ,) �!������ I ��� 0�ZLG ) � =#�+

)�-� �#��-.��"� !�, $ �)��5!��#�$ ��!��#�5+ !5 �/����+ I���L �-$ ���-� �!����"�

!�, $ �9 �����!�� �&��%�$ n(r) ��-/�� &��!-�#!� $#. �!&+ &�-�!�$+C !�>)� !5,6

B(r) = H0 �-$ !��, #�'�� r ∈ ΓG !�>!#� 5,6 �-$ !��, #�'�� ! "-&9��� �!� ,) �!������

B(r) ��-/�� �# �+�#.�$ � �&-7� 1 ��?�+ �-&'�� 9������'�� #����( # �8��5

" ���%�( �!� ,) �!������ $!-$�#�$ )�-&9������'�5(  �� ��6 ���#!�#�#!&78�(

ϕ = 0 I ��� 0�FL6 )�=#�+& )-�#���#. !�, �( n(r) $!-$�#�$  �?����+ �-��&78�"�

��#�" �-.��"� & �!����$C

Φ0

2πλ2

∞∫
0

K0

( |r − r′|
λ

)
n(r′)dr′ = H0 (r > 0). I����L

< �/�� '�+ )� �(#� � ���-�#�'����+&  �?���7 & �!����$ I����L6 ���-��+

!�/��� ��+�'����� �'�!����6 '#� �-$ #�'��6 ��,��$8�,�$ !9-���  �� ��� � ��-���

�# �"� !� ?��5 I#� ��#. ) � r � λ6 ϕ� 1L6 ��-�'�� !� ?��5 �� ��-/�� ����5!�#.

!-�$��$ �� -���-.��� +�"��#��� )�-�� 
���+ �9 ���+6 �� 9�-.?�,  ���#�$��$,

n(r) → n06 ) � =#�+ ����#��#� +�/�# 95#. �) ���-��� �� & �!����$ I����L6 ! ��#� �+

! ) ��)�-�/���� r � λ ��/��( ) ���- ��#�" � �!���$ +�/�# 95#. ��+���� �� −∞
� )-�#���#. !�, �( �'�#��#�$ )��#�$���( �  �!��( n0

n0 =
2λH0

Φ0
.


���� ���'���� ����#��#5 n0 �9��)�'�!��# ) �!�-.��� =��)����%��-.��� ��#&,����

+�"��#��"� )�-$ !"-&9. �!� ,) �!������†�

† 0� ��	
������ ���)�(1�� �
 ������ ������
� #3/%

+∞∫
−∞

cos bx K0

(
c
√

(x− y)2 + z2
)
dx =

π√
b2 + c2

exp(−z
√
b2 + c2) cos by.

4�
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� ��� 
�
�  ���
����
 �
��
� ���1��
� ,6-&

<� �(��+ �  �?���7 & �!����$ I����L +�#���+ 1��� �*Q�)�� e��f� :&��+

����#. ����!��#�&7 )-�#���#. ���#�!�5, !�, �(6  ��) ���-���5, !��-. 9������'>

��"�  �� ���6 ! !���

n+(r) =

{
∆n(r) + n0,

0,

r ≥ 0

r < 0

� �+� =#�"�6 !!���+ !#� &7 ����!��#�&7 �&��%�7

φ−(r) =

{
0,

φ(r),

r ≥ 0

r < 0

) ���#�!-$78&7 ��9�( +�"��#��� )�-� !�&# � �!� ,) �!������ �� -����  �� ���

Iϕ = πL� ��)�-.�&$ �&��%�� n+(r) � φ−(r)6 +�/�� ��)���#. ��#�" �-.��� & �!�����6

�) ���-����� �� !��( ��� r �# −∞ �� +∞C

Φ0

2πλ2

+∞∫
−∞

K0

( |r − r′|
λ

)
n+(r′)dr′ = φ−(r) +H0 θ(r), I���@L

"�� θ(r) � �&��%�$ �����'��"� ���'�� IQ�!���(��L� �-$ &��9�#!� !!���+

9�� ��+� �5� )� �+���5� R = r/λ6 R′ = r′/λ6 N+(R) = λn+(r)6 H = 2πλ2H0/Φ06

Φ−(R) = 2πλ2φ−(r)/Φ0� 1!���+ ) ��9 ���!���� �& .� �-��&78�+ �9 ���+

Ñ+(α) =

∞∫
−∞

N+(R) eiαR dR =

= ∆Ñ+(α) + λn0
i

(α + i0)
= ∆Ñ+(α) +

H

π

i

(α + i0)
, I���2L

�6 ��)�-.�&$ & �!����� I���@L6 )�-&'�+ ���#��?���� +�/�& ∆Ñ+(α) � Φ̃−(α)

π√
1 + α2

∆Ñ+(α) +
H√

1 + α2

i

(α + i0)
= Φ̃−(α) +H

i

(α + i0)
. I��0�L

4�



�9�&��+ ���-�#�'����� �!�(�#!� �&��%�( ∆Ñ+(α) � Φ̃−(α) e�0f� 	�#��#!����

�/���#. =��)����%��-.��"� ��#&,���$ +�"��#��"� )�-$ ! "-&9��� �!� ,) �!������

Ir → −∞LC |φ−(r)| < M1 exp(−|r|/λ)6 )�=#�+& �&��%�$ Φ̃−(α) 9&��# ���-�#�'����(

! )�-��� Im α < 1/λ� ��� 95-�  ���+�# ��� !5?�6 |∆N+(r)| → 0 ) � r → +∞�

< ��)�-�/�+6 '#� �&��%�$ |∆N+(r)| < M2 exp(τ |r|) � τ < 06 #�"�� �9-��#.7

���-�#�'���#� ∆Ñ+(α) $!-$�#�$ Im α > τ �

��+�#�+6 '#� & �!����� I��0�L ���� /�# )�-7� �� ��(�#!�#�-.��( ���

��+)-�����( )-�����#� α� �-$ �"� &�# �����$ &+��/�+ �9� '��#� & �!����$ I��0�L

��
√
α− i � !5'#�+ �� �9��, '��#�(

√
iH/(α + i0)� <��-� ) ��#5, ) ��9 ���!���(

)�-&'��+

π√
α + i

∆Ñ+(α) − iH√
i
√
α + i

(√
α+ i +

√
i
) =

= Φ̃−(α)
√
α− i +

iH(√
α− i +

√−i
) . I��0�L

�#��6 -�!�$ '��#. & �!����$ I��0�L �+��# ���9�����#. ) � α = −i �

$!-$�#�$ ���-�#�'����( ) � Im α > τ 6 τ < 0� < �!�$ '��#. & �!����$ I��0�L

�+��# ���9�����#. ) � α = +i � $!-$�#�$ ���-�#�'����( ) � Im α < 1/λ� 1�&# �

�9-��#� τ < Im α < 1/λ6 ! ��#� �( �9� '��#� & �!����$ ���-�#�'�5 � ! ��#� &76

! '��#���#�6 !,���# ��(�#!�#�-.��$ ��.6 �� ���� /�#�$ )�-7��! � ���9�����#�(6

�-���!�#�-.�� �&8��#!&�# �����#!����$ %�-�$ �&��%�$ f(α)6 ��!)���78�$ � -�!�(

'��#.7 & �!����$ I��0�L ) � Im α > τ � � ) �!�( '��#.7 & �!����$ I��0�L ) �

Im α < 1/λ� ���-��� &$ )�!������ φ−(r) !9-��� !� ?��5 �-��� I���AL6 ) �,���+

� !5!��&6 '#� f(α) ≡ 06 �-���!�#�-.��C

∆Ñ+(r) =
iH

π
√

i
(√

α+ i +
√

i
) ,

Φ̃−(α) = − iH√
α− i

(√
α− i +

√−i
) .

15'��-$$ �9 �#��� ) ��9 ���!���� �& .�6 ��,���+ ) ��# ���#!���5�  ��) ���-���$

n(r) � φ(r)

n(r) =
2λH0

Φ0

⎛
⎜⎜⎝ e−r/λ√

πr/λ
+

2√
π

√
r/λ∫

0

e−u2

du

⎞
⎟⎟⎠ . I��00L

φ(r) = H0
2√
π

∞∫
√

−r/λ

e−u2

du. I��04L
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��
��� ��������� ������ n(r)
,�	�
��
� �����- � �
�����
�
 	
�� Bz(r) )��  ���
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����� ϕ = π ,	�������
� �����-&


���+ �9 ���+6 )���#�!-$$ )-�#���#. ���#�!�5, !�, �(6 �) ���-$�+&7

!5 �/����+ I��00L6 ! !5 �/���� I���BL6 +�/�� �) ���-�#. +�"��#��� )�-�

+�(���� �!���, #���! Bz,m(r, ϕ) �� -795,  ���#�$��$, �# !� ?��5 #����( # �8��5�

<����-.�& �-$ �) ���-���$ )�-$ )���!-���$ 9� .� � Hen ��+ ���#�#�'�� ���#.

 ��) ���-���� #���! �� +�-5,  ���#�$��$,6 ���-��&�+ ���+)#�#��� n(r) � φ(r)C

n(r) =

⎧⎨
⎩(2λH0/Φ0) /

√
πr/λ,

2λH0/Φ0,

r > 0 � r � λ

r > 0 � r � λ
I��0�L

φ(r) =

⎧⎪⎨
⎪⎩
H0 − (2H0/

√
π)

√
|r|/λ,

H0 exp(−|r|/λ)/
√
π|r|/λ,

r < 0 � |r| � λ

r < 0 � |r| � λ
I��0AL

� �!��+ !5 �/���� I���AL �  ��-�/����+ I��0AL ) � |r| � λG -�"�� )��$#.6 '#�

�-$ 9������'�� #����( # �8��5 ��=���%���# β(ϕ0 = 0) ≡ β0 = 2/
√
π � 1.136 '#�

)��#!� /���# ) ��)�-�/���� � �-�9�( ��!���+��#� β �# ϕ0� �#+�#�+ #��/�6 '#�

∆N+(r) �# �+�#�$ � �&-7 95�# ��6 '�+ exp(−r/λ)6 '#� )��#!� /���# ���-�����

) ��)�-�/���� �9 ���-�#�'����, �!�(�#!�, �&��%�� ∆Ñ+(α)�

������ &�
� �������� 
���� �!
� � ���	 �������

����'�#��+ ! -������!���+ ) �9-�/���� !#� &7 ��+)����#& )�-$ Bz,v6

�) ���-$�+&7 & �!�����+ I����L � �!$����&7 � ��-�'��+ !�, �!�( -���� !9-���

� �$ �����#�� 1 �!$�� � 9�-�� �-�/��( �� +�( )�!� ,���#� �!� ,) �!������ +�#��
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���9 �/���(6 ��)�-.�&�+5( ! ����'� � 9� .� � :; ! �!� ,) �!������ � )-����(

)�!� ,���#.76 ��) �+���+� 159� �+ %�-��� �'���&7 ���#�+& ��� ����# (r, ϕ, z) �

��'�-�+ ��� ����# �� !� ?��� �-��� I ��� �L � ) ��)�-�/�+6 '#� !�, . ��,���#�$

! #�'�� (a, ϕv)� < � a� λ & �!����� I����L �!���#�$ � & �!����7 <&������

∆Bz,v = −Φ0

λ2
δ(r − a), Bz,v

∣∣∣
Γ

= 0,

��#� �� +�/�# 95#.  �?��� +�#���+ ����� +�5, �#�9 �/���( �-$ ) ���!�-.��"�

&"-� ϕ0 I�+�6 #��/�6 e��fL�

1!���+ ��+)-����&7 )� �+���&7 z = x+iy � �) ���-�+ ��+)-����&7 �&��%�7

f(z) = f1(x, y) + if2(x, y)6 ��(�#!�#�-.��$ '��#. ��#� �( f1 ��!)����# � Bz,v(x, y)�

��!��#�� I�+�6 ��) �+� 6 e�0fL6 '#� ) � ����� +��+ �#�9 �/���� ζ = w(z)

) ���,���# )� �,�� �# ��+)-�����( )-�����#� z(x, y) � )-�����#� ζ = ξ(x, y)+iη(x, y)6

) � =#�+ �)� �#� ;�)-��� � δ − �&��%�$ # ����� +� &7#�$ �-��&78�+ �9 ���+

∆x,y f(z) =⇒ D(ξ, η)

D(x, y)
∆ξ,η f(ζ),

δ(x− x0, y − y0) =⇒ D(ξ, η)

D(x, y)
δ(ξ − ξ0, η − η0),

D(ξ, η)

D(x, y)
=

∣∣∣∣∣ ξ
′
x,

η′x,
ξ′y
η′y

∣∣∣∣∣ = ξ′ 2
x + ξ′ 2

y = η′ 2
x + η′ 2

y .


���+ �9 ���+6 & �!����� <&������ ) � ) ���!�-.��+ ����� +��+ ) ��9 ���!����

��, ��$�# �!�( !��� ����+�# �+ ) ��9 ���!���� ζ = zµ6 "�� µ = π/(2π − ϕ0)�

��# &��� ��+�#�#.6 '#� #���� ) ��9 ���!���� )� �!���# �-����9 ���&7 �9-��#. ��

)-�����#� z ! )�-&) ��# ���#!� �� )-�����#� ζ �

��?����+ & �!����$

∆ξ,η F = −Φ0

λ2
δ(ζ − ζv), F

∣∣∣
η=0

= 0,

$!-$�#�$ �-��&78�$ �&��%�$

F (ζ) =
Φ0

2πλ2
ln

1

|ζ − ζv| −
Φ0

2πλ2
ln

1

|ζ − ζ∗v |
=

Φ0

2πλ2
ln

|ζ − ζ∗v |
|ζ − ζv| , I��0BL

��#� �$ ) ���#�!-$�# ��9�( �&)� )���%�7 �&��%�( H ��� �!&+� ��"� �)� �#� �

;�)-���†� <���#�!-$$ z = r exp(iϕ)6 zv = a exp(iϕv)6 )�-&'��+  ��) ���-����

+�"��#��"� )�-$ ‡

Bz,v(r, ϕ) = Ref(z) =
Φ0

2πλ2
Re ln

|zµ − z∗ µ
v |

|zµ − z µ
v | =

† 7
��������! ���
*���� ,$&.8- �

���������� �
�����
�� 	
�( 	
�� �����9
��������!

�
�
)�1���� �
 �
�
� �
���
���� ,r � λ- )��� 
� )���
! 	�� :�
� K0(x) � ln(1/x)&
‡ ;
	
����! ��
 Re ln f(z) = ln |f(z)|&

4�



=
Φ0

2πλ2
Re ln

∣∣∣1 − (r/a)µ e−i µ(ϕ+ϕv)
∣∣∣

|1 − (r/a)µ e−i µ(ϕ−ϕv)| =

=
Φ0

4πλ2
ln

[1 − (r/a)µ cosµ(ϕ+ ϕv) + (r/a)2µ]

[1 − (r/a)µ cosµ(ϕ− ϕv) + (r/a)2µ]
. I��0�L

������ ������	 �������� 
���� �!
� � ���	 �������� *+���� ��
	

�����
"���� �����
���	 !��"��� #���$%�����
����

15'��-�+ ! -������!���+ ) �9-�/���� =�� "�7 H�99�� �����%5 �-��5

!�, �!�( -���� !9-��� � �$ # �8��5C

G =
1

8π

∫
S

[
B2 + λ2 (rot B)2

]
dS − 1

4π

∫
S

(B · H0) dS.

�'�#5!�$6 '#� +�"��#��� )�-� ! �!� ,) �!������ &��!-�#!� $�# & �!����7 I���0L6

) ��9 ��&�+ =#� !5 �/���� � �-��&78�+& !��&

G = G1 +G2 +G3,

G1 =
1

8π

∫
S

B ·
(
B + λ2 rot rot B

)
dS =

Φ0Bz(a)

8π
, I��0@L

G2 =
1

8π

∫
S

λ2 div [B × rot B] dS =
λ2

8π

∮
Γ

([B × rot B] · n) dl =

=
λ2

4π

∮
Γ

Bz (∇Bz · n) dl =
λ2

8π
H0

∮
Γ

∂Bz

∂n
dl, I��02L

G3 = − 1

4π

∫
S

(B · H0) dS = − 1

4π

∫
S

H0 Φ0δ(r − a)dS +

+
λ2

4π

∫
S

(H0 · rot rot B) dS = −Φ0H0

4π
− λ2

4π
H0

∮
Γ

∂Bz

∂n
dl, I��4�L

< ���#�!�+ )�-��� )�-� ! !��� Bz = Bz,m+Bz,v� �-$ !5'��-���$ )�!� ,���#�5,

��#�" �-�! ! I��02L � I��4�L !��)�-.�&�+�$ #�� �+�( !���+���#�C &+��/�+ & �!����$

I���4L � I����L ���-$ �� �� Bz,v � Bz,m ���#!�#�#!����6 �-�/�+ �, � ) ���#�" � &�+

)� �9h�+& �!� ,) �!������� 1  ��&-.#�#� )�-&'�+ ���#��?����6 �!$�5!�78��

)�!� ,���#�5( ��#�" �- � +�"��#�5+ )�-�+ ! %��# � !�, $C

∮
Γ

H0
∂Bz,v

∂n
dl = −Φ0

λ2
Bz,m(a).

<��-� )���#���!�� � ) �!�����$ )���9�5, �-�"��+5, )�-&'��+
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G =
Φ0Bz,m(a)

8π
+

Φ0Bz,v(a)

8π
− Φ0H0

4π
− λ2

8π

∮
Γ

H0
∂Bz

∂n
dl + Emeiss =

=
Φ0Bz,m(a)

4π
+

Φ0Bz,v(a)

8π
− Φ0H0

4π
+ Emeiss, I��4�L

"�� �-�"��+�� Emeiss ���#!�#�#!&�# =�� "�� +�(���� �!���, #���!6 ��#� 5� ��

��!��$# �# )�-�/���$ !�, $� �-$ �) ���-���$ =�� "�� !�, $ G ���9,���+�

!5'��-�#. +�"��#��� )�-� ! %��# � !�, �!�( ��#�� <����-.�& ! #�� �� ;������!

)��-���!�#�-.��� !5'��-���� Bz,v(a) ��!��+�/��6 +5 &�# ���+  ��,���+��#.

�9 ������+ Bz,v(a) = Bz,v(a + ξ)� 
����  ��'�#5 &��9��� ) ���!��#� ! ��+)-�����(

�� +�

Bz,v(a) =
Φ0

2πλ2
Re lim

z→zv+ξ
ln

|zµ − z∗ µ
v |

|zµ − z µ
v | =

=
Φ0

2πλ2
Re lim

z→zv+ξ
ln
aeiϕv

µξ

(
1 − e−2iµϕv

)
=

Φ0

2πλ2
ln

a

µξ
|2 sinµϕv|. I��40L

<���#�!-$$ ! I��4�L !5 �/���$ �-$ +�(���� �!���, I���AL � !�, �!5, #���! I��40L

! #�'��  ��)�-�/���$ !�, $6 )�-&'��+ '��#. )�-��( =�� "��6 ��!��$8�( #�-.�� �#

)�-�/���$ !�, $

G =
Φ0

4π

(
−βH0

(
a

λ

)µ

sin µϕv +
Φ0

4πλ2
ln

a

µξ
|2 sinµϕv|

)
, I��44L

� �!��+ )�-&'����� !5 �/���� � !5 �/����+ I��2L6 �)��5!�78�+ =�� "�7 H�99��

!�, �!�( -���� !9-��� )-����( )�!� ,���#� �!� ,) �!������� <� !�� �-�"��+��

! I��44L ) ���#�!-$�# ��9�( =�� "�7 !���+���(�#!�$ !�, $ ! +�(���� �!���+�

#���+�� 1#� �� �-�"��+�� ! I��44L �)��5!��# ) �#$/���� !�, $ � )�!� ,���#�

�!� ,) �!������� ��� � �-���!�-� �/���#.6 ! �#�&#�#!�� !��?��"� )�-$ =�� "�$

!�, $  ��#�# � &!�-�'����+  ���#�$��$ a �# !� ?��5 �-��� )� -�"� ��+�'����+&

�����&6 ��#� 5( �� 9�-.?�,  ���#�$��$, a � λ ) � ��  ��#��+ &'�#�

=� ��� �!�� ��-/�� ) �!���#. � !5,��& ��!���+��#� G(a) �� ����#��#& Φ0Hc1/4π6

���#!�#�#!&78&7 �!�9����( =�� "�� !�, $ ! #�-8� �!� ,) �!�������

�-$ )�-&'���$ � �#�'����"� )�-$ )���!-���$ 9� .� � ���-��&�+ ��!���+��#.

G(a, ϕv) �� =��# �+&+C

∂G

∂a

∣∣∣∣∣∗ = −µβ
(
H0

Hc1

)(
a∗

λ

)µ−1

sin µϕ∗
v +

1

lnκ (a∗/λ)
= 0 =⇒

(
a∗

λ

)µ

=
1

µβ (H0/H) sin µϕ∗
v lnκ

I��4�L

∂G

∂ϕ

∣∣∣∣∣∗ = −µβ
(
H0

H

)(
a∗

λ

)µ

cosµϕ∗
v +

µ cosµϕ∗
v

lnκ | sinµϕ∗
v|

= 0 =⇒
{

cosµϕ∗
v = 0;

| sinµϕ∗
v| = 1/(β (H0/H) (a∗/λ)µ lnκ)

I��4AL

4B
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�� H0/Hc1 = 3.5 ,6-&

��+�#�+6 '#� !#� �� &�-�!�� I��4AL +�/�# 95#. ��!+��#�� � &�-�!��+ I��4�L #�-.��

�-$ )-����( )�!� ,���#�6 ��"�� µ = 1� 	����#!���5( =��# �+&+ �&��%�� G(a, ϕ)

��,���#�$ �� 9�����# ��� !��?��"� &"-�

ϕ∗
v =

π

2µ
= π − ϕ0/2

a∗ = λ
1

(µβ lnκH0/Hc1)
1/µ

15'��-$$ !#� 5� ) ���!���5�6 -�"�� &9���#.�$6 '#� =#�( #�'�� ���#!�#�#!&�#
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=��# �+&+ #�)� ���-� I+����+&+ )�  ����-.��( ��� ����#� � +���+&+

)� ���+&#�-.��( ��� ����#�L� � �#�'����� )�-� )���!-���$ 9� .� � :; !

-������!���+ ) �9-�/���� +�/�# 95#. �) ���-��� �� &�-�!�$ a∗(Hen) � ξC

Hen(ϕ0) � 1

µβ

(
ξ

λ

)1−µ

Hp
en. I��4BL

�-��&�# )��'� ��&#.6 '#� !� !��?��+ )�-� )� $��� Hen )-�#���#. =� ��� &78�"�

#��� !9-��� � �$ # �8��5  �!�� )� )� $��& !�-�'��5 #��&  ��)� �!���$

H���9& "�*;����&6 ��#� 5( ���9,���+ �-$ �� +� �!���$ �� +�-.��( �� �%�!��5

!�, $�


����+�-.��� )���!-���� )�!� ,���#��"� 9� .� � :;  ��-��&�#�$ ) � ��-�'��

#����, "-&9���, # �8�� (ϕ0 � 1)6 ��"�� µ � 1/26 β0 = 2/
√
π� 1 =#�+ �-&'��

) ������!���� !�, �( ��'����#�$ ) � )�-$,

Hmin
en � Hp

en

√
π

κ
=

√
π

√
κ

lnκ
Hc1. I��4�L
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�� �#�� �9�&��+ ����!�5� ���9�����#� )�-&'����"�  ��&-.#�#�C

>  ��'�# )��#!� /���# #�# ���#6 '#� !-�$��� �����#�! �� � �#�'����� )�-�

)���!-���$ 9� .� � :; ��-/�� 95#. ���9���� ��-.�5+ �-$ 1
�< ! ��-& κ� 1G

> )�������6 '#� &'�# =� ��� �!�� ) �!���# � 9�-�� #�'��( �%���� )�-$

) ������!���$ +�"��#��"� )�#���6 !�-�'��� Hmin
en ) �!5?��# �%���& )�-$

)���!-���$ 9� .� �6 )�-&'���&7 !  �9�#� e��f6 ! (µβ)−1 � 1.7  ���G

> )����-.�& )� �+�# H; κ = λ/ξ �'��. �-�9� ��!���# �# #�+)� �#& 56 !9-���

Tc � �#�'����� )�-$ Hmin
en � Hc16 Hcm �+�7# �������!&7 #�+)� �#& �&7

��!���+��#.6 ,� ��#� �&7 �-$ +���� ��#�--�C Hmin
en ∝ (Tc0 − T )G

> ���+�# $ �� #�6 '#� ) ���#�!-���5(  ��&-.#�# �) �!��-�! #�-.�� �-$

+����!�5, �!� ,) �!������!6 +5 )�-�"��+6 '#� �� +&-� I��4�L #��/� +�/�#

��)�-.��!�#.�$ �-$ " &9�( �%���� � �#�'����"� )�-$ !,��� !�, �( !

�!� ,) �!��$8�� )-���� ) �+�/&#�'��( #�-8��5 Ids
>∼ λL ! )� �--�-.��+
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<�-&'����$ ! ) ��5�&8�+  ����-� �%���� I��4�L � �#�'����"� )�-$ )���!-���$

9� .� � �) �!��-�!� #�-.�� �-$ ���# �)�5, �!� ,) �!������!� < ���#�!-$�#

9�-.?�( ��#� �� �9�98�#. �� �� �-&'�( �����# �)�5, �!� ,) �!������! I!

'��#���#�6 �-$ 1
�<L� 
�/�� �/���#.6 '#� )�-� )���!-���$ 9� .� � 9&��#

��!���#. �# � ���#�%�� � ��#�--�" ���'����, ���( �!� ,) �!������ )� �#��?���7

� !��?��+& +�"��#��+& )�-7�

����+�# �+ �����-.�� ) ��#�(?�, �-&'��!� 1 #�+ �-&'��6 ��"�� ��. c � !��?���

+�"��#��� )�-� ��) �!-��5 !��-. � �$ # �8��5 IH0 ‖ cL6 ! )� )�����&-$ ��(

)�-7 )-�����#� (a, b) +5 �+��+ ���# �)�5( �!� ,) �!�����6 ,� ��#� ��&78�(�$

)� �+�# �+� λab � ξab� <�-� !,��� !�, �( ! �����+ �-&'��

Hmin, c
en �

√
πξab/λabH

p
en. I��4@L

����+�# �+ � &"&7 � ���#�%�7 � ��#�--�" ���'����, ���(6 ��"�� � �(

# �8��5 )� �--�-�� -79�( �� ���( a �-� b6 � ��. c -�/�# ! )-�����#� # �8��5�

1!���+ ) $+�&"�-.�&7 ���#�+& ��� ����# (x, y, z)6 ! ��#� �( x ‖ c6 y ‖ a6 z ‖ b� 1
=#�+ �-&'�� +�"��#��� )�-� �)��5!��#�$ �-��&78�+ & �!�����+

λ2
ab

∂2Bz

∂x2
+ λ2

c

∂2Bz

∂y2
− Bz = −Φ0δ(x− xv)δ(y − yv),

<��-� +��?#�9��"� ) ��9 ���!���$ x̃ = x6 ỹ = y
√
λab/λc )�-&'��+ & �!����� I��4L

�-$ ���# �)��"� �!� ,) �!������

λ2
ab

(
∂2Bz

∂x̃2
+
∂2Bz

∂ỹ2

)
− Bz = −Φ0

√
λab

λc

δ(x̃− x̃v)δ(ỹ − ỹv),

42



! ��#� �+ λ ��-/�� 95#. ��+����� �� λab6 Φ0 * �� Φ0

√
λab/λc� ����&/��$ ���-�"�'��6

+�/�� )�����#.6 '#� ) � #���+ +��?#�9��+ ) ��9 ���!���� ξ )� �,���# ! ξc� 1

�����+ �-&'�� )�-� !,��� !�, �( I�+� #��/� e��fL

Hmin, ab
en �

√
πξc/λabH

p
en =

√
πξab/λcH

p
en. I��42L

"�� )�-� Hp
en = Hcm/

√
2 �� ��!���# �# � ���#�%�� � ��#�--�" ���'����, ���(�


���+ �9 ���+6 ! 1
�< �-��&�# �/���#. ��-.��( �����# �)�� � �#�'����"�

)�-$ )���!-���$ 9� .� �G ��) �+� 6 �-$ `aZ2b^3c7 H
min, c
en,0 /Hmin, ab

en,0 =
√
ξab/ξc ≈ 2.36

)�=#�+& � ���#�%�$ +�"��#��"� )�-$ )� �#��?���7 � � ��#�--�" ���'����+ ��$+

� �(�� !�/�� �-$ �9h$�����$ =��)� �+��#�-.�5, ����5,� ���-�� =��)� �+��#�-.>

�5, ����5, )� ���-���!���7 )�!� ,���#��"� 9� .� � ! +���� ��#�--�, `aZ2b^3c7

9&��# ) ���#�!-�� !  ����-� ��0�

23;3 �!(�'! � 7��(� 2

< �!���+ ����!�5�  ��&-.#�#56 )�-&'���5� ! �����( "-�!�

• 1 -������!���+ ) �9-�/���� ���-�#�'����  �?��� ����'� �  ��) ���-����

=� ��� &78�, +�(���� �!���, #���! !�� &" 9������'�� #����( # �8��56

� ���#� �!����( !��-. !��?��"� +�"��#��"� )�-$� 15'��-��� =�� "�$ !�, �!�(

-����6 ��,��$8�(�$ !9-��� � �$ # �8��56 � �) ���-��5 &�-�!�$ �-$ !,�/����$

!�, $ ! +����!�5( +���� ��#�--�'����( �!� ,) �!����� � #����+� "-&9���+�

�-���!���5+� # �8���+��

• 1 -������!���+ ) �9-�/���� )�-&'��� �%���� � �#�'����"� )�-$ Hmin
en 6

���#!�#�#!&78�"� )���!-���7 9� .� � :; ! �!� ,) �!������ � # �8���+��

<�������6 '#� #����� �-���!���5� # �8��5 �9-���7# ���9�-.?�( �)���9>

���#.7 � )���!-���7 )�!� ,���#��"� =�� "�#�'����"� 9� .� � :;6 #� ��#.

)�-&'����� ���'���� Hmin
en $!-$�#�$ ���+��.?�+ )� � �!����7 � � �#�'����+�

)�-$+� ) ������!���$ !�, �( '� �� )�!� ,���#. �!� ,) �!������ � -795+�

� &"�+� #�)�+� )�!� ,���#�5, �����#�!�

• ��?� �%���� )�-$ Hmin
en ��,��$#�$ ! ��"-���� �  ��&-.#�#�+� ����!��,

#�� �#�'����, ���-���!���( e��6 �@6 �2f� �#-�'�#�-.��( ���9�����#.7 ) ���#�!>

-����"� ��+� ���-��� $!-$�#�$ �) ���-���� ����!��#��"�  ���� ��=���%���#�

β6 �!$�5!�78�"� !�-�'��& !��?��"� +�"��#��"� )�-$ H0 � )-�#���#.7 =� �>

�� &78�, #���! !9-��� � �$ # �8��56 ��#� 5( ���9,���+ �-$ ��#� ) �#�%��

=��)� �+��#�-.�5, ����5,�

��
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	"����� � ������������ ��������� 	�"�

4323 �(�'��&�

������ ��������� �������� ���� � ������ 
����������	��� �
�����

��� 95-� �#+�'��� !� !!������ � "-�!� �6 �# &�#& � )�-�( � #���!

!�� &" !�, �!�( -���� ��!���# �# "��+�# �� �!� ,) �!������� 	�-� ! +����!��+

�!� ,) �!������ )�-$ � #��� !�� &" !�, �!�( -���� =��)����%��-.�� ��#&,�7# ��

+��?#�9�, )� $��� λG #� ! #����, )-����, �!� ,) �!��$8�� #��� ) ��#� �7#�$

�� 9ó-.?�,  ���#�$��(6 '#� �!$���� � ���'�#�-.�� 9�-�� �-�95+� =� ��� &78�+�

�!�(�#!�+� #����, )-����� 1 �2BA "� ! -������!���+ ) �9-�/���� �/� <� -

e�4f ���-���!�- )�-$ � #��� !�� &" !�, $ ! 9������'�� #����( �!� ,) �!��$8�(

)-���� #�-8���( ds � λ� 1 %�-��� �'����( ���#�+� ��� ����# (r, ϕ, z) +�/�# 95#.

)�-&'��� �-��&78�� !5 �/���� �-$ !��#� ��"� )�#��%��-�C

Aϕ(r, z) =
Φ0

2π

∞∫
0

J1(rq) exp(−q|z|) dq
1 + 2qλeff

, I0��L

"�� ��'�-� ��� ����# !59 ��� %��# � !�, �!�( -����6 ��) �!-���� ��#� �(

���#!�#�#!&�# ��� z6 )-�����#. z = 0 ���#!�#�#!&�# #����( )-����� 1 =#�(

����'� !�������# ��!5( ,� ��#� �5( +��?#�96 �) ���-$78�( +�"��#�&7 �# &�#& &

!�, $ ! #����( )-���� � =����#�!��$ "-&9��� ) ������!���$ λeff = λ2/ds � λ�

15 �/���� I0��L )��!�-$�# )�-&'�#.  ��) ���-���� �!� ,) �!��$8�, #���! !�� &"

!�, $ ! #����( )-����

jϕ(r) =
c

4πλ2

(
Φ0

2πr
−Aϕ(r, 0)

)
=

{
cΦ0/(8π

2λ2r);

cΦ0/(4π2dsr2);

r � λeff

r � λeff

. I0�0L

1 #����, �!� ,) �!��$8�, )-����, I#�-8���( ds � λL !�, � +�"&#  �/��#.�$

�� #�-.�� ! ) ��&#�#!�� !��?��"� +�"��#��"� )�-$� < � H0 = 0 ! #����, )-����,

!��+�/�� �)��#����� �� +� �!���� )� !�, .*��#�!�, . )�� ��(�#!��+ #�)-�!5,

�-&�#&�%�( I)� �,�� :� �������"�*���#� -�%�*
�&-���L e��6 �Af� 
�/�� !!��#�

����#� &7 � �#�'���&7 #�+)� �#& &

TBKT =
Φ2

0

32π2kBλeff
, I0�4L

��
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����� � 	����� 	�
���
���
� �
�1��� ds 	�� z = 0 )�� �
������� ��
����� ds/λ

,��
�
�� �
 ��
����-! j0 = cΦ0/(8π2λ3)&

,� ��#� ��&78&7 =�� "�#�'���&7 !5"�����#. �����%��%�� )� !�, .*��#�!�, .C

) � T < TBKT !�, �!5� )� 5 $!-$7#�$ �!$����5+�6 ) � T > TBKT !�, �

�#���!$#�$ �!�9���5+�6 '#� ) �!���# � )�$!-���7 ����'��"� ��) �#�!-���$ �9 ��%�

� -���(��( !�-.#*�+)� ��( ,� ��#� ��#��� V ∝ I I�+�6 ��) �+� 6 e�BfL�

����'� � ) ��# ���#!����( �# &�#& � )�-�( � #���! !�� &" ) $+�-���(��"�

!�, $ ! �!� ,) �!��$8�, )-����, ) ���!�-.��( #�-8��5 0 < ds < ∞
 ���+�# �!�-��. ! 9�-.?�+ '��-�  �9�#6 ��) �+� e��6 �@6 �2f6 ! ��#� 5, )�-&'��5

���-�#�'����� !5 �/���$ �-$ Bz(r)6 Br(r) � jϕ(r, z)†� ��!���+��#. )-�#���#�

�!� ,) �!��$8�"� #���6 ���&%� �!����"� !�, �+6 �#  ���#�$��$ ! %��# � )-����

I) � z = 0L ) ���#�!-��� ��  ��� B� �#-�'�#�-.��( ���9�����#.7 ��!���+��#� jϕ(r)

† B�����
���
� �
�	
����
 ����
��
�
 	
�����
�
 �
*��  ��� ��������
 ���)�(1�� 
 �
�
�

Aϕ(r, z) =
Φ0

2π

∞∫
0

J1(rq)
1

k2λ2

[
1 − q ch kz

k sh (kds/2) + q ch (kds/2)

]
dq, ,.&C-

�)� J1(x) 5 ������� A������ 	���
�
 	
��)�
! k2 = q2 + λ−2&

�0



$!-$�#�$ #�6 '#� �� +�-5,  ���#�$��$, �# ��� !�, $  ��) ���-���� #���! ���#�'����

�)��5!�7#�$ ��!���+��#.7 jϕ ∝ K1(r/λ)6 ,� ��#� ��( �-$ !�, $ �9 �����!�G

� �� 9�-.?�,  ���#�$��$, )-�#���#. #��� &95!��# �9 �#�� ) �)� %����-.��

�!�� �#&  ���#�$��$6 '#� ,� ��#� �� �-$ )� -�!���"� !�, $ I0�0L6 "�� ��=���%���#

) �)� %����-.���#� +�/�& jϕ � 1/r2 ��!���# �# ���#��?���$ +�/�& ds � λ� �#+�#�+6

'#� �� 9�-.?�,  ���#�$��$, �# ��� !�, $ Ir � λeffL �-$ �!� ,) �!��$8�, )-����

#�-8��5 ds
<∼ λ �9� !5 �/���$C #�'��� I0��L � ) �9-�/����� I0�0L � ��7#

�������!�� ���'���� �-$ )-�#���#� #���� 3#� �9�#�$#�-.�#!� 9&��# ��)�-.��!���

��+� !  ����-� 0�4�0 �-$ !5'��-���$ )-�#���#� #���6 �����!��+�"� ��-.%�+ !�, �(

�� 9�-.?�,  ���#�$��$, �# ��"� ! �!� ,) �!��$8�, )-����, #�-8��5 ds
<∼ λ�

������ ������� �����'�
��� ��
�

��� ��!��#��6 +�"��#��� )�-� )���!-$�# �!� ,) �!���+��#.6 #� ��#. �!� ,>

) �!��$8�� ���#�$��� ! ) ��&#�#!�� +�"��#��"� )�-$  �� &?�#�$  ��.?�6 '�+ !

�&-�!�+ )�-�G )�=#�+& Tc(H0) < Tc06 "�� Tc0 � #�+)� �#& � )� �,��� ! �&-�!�+ )�-��

;�"�� )�-&'�#. �%���& !� ,��"� � �#�'����"� )�-$ Hc2 I+����+�-.��"� )�-$6 ) �

��#� �+ ��, ��$�#�$ �!� ,) �!��$8�� ���#�$��� ! "-&9��� +����!��"� �!� ,) �!��>

����L �� &�-�!�$  �!���#!� � ����"� +�/!�, �!�"�  ���#�$��$ a ∼
√

Φ0/H0 �-���

��"� ��#���#� ξC Hc2(T ) ∼ Φ0/ξ
2�


�'��� ���'���� !� ,��"� � �#�'����"� )�-$ +�/�� )�-&'�#. �� ����!�

& �!����( H; I���L * I��0L� ��(�#!�#�-.��6 ) � T = Tc ! �� +�-.��+ +�#�--� ��-/��

�&8��#!�!�#. 9������'�� +�-5( �!� ,) �!��$8�( �� ��5? I|ψ|2 � 1L� 1 =#�+

�-&'�� +�/�� �)&�#�#. �-�"��+�� |ψ|2ψ ! & �!����� I���L� � �+� =#�"�6 ��+�'�$6 '#�

�!� ,) �!��$8�$ ��+)����#� #��� js ∝ |ψ|2vs6 #� ! #�+ /� )� $��� +�-��#� js �-��&�#

)�-�/�#.  �!��( �&-76 '#� ���#!�#�#!&�# �#�&#�#!�7 =� ��� �!��� 
���+ �9 ���+6

+5 )� �,���+ � -���� ���!����+& & �!����7 H; �-$ ���# �)��"� �!� ,) �!������6

) � =#�+ +�"��#��� )�-� !�&# � �!� ,) �!������ +�/�� �'�#�#.  �!�5+ !��?��+&

)�-7C

−
(
∇− i

q∗

h̄c
A
)2

Ψ =
1

ξ2
Ψ, I0�AL

"�� q∗ � �� $� ����#�-�( #���6 rot A = H0z0�

<����-.�& �-��� ��"� ��#���#� $!-$�#�$ +���#���� !�� ��#�78�( �&��%��(

#�+)� �#& 5 ξ(T ) ∝ (1 − T/Tc0)
1/26 #� +����+�-.��( !��+�/��( #�+)� �#& �

���#!�#�#!&�# +����+�-.��$ �-��� ��"� ��#���#� �6 ���#!�#�#!����6 +���+�-.���

!��+�/��� ���'���� 1/ξ26 ��#� �� ��-/�� 95#. ��(���� ��  �?���$ ����'� ��

��9�#!���5� ���'���$ I0�AL� �#+�#�+6 '#� & �!����� I0�AL ��!)����# � & �!�����+

x ����"� � �-$ �!�9����( 9���)���!�( '��#�%5 ! +�"��#��+ )�-�6 ) � =#�+

)� �+�# )� $��� ψ(r) ���#!�#�#!&�# !�-��!�( �&��%�� '��#�%56 1/ξ2 �" ��#  �-.

)�-��( =�� "�� e@�f� 
���+ �9 ���+6 ����'� � !5'��-���� � �#�'����( #�+)� �#& 5

�4



�!� ,) �!������ =�!�!�-��#�� ����'� �9 ���-���!���� �!�(�#! ��������� ���#�$��$

'��#�%5 ! +�"��#��+ )�-�� <���9��$ ����'� �9 =�� "�#�'����+ �)��# � �!&+� ��"�

=-��# ����"� "���6 )�+�8����"� ! ������ ����� +�"��#��� )�-� I)�-� +�"��#��(

��#�#�'��L6  ���+�# ��� !  �9�#� e@�f�

��?���� ����'� � �)��# � =�� "�� '��#�%5 ! ���� ����+ +�"��#��+ )�-�

,� �?� ��!��#�� e@�fC E = h̄ω0(2n+1)/26 ω0 = |q|H0/Mc > %��-�# ����$ '��#�#�� �-$

�!� ,) �!������ 9������'�5,  ��+� �! =#� ���#!�#�#!&�# �-��&78�+& !5 �/���7

�-$ !� ,��"� � �#�'����"� )�-$ In = 0L

Hc2 =
Φ0

2πξ2
=

Φ0

2πξ2
0

(
1 − T

Tc0

)
.

1�-��!5� �&��%�� ����!��"� ���#�$��$ ��!��$# �# !59� � ��-�9 �!�� A� 
��

�-$ !��?��"� +�"��#��"� )�-$ H0 = H0z0 ! ��-�9 �!�� ;����& A = −H0yx0

+5 �+��+  �?���� ψ(r) = f(x) exp(ixkx)6 "�� kx �) ���-$�# ���& �� ��� ����#

%��# � �!����-����'����( � 9�#5 y0 = h̄ckx/(|q∗|H0)� �-��&�# ��+�#�#.6 '#�

=�� "�$ ����!��"� ���#�$��$ �� ��!���# �# y0 I!5 �/����� )� %��# �+ � 9�#L�

�-$ !5 �/����5, ����' !�-��!�$ �&��%�$ ����!��"� ���#�$��$ ��-/�� 95#.

-���(��( ��+9���%��(  �?���( �  ��-�'�5+� ���'���$+� kx eA�f� ��� +����!��"�

�!� ,) �!������6 #�� � �-$ #����( )-���� ! )� )�����&-$ ��+ )�-� ���#�$���+ �

+���+�-.��( =�� "��( $!-$�#�$ # �&"�-.��$  �?�#�� !�, �(6 ) �'�+ +�"��#�5(

)�#�� '� �� =-�+��#� �&7 $'�(�&  �!�� Φ0�

1  ����-.��( ��-�9 �!�� A = [H0 × r]/2 ����!�5+ ���#�$���+ $!-$�#�$

���#�$��� ψm(r) = fm(r) exp(imϕ) W �) ���-���5+ � 9�#�-.�5+ +�+��#�+ I��!�,>

 �����#.7L � !+��#� !5 �/����$ )� %��# �+ � 9�# �+��# +��#� !5 �/����� )�

� 9�#�-.�5+ +�+��#�+ m6 #� ��#. �-$ )�-�/�#�-.�5, )�-�( IH0 > 0L +���+�-.��(

=�� "��( �9-���7# !�� ���#�$��$ � m > 0G �-$ �# �%�#�-.�5, IH0 < 0L � ���#�$��$

� m < 0�

������ ������� �����'�
��� ��
� � �������� 
�
��	��	 � 
���������������


 ������'����� ����������

��� 95-� �#+�'���6 �-$ +����!�5, �!� ,) �!������! � #����, )-����

9�-.?�"�  ��+� � ! �#�&#�#!�� )�#��%��-� )�����"� !�, �!5+ ���#�$���+ �

���+��.?�( =�� "��( $!-$�#�$ # �&"�-.��$ !�, �!�$  �?�#��6 ���#�$8�$ ��

�����!��#�!5, !�, �(� 1 �!� ,) �!������, � !�&# ����( �# &�#& �( I��) �+� 6

! �-���#5, �!� ,) �!������, �-� ! �!� ,) �!������, � �����#�+�L +�"&#

!������#. 9�-�� �-�/�5� !�, �!5� �# &�#& 5 I!�, �!�$ /�����#.6 !�, �!�� �#��-�6

�/��������!���� !�, �L �  ��-�'�5�  �/�+5 )�����"� I��--��#�!�5( )�����"6

)�����" !�, �!5, �!$���L e�f�

�9�&��+ 9�-�� )�� �9�� ���9�����#� !�, �!�"� ���#�$��$ � #�+)� �#& �5�

��!���+��#� � �#�'����, )�-�( �-$ �����#�+)� �#& �5, ���# �)�5, �!� ,) �>

��



!������!� 
��"��!��#�!5� !�, �!5� ���#�$��$ +�"&# !������#. ! +��"��!$��5,

�!� ,) �!������,� ��(�#!�#�-.��6 %� �&-$%�$ " �����#� ���5 I�-&�����L )�

��+��&#�+& ���#& & Γ6 �,!�#5!�78�+& ���!� ,) �!��$8&7 �9-��#.6 +�/�# 95#.

�#-�'�� �# �&-$ ��>�� ��-�'�$ +�"��#��"� )�-$ !�&# � ���#& �C

φ =
∮
Γ

∇θ dl =
∮
Γ

8π2λ2

cΦ0

js
|ψ|2 dl +

∮
Γ

2π

Φ0

A dl = 2π m,

"�� m � ��!�, �����#.6 ��#� �$ =�!�!�-��#�� � 9�#�-.��+& +�+��#& �&)� �!���,

)� � ��+�#�+6 '#� �-$ -79�"� ��+��&#�"� ���#& � ! �����!$���+ �!� ,) �!������

m = 0� < � ��+������ !��?��"� )�-$ H0 +�/�# ) ���,���#. ��+������ �-&������

�6 ���#!�#�#!����6 )� ��# �(�� !�, �!�"� ���#�$��$G !59� ���� �#��"� ���'���$

m �) ���-$�#�$ &�-�!��+ =�� "�#�'����( !5"�����#� ���#!�#�#!&78�"� ���#�$��$�

���� �� )� !5, =��)� �+��#�-.�5, ��9-7����(  ��-���%�� +��"��!��#�!5,

���#�$��( ! #�����#����+ %�-��� � ! )� �--�-.��+ )�-� 95-� ) ���#�!-��� !

=��)� �+��#� ;�##-�*<� ��� e@06 @4f� ��+������ m ) � ��+������ H0 ) �!���-�

� +�������%�� #�+)� �#& ��( ��!���+��#� Hc2(T ) I�-� Tc(H0)LC �� =#�, � �!5,

!������-� ��-�+5 I���'�� ) ���!���5,L6 ��#� 5� �#�&#�#!�!�-� �-$ �����!$��5,

�!� ,) �!������!� <������ )���9�5� ��%�--$%�� #�+)� �#& 5 95-� �9�� &/��5

�-$ )� �� � �!���5, #����, �!� ,) �!��$8�, )-���� e@�6 @A6 @Bf � +��"��!$��5,

+������)�'����, �!� ,) �!������! e@�f� 
��"��!��#�!5� !�, �!5� ���#�$��$ �-$

�!� ,) �!��$?�"� %�-��� � � ) ���!�-.�5+� ���'���$+� κ  ���+�# ��5 !  �9�#�,

e@@6 @2f� ��!���+��#. '��-� ��,!�'���5, )�-��#.7 !�, �( I+����+�-.�� !��+�/��$

��!�, �����#.L �#  ��+� � )�-��#� ) ���#�!-��� !  �9�#� e2�f�

��-�'�� !��?��( " ���%5 ! �����!$���+ �!� ,) �!������ #��/� �)���9��

) �!��#� � ��+�����7 !� ,��"� � �#�'����"� )�-$ � ) ��# ���#!����( �# &�#& 5

!�, �!5, ���#�$��(� ��(�#!�#�-.��6 " ���'�5� &�-�!�$ +�"&# ��$#. !5 �/����� )�

%��# �+ � 9�# � ) �!��#� � ��)�-��#�-.��+& )���/���7 =�� "�� -���-���!����"�

���#�$��$ I� �)#�+�-.�5+ kxL� 1 =#�+ �-&'�� �!� ,) �!���+��#. ! ) �)�>

!� ,���#��+ �-�� #�-8���( ∼ ξ +�/�# ��, ��$#.�$ �� )�-�( Hc36 9ó-.?�,
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#�+)� �#& 5� 3#� �!$���� � #�+6 '#� ! =#�,  �9�#�,  ���+�# �!�7#�$ -�9�

+������)�'����� �����  ���&�� Rd I) � =#�+ ����� �!��� �#��?���� Rd/ξ e��6 �0fL6

-�9� �!� ,) �!��$8�$ )-���� 9�-.?�"�  ��+� � � !��� ����( ! ��� +�"��#��(

'��#�%�(  ���&�� R I) � =#�+ ����� �!��� �-� #�+)� �#& � e�4f6 �-� �#��?����

R/ξ e��fL� ��+�#�+6 '#� !� !��, &)�+$�&#5,  �9�#�, &'�#5!��#�$ ��!+��#��� !-�$���

��� ������ �����#� +�"��#��"� )�-$6 #�� � " ���'�5, =����#�!6 !  ��&-.#�#�

'�"� �-�/�� �#��-�#. !-�$��� ��  �+�"��#��� �� �!� ,) �!��$8�� �!�(�#!�

�9 ��%�! �# +������)�'����, =����#�!� :5-� �#+�'���6 '#� �-$  ���+�# �!��+5,

���#�+ ,� ��#� ��  ��-���%�$ =���#�'����, !�, �!5, ���#�$��(C +��"��!��#�!5,

I"�"��#���,L !�, �( � m �= 1 � +��"�!�, �!5, ���#�$��( I-���(��( ��+9���%��

+��"��!��#�!5, !�, �( �  ���5+� mL� :5-� )�������6 '#� !� ,��� � �#�'����� )�-�

Hc3 #���, ���#�+ ) �!5?��# )�-� Hc2 � )���!-���$ �9h�+��( �!� ,) �!���+��#� !

���� ����+ )�-�� �-$ �)�����$ ������ ����"� +�"��#��"� )�-$6 ,� ��#� ��"� �-$

MNO ���#�+6 !  �9�#�, e��6 �06 ��f  ���+�# ��� �����-.�� +���-.�5,  ��) ���-���(

Bz(r)6 �9��)�'�!�78�, �&-�!�( )�-�5( )�#��C �&��'�� ���� �����  ��) ���-���� �

�!&+$ �#&)��.��+�6 )�-� !�#�� � #���+ � )�-� +�"��#��( '��#�%5�

���9�-�� 9-����(  �9�#�( � #�+� �����"�  ����-� �-��&�# �'�#�#.  �9�#& e�04f6 !

��#� �( ��&'��5 ���9�����#� !�, �!�"� ���#�$��$ ! #����( �!� ,) �!��$8�( )-����

9�-.?�"�  ��+� � ! )�-� +�"��#��"� ��)�-$6 � ���#� �!����"� )� )�����&-$ ��

)-����� �� ����!� '��-����"�  �?���$ )�-��( ��-���(��( ���#�+5 & �!����(

H; ) � H0 = 06 �!#� 5 ��&'�-� ���9�����#� ����!�( ���" �++5 m0 − R6

"�� m0 � ��)�-.�5( +�+��# '��#�%56 R �  ���&� '��#�%5� <�������6 '#�

!�, �!5� �����"& �%��6 ���#!�#�#!&78�� ����!��+& ���#�$��76 +�"&# �+�#.

�-��&78&7 �-�/�&7 �# &�#& &C ! %��# � )�� +�"��#��( '��#�%�(  ��)�-�"��#�$

+��"��!��#�!5( !�, . � ��!�, �����#.7 m6 !�� &" ��#� �"�  ��)�-�"�7#�$ m

��#�!�, �(6 �" &))� �!���5, ! �����-.�� ���%��# �'����, ��-�%� �#+�'���6 '#�

) � m0 → 0 ����!�5+ ���#�$���+ $!-$�#�$ 9��!�, �!�� I+�(���� �!����L ���#�$���

� m = 0� < � &!�-�'���� m0 IR = constL �+�?����� ���#�$��� ! )-���� �� +� &�#�$

)&#�+  �/����$ )� 5 !�, .*��#�!�, . �� � �7 +�"��#��"� ����� � )��-��&78�"�

�,  ��8�)-���$� < ��)�-�/���� H0 = 0 �� )��!�-�-� ���-���!�#. �!#� �+ �����(

 �9�#5 ���-���!�#. )�-�!&7 ��!���+��#. � �#�'����( #�+)� �#& 5�

��-�� ! ���#�$8�( ����� #�%�� �-$ )���9��( ���#�+5 I#����$ �!� ,) �!��$8�$

)-���� ! )�-� +�"��#��( '��#�%5L 9&��# ���-�#�'���� � '��-���� ���-���!��5

,� ��#� ��#��� !�, �!5, �# &�#& ! �!&, ) ���-.�5, �-&'�$,C

> �-$ ��-.�5, +�"��#�5, )�-�(6 ��"�� +�/�� )� �(#� �  �?���7 -���� ���!��>

�@



��"� & �!����$ H; � ���-���!�#. ���9�����#� )� �,��� )-���� �� �� +�-.��"�

���#�$��$ ! �+�?����� ���#�$��� � )�-&'�#. ��!���+��#. Tc(H0) I ����- 0�0LG

> �-$ �-�95, +�"��#�5, )�-�(6 ��"�� +�/�� )� �(#� �  �?���7 -���(�5,

& �!����( ;������! � ���-���!�#. ���9�����#� )� �,��� )-���� �� +�(����>

 �!���"� ���#�$��$ ! �+�?����� ���#�$��� I ����- 0�4L�

4343 �(�#5,#�(�')/�) ,����� ( ,���  �7�&���7� '&,��)

($�&+& �&�&& <�+�(�7� ,�#�5�'�

�(�#5,#�(�'�&�8��# ����!0  �����

������ &�
�������  ���'�


�)� . )� �(��+ � ��&'���7 ���9�����#�( -���( ����!�"� )� �,��� Tc(H0) !

"�9 ���5, MNO �# &�#& �,6 ���#�$8�, �� �!� ,) �!��$8�( )-���� � +�"��#��(

'��#�%56 ��,��$8�(�$ �# )-���� �� ����'��+  ���#�$��� †� <&�#. )� �,��

)-���� ! �!� ,) �!��$8�� ���#�$��� ) ���,���# ) � ��-�'�� ������ ����"�

+�"��#��"� )�-$ I{RYw WnnYRw XUnWR\\L� 
5 9&��+ ) ��)�-�"�#.6 '#� ��+�"��'�����#.

��  �+�"��#��( '��#�%5 �� ��!���# �� !��?��"� +�"��#��"� )�-$ ‡6 �� �#

���#�$��$ �!� ,) �!��$8�( )-����� ��+�#�+6 '#� � �#�'����� )�-�  �� &?���$

�!� ,) �!��$8�"� ���#�$��$ ! #����( )-���� #�-8��5 ds ! )� �--�-.��+

)�-� Hc2,‖ ∼ Φ0/(dsξ) ���'�#�-.�� ) �!5?��# � �#�'����� )�-�  �� &?���$

�!� ,) �!���+��#� ! )� )�����&-$ ��+ )�-� Hc2,⊥ ∼ Φ0/ξ
2C Hc2,‖/Hc2,⊥ ∼ ξ/ds � 1

I�+�6 ��) �+� 6 e�0�fL� 3#� &�-�!�� +�/�# 95#. -�"�� !5)�-���� ) � !5����,

#�+)� �#& �,6 (Tc0 − T )/Tc0 � 16 )����-.�& ξ(T ) → ∞ ) � T → Tc0� �'�#5!�$

������ �9�#�$#�-.�#!�6 +�/�� ) ���9 �'. ��-�'��+ Br � Bϕ ��+)����# )�-��"�

+�"��#��"� )�-$6 �  ���+�# �!�#. )-���& ! ������ ����+ )�-� Bz(r, ϕ)� 
5 !!���+

%�-��� �'���&7 ���#�+& ��� ����# (r, ϕ, z) � ��'�-�+ �� )�!� ,���#� )-���� )��

+�"��#��( '��#�%�(6 ��. z !59 ��� )� �� +�-� � )-�����

<&�#. ������ ����� )�-� �9-����# �����-.��( ��++�# ��(6 #� ��#. Bz = Bz(r)�

159� �+  ����-.�&7 ��-�9 �!�& !��#� ��"� )�#��%��-�
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Aϕ(r) = H0r/2 + aϕ(r). I0�BL

:&��+ ����#.  �?���� -���� ���!����"� & �!����$ H; I0�AL ! !��� ψm(r, ϕ) =

fm(r) exp(imϕ)6 ) � =#�+ fm(r) &��!-�#!� $�# �-��&78�+& & �!����7

−1

r

d

dr

(
r
dfm

dr

)
+

(
2π

Φ0
Aϕ(r) − m

r

)2

fm =
1

ξ2(T )
fm, I0��L

� �!����� I0��L �+��# ��# �!��-.�5�  �?���$ #�-.�� �-$ ���� �#��"� ��9� �

#�+)� �#& Tn(H0)� <�� � �#�'����( #�+)� �#& �( �!� ,) �!��$8�( )-���� !

������ ����+ +�"��#��+ )�-� Tc +5 9&��+ )���+�#. +����+�-.�&7 #�+)� �#& &6

) � ��#� �( ! )-���� �&8��#!&�# 9������'�� +�-5( �!� ,) �!��$8�( �� ��5?C

Tc(H0) = max{Tn(H0)}� ��-�'�� ������ ����( ��+)����#5 )�-$ ��-/�� ) �!���#.

� ��$#�7 !5 �/����$ )� � 9�#�-.�5+ +�+��#�+ m6 ) � ��� ��#� �( )�� �9��

�)����� !  ����-� 0���4� <� ���'���� #� +�! Em(H0) 9&��# ���#!�#�#!�!�#. ��-�+�+

�� )�-�!�( ��!���+��#� � �#�'����( #�+)� �#& 5 )-���� Tc(H0)� �#+�#�+6 '#�

�-$  ���+�# �!��+�( ���#�+5 ���#�$���+ � +���+�-.��( =�� "��( +�/�# 95#.

�� # �&"�-.��$  �?�#�� !�, �(6 � +��"��!��#�!�� !�, �!�� ���#�$��� I��� !

+������)�'����, �9 ��%�,L6 �-$ ��#� �"� ��!�, �����#. m 9&��# ��+��$#.�$ ) �

��+������ !��?��"� )�-$ H0� <� �&#� ��-� �)��5!��+5( =����# $!-$�#�$ ���-�"�+

=����#� ;�##-�*<� ���6 ��#� 5( ��9-7��-�$  ���� #�-.�� �-$ +������)�'����, �

+��"��!$��5, �!� ,) �!��$8�, �9 ��%�! I�+�  ����- 0���4L�

��-�� +5  ���+�# �+ �����-.�� +���-.�5,  ��) ���-���( Bz(r) I ����-.��$

�#&)��.�� �  ����- 0�0�06 ) ���!�-.��� )-�!���  ��) ���-���� �  ����- 0�0�46 )�-�

+�"��#��"� ��)�-$ � 0�0��L �  ���'�#��+ ! ��/��+ �-&'�� )�-�!&7 ��!���+��#.

Tc(H0) � ) ��# ���#!���&7 �# &�#& & !�, �!5,  �?���(�

������ ��������� ��������� ���	��� � 
�
"�� ������������ ���������

��
� Bz(r)

1 ��'��#!� ) ��#�(?�( +���-.��( ����'� � �# &�#& � !�, �!�"�  �?���$ !

������ ����+ +�"��#��+ )�-�6 ��)&���78�( ���-�#�'�����  �?����6  ���+�# �+

����'& � �)��# � =�� "�� '��#�%5 ! �&��'�� ���� ����+ )�-� �-��&78�"� !���C

Bz(r) =

{
B0 +H0;

H0;

r < R0

r > R0
I0�@L


����  ��) ���-���� I ��� �L ) �9-�/���� �)��5!��# +�"��#��� )�-� !9-���

� &"-�"� ��+��� I�-� +�"��#��"� %�-��� �L  ���&�� R0 ! #�-�#�( ��  �+�"��#��(

)-���� #�-8��5 df ) � &�-�!��6 '#� df ���'�#�-.�� ) �!5?��# � �����  ���#�$���

+�/�& #���+� ��+���+�� 	�-�  ���&� -���-���%�� !�-��!�( �&��%�� !9-���

A�



��+����( �#���� 9&��# +��.?�6 '�+ +�/��+�����  ���#�$���6 #�"�� +�/��

!���+���(�#!��+ �� ��5?�(6 -���-���!���5, ��  ��-�'�5, ��+���,� <���9��$

����'�6 &'�#5!�78�$ !���+���(�#!�� �� ��5?�( ! ����+� ��( ��+����( �# &�#& �6

 ���+�# ��� !  �9�#� e��f�

�) ���-�+ !��#� �5( )�#��%��- �-��&78�+ �9 ���+C

Aϕ(r) =

{
(B0 +H0)r/2;

H0r/2 +B0R
2
0/(2r);

r < R0

r > R0

:&��+ ����#.  �?���� & �!����( H; ! !��� ψ = fm(ρ) exp(imϕ)6 "�� ρ = r/R0 �

fm(ρ) =

{
f (1)

m (ρ);

f
(2)
m (ρ);

ρ < 1

ρ > 1

1 ��/��( �9-��#�  �?���� +�/�# 95#. !5 �/��� '� �� !5 �/����5� "�)� "��>

+�# �'����� �&��%�� I�&��%�� �&++� �L M(a, b, z) � U(a, b, z) †� ��?���$ !�

!�&# ����( � !��?��( �9-��#$, �+�7# �-��&78�( !��

f1(ρ) =
[
A1M(a1, b1, Nf |1 + h|ρ2) + A2U(a1, b1, Nf |1 + h|ρ2)

]
×

×
(
Nf |1 + h|ρ2

)|m|/2
exp(−Nf |1 + h|ρ2/2),

f2(ρ) =
[
B1M(a2, b2, Nf |h|ρ2) +B2U(a1, b1, Nf |h|ρ2)

]
×

×
(
Nf |h|ρ2

)|m2|/2
exp(−Nf |h|ρ2/2),

"�� h = H0/B0 � 9�� ��+� ��� +�"��#��� )�-�6 )� �+�# Nf = πB0R
2
0/Φ0

,� ��#� ��&�# '��-� �!��#�! )�#��� '� �� �� &/���#.  ���&�� R0 ! �#�&#�#!��

!��?��"� )�-$G m2 = m−Nf 6 b1 = |m| + 16 b2 = |m2| + 16

a1 = −β1 +
|m| + 1

2
= − ε

4Nf |1 + h| +
|m| −m sgn(1 + h) + 1

2
, I0�2L

a2 = −β2 +
|m2| + 1

2
= − ε

4Nf |h| +
|m2| −m2 sgn(h) + 1

2
, I0���L

ε =
R2

0

ξ2
0

(
1 − T

Tc0

)
. I0���L

����!��#�5� ����#��#5 A16 A26 B16 B2 ��-/�5 95#. �) ���-��5 �� &�-�!�$

��) � 5!���#� �&��%�� f(ρ) � �� )� !�( ) ���!����( ) � ρ = 1 � ��

&�-�!�$ ��#�" � &�+��#� I�" ���'�����#�L !�-��!�( �&��%�� )� !��+ ) ��# ���#!�C

† 7������ E�����
 M(a, b, z) � U(a, b, z) #$.+% ����(��� ������
 ���
�������� ���������

���)�(1��
 )���������
���
�
 ��
������

z
d2f

dz2
+ (b− z)

df

dz
− af = 0.

A�
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f1(ρ→ 0) = const ρ|m|G f2(ρ → ∞) = 0� ���-��&$ ���+)#�#�'����� )�!������

M(a, b, z) � U(a, b, z)C M(a, b, z → 0) = 16 M(a, b, z → ∞) ∝ ezza−b � U(a, b, z → 0) ∝
z1−b6 U(a, b, z → ∞) ∝ z−a6 ) �,���+ � !5!��&6 '#� A2 = 0 � B1 = 0� �?�!�$  �?���$

f1(ρ) � f2(ρ) !+��#� � )� !5+� ) ���!���5+� ) � ρ = 1 � )�-�"�$ Nf �= 06 )�-&'��+

&�-�!�$ �-$ �) ���-���$ �)��# � =�� "�(C

|h||m−Nf |/2 · |1 + h||m|/2 = 0,

M(a1, b1, Nf |1 + h|) · U(a2, b2, Nf |h|) ·
(
|1 + h| − |h| + |m−Nf |

Nf
− |m|
Nf

)
−

−2a2|h|M(a1, b1, Nf |1 + h|) · U(a2 + 1, b2 + 1, Nf |h|) −
−2

a1

b1
|1 + h|M(a1 + 1, b1 + 1, Nf |1 + h|) · U(a2, b2, Nf |h|) = 0. I0��0L

��?�$ & �!����� I0��0L6 ��,���+ �)��#  �� �?���5, ���'���( =�� "�� ε(h,m)

�-� -���7 ����!�"� )� �,��� Tc(H0)� ���&-.#�#5 )���9��"�  ��'�#� �-$ Nf = 4

) ���#�!-��5 ��  ��� @� �#+�#�+6 '#� #�� �$ ) ������5!��# ��%�--$%��

� �#�'����( #�+)� �#& 5 ) � ��+������ !��?��"� )�-$ H06 ��) �!�/��78���$

���'���9 ���5+� ��+�����$+� !�, �!�( �# &�#& 5�

;�"�� )�-&'�#. ���+)#�#�'����� !5 �/���$ �-$ Tc(H0) ) � |h| = |H0/B0| � 1�

��(�#!�#�-.��6 ) � =#�+ &�-�!�� �#�&#�#!&7# #�'��6 "�� +�"��#��� )�-� �9 �8��#�$

! �&-.6 Bz(r) �= 06 )�=#�+& -���-���!���5( �!� ,) �!��$8�( �� ��5? W ,� ��#� ��(

?� ���( LH ∝ 1/
√
H0 � R0 9&��# �9 ���!5!�#.�$ ! �9-��#� � +���+�-.�5+

���'����+ |Bz(r)|� �-$ 9�-.?�, �# �%�#�-.�5, )�-�(6 #� ��#. ) � h < 0 �

|h| � 16 =#� ���#!�#�#!&�# #�+&6 '#� �� ��5? 9&��# ��,���#.�$ ! %��# � �����6 !

�!������� ����+ )�-� Bmin = |H0 + B0| = B0|h + 1|6 ) � =#�+ m = 0� <���#�!-$$

! !5 �/���� I0�2L m = 0 � �'�#�$ a1 = 0 I��� ! ���� ����+ )�-�L6 )�-&'��+

ε = 2Nf |1 + h|6 '#� ���#!�#�#!&�#

(
1 − Tc

Tc0

)
=

2πξ2
0

Φ0

|H0 +B0|, |H0| � B0, H0 < 0.

�-$ 9�-.?�, )�-�/�#�-.�5, )�-�( �� ��5? 9&��# �9 ���!5!�#.�$ �� 9�-.?�+
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 ���#�$��� �# +�"��#��"� ����� Ir/R0 � 1L6 '#� ���#!�#�#!&�# m → ∞� ����&/��$

���-�"�'��6 �� &�-�!�$ a2 = 0 )�-&'��+ ε = 2Nf |h|6 '#� ���#!�#�#!&�#

(
1 − Tc

Tc0

)
=

2πξ2
0

Φ0
H0, H0 � B0, H0 > 0.

��+�#�+ #��/�6 '#� ! �-&'�� |h| → ∞ ��-/�� !���#���!-�!�#.�$ !5 �/����� )�

� 9�#�-.��+& +�+��#&6 #� ��#. �-$ h < 0C ε(h, 0) � ε(h,m < 0) � �-$ h > 0C

ε(h, 0) � ε(h,m > 0)� � �+� =#�"�6 ) � |h| � 1 #��/� �+��# +��#� !5 �/������ 3#�

���'�#6 '#� ) � |H0| � B0 � |H0| � B0 �-$ ���-��� ) ��# ���#!����( �# &�#& 5

�+�?����"� ���#�$��$ �� -���� Tc(H0) ��-.�$ )�-.��!�#.�$ -���(��( #�� ��( �

���9,���+�  �?�#. ��-���(�&7 ����'&C +���+��� �!�#. �&��%����- �!�9����(

=�� "�� �� �-����  �?���(6 ) ���#�!-$78�, ��9�( -���(�&7 ��+9���%�7 ���#�$��(

� �) ���-���5+� � 9�#�-.�5+� +�+��#�+��

�-��&�# ��+�#�#.6 '#� ���9�-�� ��-.�5� ��%�--$%�� Tc(H0) �+�7# +��#�

) � −1 ≤ h < 0� ������ ! �'��. �-�9�+ )�-� �� &?��#�$ &�-�!�� ��-.��(

-���-���%�� �� ��5?� I#� ��#. ,� ��#� �5(  ��+� LH ∝ 1/
√
H0 → ∞L6 ��#� ��

)��!�-�-� ��+ ��)�-.��!�#. ) �9-�/����� �#&)��.���9 �����  ��) ���-����
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&�-�!��+ ) �+���+��#. ���#�$8�"� )��,��� �-$ �)�����$ )�-�!�( ��!���+��#�

 ��-.�5, )-��� �5, "�9 ���5, MNO ���#�+ � ��+����( �# &�#& �( $!-$�#�$ &�-�!��

Nf � 1� <�-&'����� ��+� ���-�#�'�����  �?���� ����'� �� ��9�#!���5� !�-��!5�

�&��%�� ψ(r) � ��9�#!���5� ���'���$ ε(h,m) =�� "�� #��/� ��)�-.��!�-��. !

��'��#!� #��#�!�( ����'� ) � �#-���� �,�+5 �-$ '��-����"�  �?���$ �#�%���� ��"�

& �!����$ H; I ����- 0�0��L�

��  ��� 2 ) ���#�!-��� ��!���+��#. � 9�#�-.��"� +�+��#� m �# !��?��"�

+�"��#��"� )�-$ H06 � �# )� �+�# � +�"��#��( '��#�%5 Nf � < � =#�+ � �#�'����$

#�+)� �#& 5  �/����$ ���#!�#�#!&78�"� �� ��5?� +�/�# 95#. ��(���� �� &�-�!�$

Hc3(Tc) = H0 ��"-���� & �!����7 I0��0L� 
��6 ��) �+� 6 ) � Nf < 1.7 ) � -795,

+�"��#�5, )�-$, ����!�5+ ���#�$���+ $!-$�#�$ 9��!�, �!�� ���#�$��� � m = 0G
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�!� ������������

��������� ��
� Bz(r)

1 =#�+  ����-�  ���+�# �+ ����'& � �� +� �!���� �!� ,) �!��$8�"� �� ��5?�

! �����-.�� ��++�# �'��� +�"��#��� )�-�6 ��#� �� ) ��)�-�"��#�$ ���#�#�'��

)-�!�5+ I� �#� �( 9&��# &����� ��/�L� 1 ��-& ��++�# �� !��#� ��"� )�#��%��-�

Aϕ(r)6 �)��5!��+�"� !5 �/����+ I0�BL6 9&��+ ����#.  �?���� & �!����( H; ! !���

���#�$��$ � �) ���-���5+ � 9�#�-.�5+ +�+��#�+ mC

ψm(r) =
gm(r)√

r
eimϕ.


���$ ��+��� )��!�-$�# )� �(#� � & �!����7 !���

−d
2gm

dr2
+ U(r)gm =

1

ξ2
gm, I0��4L

U(r) =
(Φ(r)/Φ0 −m)2

r2
− 1

4r2
,

"�� Φ(r) = 2πrAϕ(r) � )�-�5( +�"��#�5( )�#�� '� �� �� &/���#.  ���&�� r�


�/�� �/���#.6 '#� �� ��5? 9&��# -���-���!�� !9-��� #�'�� r06 "�� )�-��� )�-�

Bz(r0) = 0� < ��)�-�"�$6 '#� +�"��#��� )�-� +��-���� +��$�#�$ ! �� ��#���#� #�'��

r06  ��-�/�+ )�#��%��- U(r) !  $� )� �#�)��$+ (r − r0)C

Φ(r)

Φ0
−m �

(
Φ(r0)

Φ0
−m

)
+
πr0B

′
z(r0)

Φ0
(r − r0)

2 = A+ C(r − r0)
2.


����  ��-�/���� �) �!��-�!�6 ��-�

∣∣∣∣∣B
′′
z (r0)

B′
z(r0)

�

∣∣∣∣∣ � 1, I0���L

AA



"�� � � ,� ��#� �5(  ��+� �!� ,) �!��$8�"� �� ��5?�� 1!���+ ��!&7 ��� ����#&

t = (r − r0)/� � )� �(��+ � & �!����7 �-��&78�"� !���

−d
2gm

dt2
+ �2U(t)gm =

�2

ξ2
gm. I0��AL

���-�/�+ )�#��%��- �2U(t) !  $� )� �#�)��$+ t

�2U(t) � a0 + a1t+ a2t
2 + a3t

3 + a4t
4 + a5t

5 + ...

a0 =
1

4

�2

r2
0

(−1 + 4A2),

a1 = −1

2

�3

r3
0

(−1 + 4A2),

a2 =
1

4

�4

r4
0

(−3 + 12A2 + 8ACr2
0),

a3 = − �
5

r5
0

(−1 + 4A2 + 4ACr2
0),

a4 =
1

4

�6

r6
0

(−5 + 20A2 + 24ACr2
0 + 4C2r2

0),

a5 = −1

2

�7

r7
0

(−3 + 12A2 + 16ACr2
0 + 4C2r2

0).

��+�#�+6 '#� ��=���%���#5  ��-�/���$ )�)� �� �+�7# �������!&7 �# &�#& &�

�'�#5!�$6 '#� 9�� ��+� ��$ ��� ����#� t �+��# ,� ��#� �5� ���'���$ )� $���

�����%56 ��+�#�+6 '#� |a1/a0| ∼ �/r0 � 16 |a3/a2| ∼ �/r0 � 1 � |a5/a4| ∼ �/r0 � 16

)�=#�+& +5 +�/�+ ) ���9 �'. ��'�#�5+ �#�)��$+�  ��-�/���$ )� � �!����7 �

) ��?��#!&78�+� '�#�5+� �-�"��+5+� ) � &�-�!��

�

r0
� 1 I0��BL

< ��)�-�/�+ #��/�6 '#� �) �!��-�!5 �-��&78�� �� �!���#!� 1 � 4A2 �

|A| � |C|r2
0G =#� &�-�!�$ ���#!�#�#!&7# #�+&6 '#� +�"��#�5( )�#�� '� �� �� &/���#.

Bz(r0) = 0 ���'�#�-.�� ) �!��,���# �!��# +�"��#��"� )�#��� Φ0 †� 1 &������5,

) ��)�-�/���$, )�-&'��+

�2U(t) � �2

r2
0

A2 + 2
�4

r4
0

ACr2
0t

2 +
�6

r6
0

C2t4.

159� �+ )� �+�# �9�� ��+� �!���$ � #���+ �9 ���+6 '#�95 ��=���%���# ) �

�#� ?�( �#�)��� 95-  �!�� �����%�C

† �
��� ,� �
�)��� .&.&C-  �)�� 	��)��
����� �������
�� �������
�
 ������� ��
������ ,.&$@-

� 	
�� �
�����
�
 )�	
�� �  �)�� 	
�
�
�
! ��
 �)��
���� )
	�1���� �	
��� 
	�
�)
��! ����

Nf � 1&

AB



−3 −2 −1 0 1 2 3
0

5

10

Q

E

���� ��� K	���� :������ �
)����
� �
)
�� E(Q)&

� = 3

√
r0
|C| = 3

√
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;�"�� !���#.6 '#� �-$ #���"� !59� � � & �!����� I0��AL )� �,���# ! & �!�����

x ����"� � �-$ '��#�%5 ! 9��!�� �#�'����+ )�#��%��-�

−d
2gm

dt2
+ (t2 −Q)2gm = Egm, I0���L

"�� ��9�#!����$ =�� "�$ E ��!���# #�-.�� �# 9�� ��+� ��"� )� �+�# � Q

E =
�2

ξ2
0

(
1 − T

Tc0

)
, Q = − A

C�2
= −

(
Φ(r0)

Φ0
−m

)
3

√
Φ0

πr3
0B

′
z(r0)

.I0��@L

H ���� ��!���+��#� E(Q) �-$ +���-.��"� & �!����$ I0���L ) �!���� ��  ��� ��6 �-$

�����( ��!���+��#� �&8��#!&�# #�-.�� ���� +���+&+ =�� "�� E = Emin � 0.904 ) �

Q � 0.437�


���+ �9 ���+6 +�/�� )�-&'�#. �98�� !5 �/����6 �)��5!�78�� ��!���+��#.

Tc(H0) �-$ �!� ,) �!��$8�( )-���� ! �����-.�� ��++�# �'��+ )�-� ) ���!�-.��"�

!���� �-$ ��/��"� ����� �!����"� ���'���$ H06 � ���#!�#�#!����6 ��!��#��"�

���'���$ r0 = r0(H0)6 � �#�'����$ #�+)� �#& � Tc +�/�# 95#. �) ���-���

+���+���%��( �&��%�� E(Q) ���#!�#�#!&78�+ !59� �+ � 9�#�-.��"� +�+��#� m

1 − Tc

Tc0
=
ξ2
0

�2

[
min

m
E

(
−
(

Φ(r0)

Φ0
−m

)
3

√
Φ0

πr3
0B

′
z(r0)

)
+O

(
�2

r2
0

)]
. I0��2L

	�-�  ��-.�5( ) ���-. +�"��#��"� )�-$ �+��# �����-.�� �&-�(6 #� ���9,���+�

� �!��!�#. � �#�'����� #�+)� �#& 5 Tc6 �)��5!��+5� !5 �/����+ I0��2L6 �-$

��/��"� -���-���!����"� �� ��5?�� ��?���$ & �!����$ I0��2L �-$ �!� ,) �!��$>
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;�"�� !���#.6 '#� ) � &!�-�'���� )� �+�# � Nf 6 #� ��#. ) � &!�-�'���� ��)�-.��"�

+�+��#� m0 �-� &+��.?���� !5��#5 a06 ) �9-�/���5( ���-�#�'����( )��,�� !��

#�'��� �)��5!��# ��#���&7 ��!���+��#. Tc(H0)6 )�-&'���&7 '��-���5+  �?����+

I0��L�

����!��(  ��&-.#�# �����"�  ����-� +�/�� ��� +&-� �!�#. �-��&78�+

�9 ���+C ��+��$$ !�-�'��& !��?��"� +�"��#��"� )�-$6 +5 +�/�+ &) �!-$#.

)�-�/����+ �!� ,) �!��$8�"� ����-� ! #����, )-����,6 )�+�8���5, ! ������ �����

+�"��#��� )�-�� ��(�#!�#�-.��6 ) � ��+������ !��?��"� )�-$ H0 ) ���,���#

�+�8���� #�'�� r06 ! ��#� �( )�-��� )�-� �9 �8��#�$ ! �&-.6 )�=#�+& ) ���,���#

��+������ +�"��#��"� )�#��� '� �� ���#& Bz(r0) = 06 ��#� �� ��) �!�/���#�$

��+������+ � 9�#�-.��"� +�+��#� �&)� �!���, )� � =�� "�� ����!��"� ���#�$��$

I� �#�'����( #�+)� �#& 5 )-����L�

������ /�����������  �����0�� � ��
� ���������� ����
	

����+�# �+ �-&'�(6 ��"�� ������ ����� +�"��#��� )�-� ������#�$ #�'�'�5+

+�"��#�5+ ��)�-�+ � ��)�-.�5+ +�+��#�+ m0 = m0z06  ��)�-�/���5+ �� !5��#�

a0 �# �!� ,) �!��$8�( )-����� 
���� ) �9-�/���� �) �!��-�!�6 ��-� ,� ��#� �5(

 ��+� +�"��#��( '��#�%5 dm +�- )� � �!����7 � ,� ��#� �5+� +��?#�9�+�

����'�6 dm � a0� 
�"��#��� )�-� � !��#� �5( )�#��%��- +�"��#��"� ��)�-$

! %�-��� �'����( ���#�+� ��� ����# (r, ϕ, z) +�"&# 95#. ��)����5 �-��&78�+

�9 ���+

bz(r) =
m0(2a

2
0 − r2)

(r2 + a2
0)

5/2
, aϕ(r) =

m0r

(r2 + a2
0)

3/2
.

��)�?�+ & �!����� H; ! 9�� ��+� ��+ !���

−1

ρ

d

dρ

(
ρ
dfm

dρ

)
+

[
3
√

3

2
Nf

(
H0

B0

ρ+
ρ

(1 + ρ2)3/2

)
− m

ρ

]2

fm =

=
a2

0

ξ2
0

(
1 − Tc

Tc0

)
fm, I0�0�L

"�� ρ = r/a06 Nf = 4πm0/(3
√

3a0Φ0) � '��-� �!��#�! +�"��#��"� )�#��� '� ��

�� &/���#. Bz(r0) = 0 ) � H0 = 06 B0 = 2m0/a
3
0 � +����+&+ z−��+)����#5

)�-$6 �����!��+�"� ��)�-�+ �� )�!� ,���#� �!� ,) �!��$8�( )-����� ��-�� +5

9&��+ �'�#�#.6 '#� H0 �= 0 �6 ���#!�#�#!����6 �� 9�-.?�,  ���#�$��$, �# '��#�%5

!��#� �5( )�#��%��- $!-$�#�$ -���(��  ��#&8�( �&��%��(� 1 =#�+ �-&'�� !��"��

�&8��#!&�# -���-���!���5( �!� ,) �!��$8�( �� ��5?� �-$ ���-���!���$ !�, �!�(

�# &�#& 5 ) � H0 = 0 ���9,���+�  �?�#. ��-���(�&7 ����'& I�+� e�04fL�

�9�&��+ ���+)#�#��� Tc(H0) �-$ �����"�  ��) ���-���$ bz(r) ) � |H0/B0| � 1�

�-$ +�"��#��"� ��)�-$ +����+�-.��� )�-� Bmax = B0G +���+�-.��� )�-�
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Bmin = −B0/(25
√

5) � −0.018B0� ����&/��$ #��/�6 ��� !  ����-� 0�0�06 )�-&'��+

���+)#�#�'����� !5 �/���$

(
1 − Tc

Tc0

)
=

2πξ2
0

Φ0
|H0 +Bmax|, |H0| � B0, H0 < 0,

(
1 − Tc

Tc0

)
=

2πξ2
0

Φ0

|H0 +Bmin|, H0 � B0, H0 > 0.

�#+�#�+ ��-�'�� �&8��#!����( ���++�# �� Tc(H0) �= Tc(−H0) -���� ����!�"�

)� �,���6 ��#� �$ �!$���� � #�+6 |Bmax| � |Bmin|� ��� �-���#!��6 ��%�--$%�� Tc(H0)

9�-�� !5 �/��5 ) �H0 < 06 ��"�� !��?��� )�-� ��+)���� &�# )�-�/�#�-.�&7 '��#.

)�-$ ��)�-$� ��-�'��#!� ��%�--$%�( Tc(H0) #��/� ��!���# �# )� �+�# � Nf �

�-$ '��-����"�  �?���$ & �!����$ I0�0�L6 )��!�-$78�"� ���-���!�#. �# &�#& &

!�, �!5,  �?���( |ψm(r)| � )�-�!&7 ��!���+��#. � �#�'����( #�+)� �#& 5

Tc(H0) �-$ ����� �!����"� ���'���$ Nf 6 ��)�-.��!�-��.  �����#��$ �,�+� �

)��-��&78�( ���"���-���%��( ���#!�#�#!&78�( # �,���"���-.��( +�# �%5� ��

 ��� �0 ) ���#�!-��� )�-�!�$ ��!���+��#. � �#�'����( #�+)� �#& 5 �-$ Nf = 46

)�-&'����$ ��� !  ��&-.#�#� '��-����"�  �?���$ & �!����$ I0�0�L I�)-�?��$

-���$L � ���-�#�'����"�  �?���$ & �!����$ I0��2L I)&��#� ��$ -���$L� �#+�#�+6

'#� ,� ��#� �5( +��?#�9 ��%�--$%�( )� +�"��#��+& )�-7 * ∆H ∼ B0/Nf 6 )�

#�+)� �#& � * ∆Tc ∼ Tc0B0/Hc2(0)� < ������5!��+5� ��+� ��%�--$%�� Tc(H0)

��'��#!���� �#-�'�7#�$ �# ���9�����#�(6 �9�� &/���5, �� ��!���+��#� Tc(H0) !

 �9�#�, e4A6 4Bf6 )����-.�& ! ��?�( ����'� ��9-7���+5� ���9�����#� �� �!$���5 �

�!��#�!����+ +�"��#��"� )�#��� '� �� =-�+��#� �&7 $'�(�&  �?�#�� +�"��#�5,

'��#�%�

�%���+ !��+�/���#. ��9-7����$ �)�����5, !5?� ��%�--$%�( #�+)� �#& 5

! =��)� �+��#�� 1��.+�+ ,� ��#� ��� ���'���� ��)�-.��"� +�+��#� '��#�%5

m0 ∼ 3 × 10−11 H�·�+3 I ��+� '��#�%5 * 4�� �+ × 4�� �+ × 4�� �+6 ��+�"��'�����#.

∼ 103 H�L� �-$ '��#�%6 )�+�8���5, �� �!� ,) �!��$8&7 )-���& � ���$$ !5��#�

a0 ∼ 300 �+6 )�=#�+& Nf � 106 B0 ∼ 103 H� � ,� ��#� �5( +��?#�9 ��%�--$%�( )�

+�"��#��+& )�-7 ∆H ∼ B0/Nf ∼ 100 H�6 )� #�+)� �#& � ∆Tc ∼ 10−2Tc0 ∼ 0.1 �

�-$ EF )-���� Iξ0 ∼ 40 �+ � Tc0 ∼ 8 �LG � ∆Tc ∼ 1 � �-$ oY )-���� Iξ0 ∼ 100

�+ � Tc0 ∼ 6 �L� ��%�--$#� ��� )�!������ Tc(H0) +�/�# 95#. �� �"��# � �!���6

��) �+� 6 ! =��)� �+��#�, )� ��+� ���7 #�+)� �#& ��( � )�-�!�( ��!���+��#�(

&��-.��"� ��) �#�!-���$ ! "�9 ���5, MNO ���#�+�,6 ���#�$8�, �� �!� ,) �!��$8�(

)-���� �  �?�#�� ��  �+�"��#�5, '��#�%�

��  ��� �4 ) ���#�!-��5 )�-�!5� ��!���+��#� � �#�'����( #�+)� �#& 5 �-$

Nf = 10 � Nf = 30� �#+�#�+6 '#� � )�!5?����+ Nf ���++�# �$ ��!���+��#� Tc(H0)

�#���!�#�$ !�� ��-.���6 � -���-.��� ) �9-�/����6  ��!�#�� !  ����-� 0�0�46 !��

#�'��� �)��5!��# ���9�����#� -���� ����!�"� )� �,��� Tc(H0)�
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���� � ����&

�9�&��+ )�� �9��� # ����� +�%�7 �# &�#& 5 �!� ,) �!��$8�"� �� ��5?� ) �

��+������ !��?��"� +�"��#��"� )�-$ H0� ��  ��� �� ) ���#�!-��5 ) ���-� fm(r)

�-$ �����-.��, ���'���( H0 ) � Nf = 10� < � ��-.�5, �# �%�#�-.�5, )�-$,

H0 < −B06 ��"�� �#�&#�#!&7# #�'��6 ! ��#� 5, )�-��� +�"��#��� )�-� �9 �8��#�$

! �&-.6 �!� ,) �!��$8�( �� ��5? 9&��#  ��)�-�"�#.�$ ! �9-��#� � +���+�-.�5+

���'����+ |Bz(r)|6 #� ��#. ��)�� ���#!���� )�� +�"��#��( '��#�%�(� �-$ #�"�6

'#�95 +����+�-.��� ���'���� << ���#�"�-��. ) � r = 06 ���9,���+�  ��-���%�$

���#�$��$ � m = 0� <� +� � &!�-�'���$ +�"��#��"� )�-$ �# 9�-.?�, �# �%�#�-.�5,

���'���( ) ���,���# )� �,�� �# +�(���� �!���"� ���#�$��$ � m = 06 �-$ ��#� �"�

+����+�-.��� ���'���� fm(r) ���#�"��#�$ ) � rmax = 06 � +��"��!��#�!�+&

!�, �!�+& ���#�$��7 � m �= 06 ) � =#�+ ��� ����#� +����+&+� rmax #�+ 9�-.?�6

'�+ 9�-.?� m � +��.?� |H0|� < � |H0| → 06 ��"�� �#�&#�#!&�# +�"��#��� )�-� ��

9�-.?�,  ���#�$��$, �# '��#�%56 �!� ,) �!��$8�+& �� ��5?& !5"����� )�$!-$#.�$

! �9-��#� �-�9�"� +�"��#��"� )�-$ !��-� �# '��#�%56 )�=#�+& rmax → ∞� < �
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��-.��(?�+ &!�-�'���� +�"��#��"� )�-$ ) ���,���# )� �+�8���� �� ��5?� ��

9������'���#� ! �9-��#. � +���+�-.�5+ )�-�+6 #� ��#. rmax ∼ a0�

����,� 1���������� ���������� ������ � ������ 
����������	���

�
���� � ������������ ��������� ��
�

��� 95-� )������� !5?�6 ! �����-.�� ��++�# �'��+ +�"��#��+ )�-�

!��+�/�� �� +� �!���� +��"��!��#�!5, !�, �!5, ���#�$��( � )� �+�# �+ )� $���

ψm = fm(r) exp(imϕ)� �-$ #���"� �!� ,) �!��$8�"� ���#�$��$ �!� ,��� ��#. vs

vs = ∇θ − 2π

Φ0
Aϕ =

m

r
− 2π

Φ0

(
H0 r

2
+

m0r

(r2 + a2
0)

3/2

)
I0�0�L

�9 �8��#�$ ! �&-. ! #�'��,6  ��)�-�/���5, �� �� &/���#$,  ���&�� r16 ��#� 5�

+�"&# 95#. �) ���-��5 �� �-��&78�"� & �!����$

m

r1
− 2π

Φ0

(
H0 r1

2
+

m0r1
(r2

1 + a2
0)

3/2

)
= 0. I0�00L

��)�+��+6 '#� θ = mϕ � ���� !�-��!�( �&��%��6 m � � 9�#�-.�5( +�+��#

�&)� �!���, )� 6 m0 � ��)�-.�5( +�+��# '��#�%56 a0 � !5��#� '��#�%5 ���

)�!� ,���#.7 )-����6 H0 � !��?��� +�"��#��� )�-�6 (r, ϕ, z) � %�-��� �'����$

���#�+� ��� ����#� 1 ��!���+��#� �# )� �+�# �! m � H0 & �!����� I0�00L +�/�#

�+�#. �����-.��  �?���(� ��  ��� �A ) ���#�!-��� ��!���+��#. r1(H0)6 ) � =#�+

�� +��/��#!� !�#!�( �&��%�� r1(H0, m) !59 ��5 -�?. #�6 ��#� 5� ���#!�#�#!&7#

+���+&+& �!�9����( =�� "�� ���#!�#�#!&78�"� +��"��!��#�!�"� ���#�$��$�


���+ �9 ���+6 !�&# � �!� ,) �!��$8�( �9-��#� �&8��#!&7# ��+��&#5�

���#& �6 �� ��#� 5, �!� ,��� ��#. vs �9 �8��#�$ ! �&-.� 3#� ����'��#6 '#�

)�#�� z−��+)����#5 )�-��"� +�"��#��"� )�-$ '� �� �� &/���#.  ���&�� r1(H0)

�!��#&�#�$C

Φ =
∮

L: vs=0

A dl =
Φ0

2π

∮
L: vs=0

∇θ dl = mΦ0, I0�04L

#� ��#. Φ +�/�# ) ���+�#. ���� �#�5(  $� ���'���( � '��-� �!��#�!

+�"��#��"� )�#���  �!�� ��!�, �����#� �!� ,) �!��$8�"� �� ��5?� m� 1 �#-�'��

�#  ���+�# �!��+�( ����'�6 ! �-����'����+ =��)� �+��#� ;�##-�*<� ��� e@0f

��+������ ��!�, �����#� �!� ,) �!��$8�"� �� ��5?� �� ) �!���# � �!��#�!���7

+�"��#��"� )�#��� !�&# � #�����#����"� �!� ,) �!��$8�"� %�-��� �  ���&�� R�

��-� ! #�+6 '#� ��*�� +�-�( #�-8��5 �#���� #�'�� r16 ! ��#� �( vs = 06 ��

!��"�� ��,���#�$ !�&# � �!� ,) �!������6 )�=#�+& +�"��#�5( )�#�� '� �� ��'����

%�-��� � +�/�# ) ���+�#. -795� ���'���$ Φ �= mΦ0�

�# �"� "�!� $6 �� -���� ����!�"� )� �,��� ) � H0 = Hc3(T ) +5

�+��+ 9������'�� +�-5( �� ��5? Ifm = 0L6 )�=#�+& �!� ,) �!��$8�( #��
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& �!����� H; 9&��# +�-5+ � ! ��'��#!� fm +�/�� 9 �#.  �?���$ -���(��"�

& �!����$ I0�0�L� ��  ����B ) ���#�!-��5 ��!���+��#� )-�#���#. #��� js �-$
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∞∫
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jsdr =

∞∫
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|fm|2
(
m

r
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Φ0
Aϕ

)
dr. I0�0�L

:5-� �9�� &/��� I �����L6 '#� )�-�5( #�� ��%�--� &�# ) � ��+������ !��?��"�
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�� H0 )�� Nf = 10?
�- H0/B0 = −0.519 ,m = 0-2
6- H0/B0 = −0.518 ,m = 1-2
N- H0/B0 = −0.377 ,m = 1-2
O- H0/B0 = −0.376 ,m = 2-&

��-�+5 �� Tc(H0)� �&-� ��!���+��#� J(H0) ) �+� �� ���#!�#�#!&7# +���+&+�+ ��

��!���+��#� ∆Tc/Tc0 I#� ��#. +����+�-.��( -���-.��( #�+)� �#& �L� �� �$ ���'��!

)�-��"� #��� ! �!� ,) �!��$8�+ ����-� )��!�-$�# ����$#.�$ �� !��+�/���#.

�9�� &/���$ +��"��!��#�!5, !�, �!5, ���#�$��( ) � ��+� ���$, +�"��#��"�

)�#���6 ��) �+� 6 ��1���+� ��(�#!�#�-.��6 ) � )-�!��+ ��+������ !��?��"�

+�"��#��"� )�-$ ) � H0 = H∗ 9&�&#  �"��# � �!�#.�$ 9�-.?�� ��+�����$ )�-��"�

)�#��� +�"��#��"� )�#���6 �!$����5� �� �+���( ��) �!-���$ %� �&-� &78�"�

�!� ,) �!��$8�"� #���6 '#� ) �!���# � ���9�����#$+ �� ��!���+��#� +�"��#��(

!��) ��+'�!��#� χ = dM/dH0 �# !��?��"� )�-$�
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�� H02 Nf = 10! ∆T orb
c = Tc0B0/Hc2(0)&
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��������

��� 95-� �#+�'��� !5?�6 ���9,���+5+ &�-�!��+ !�������!���$ ��%�--$%�(

� �#�'����( #�+)� �#& 5 �!� ,) �!��$8�( )-���� $!-$�#�$ ��-�'�� ��+��&#5,

���#& �! Bz(x, y) = 0� <�-&'���5� !5?�  �?���$6 �# �"� "�!� $6 �) �!��-�!5

#�-.�� �-$ �����-.�� ��++�# �'�5,  ��) ���-���$ +�"��#��"� )�-$6 ��"��

��9�#!���5+ ���#�$���+ $!-$�#�$ ���#�$��� � �) ���-���5+ � 9�#�-.�5+ +�+��#�+

mC ψm(r) = fm(r) exp(imϕ)� 
�/�� �/���#.6 '#� ) � ���� +�%�� ���#& � Bz(x, y)

!�-��!�( �&��%��( ����!��"� ���#�$��$ 9&��# -���(��$ ��+9���%�$ ���#�$��( �

�) ���-���5+� ���'���$+� m6 #� ��#.

ψ(r) =
∑
m

Amψm(r), I0�0AL

"�� ��=���%���#5 Am ��-/�5 95#. �) ���-��5 �� &�-�!�$ +���+&+� �&��%����-�

H;� ��5+� �-�!�+�6 +��"��!��#�!�� ���#�$���6  ��-��&78���$ ! ��++�# �'��+

+�"��#��+ )�-�6 ��-/��  �� &?�#.�$ ) � �� &?���� ��++�# �� I! '��#���#�6

) � ��+������ �� +5 ��+��� �-� ���-��� +�"��#��"� ��)�-$L �  ��)���#.�$ ��

����+9-. �����!��#�!5, !�, �(� < � =#�+ !���+���  ��)�-�/���� �&-�( << �

) ��# ���#!����$ �# &�#& � !�, �!5,  �?���( 9&�&# ��!���#. �# �� +5 ���#& ��

���-�"�'��$ ����'� �  �� &?���� +��"��!��#�!�"� ���#�$��$ ! +������)�'����+

�!�� �#��+ �!� ,) �!������ ) � ��-�'�� �����#�!  ���+�# ��� !  �9�#� e22f� 
�+

�� +���� +�/�� �/���#.6 '#� %� �&-$%�$ " �����#� ���5 !�-��!�( �&��%�� I0�0AL

)� ��+��&#�+& ���#& & 9�-.?�"�  ��+� � )�*) �/��+& 9&��# ��+��$#.�$ �� ±1
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<
�����
��� Tc(H0)! �
���
�
�����
� 	
 �������
�
� ��������� �)����
�


�
	�
�������� ρ(T,H0) 	
 ��
���� ρ/ρn = 0.5 � ρ/ρn = 0.9&

) � ��+������ !��?��"� )�-$ H0� 
���+ �9 ���+ +�/�� ����$#.�$6 '#� ����!�5�

) ������5!��+5� ���9�����#� ��!���+��#� Tc(H0) I��-���(�5( � ��+���#���5(

,��L ��, ��$#�$ � ! ) ��&#�#!�� ������ ����"� +�"��#��"� )�-$ � ) ���!�-.�5+�

��+��&#5+� -���$+� �&-�( +�"��#��"� )�-$ Bz(x, y) = 0�

< � �,-�/����� �9 ��%� ��/� Tc(H0) ! �����-.�� ��++�# �'��+ )�-�

#��/� !��+�/�� &�-�/����� �)������( !5?� �� #��5C �#���# �&8��#!���5+

!���+���(�#!�� &"-�!5, "� +���� �  ���5+� m6 '#� +�/�# ) �!��#� �  �� &?���7

+��"��!��#�!5, ���#�$��(� 1�) �� � �# &�#& � �+�?����"� ���#�$��$ ! ������ ��>

��+ +�"��#��+ )�-� !��-� �# -���� Tc(H0) 9���)� �� ��#� ����6 �� ! ���#�$8��

! �+$ �8� �� ��&'��� 1 '��#���#�6 �� ��!��#��6 ���&7 �9-��#. �� ����!�(

���" �++� H0 − T ����+�7# +��"��!��#�!5� ���#�$��$ � ��� &�# ���5 -����

����!5, )� �,���! +�/�& ���#�$��$+� �  ��-�'�5+� m� 1��+�/�5+ �)���9�+

=��)� �+��#�-.�� ���-���!���$ -���( ����!5, )� �,���! +�/�# 95#. ���-���!����

+�"��#��( !��) ��+'�!��#� "�9 ���5, MNO �# &�#& ! +�"��#��+ )�-��

1 ���-7'����  ����-� ) �!���+  ��&-.#�#5 ��9�#!���5, =��)� �+��#�-.�5,

���-���!���( )� �9�� &/���7 ��-���(��( ��!���+��#� Tc(H0) ) � T � Tc0 !

������ ����+ )�-�� ��� 95-� ������� �#�� �#+�'���6 ���9,���+5+ &�-�!��+

�-$ ��9-7����$ ��%�--$%�( Tc(H0) $!-$�#�$ ��-�'�� ������ ����( ��+)����#5

+�"��#��"� )�-$6 �+�78�( ��+��&#5� -���� �&-�(� 3#� +�/�# 95#. -�"�� )�-&'���

B�



�-$ MNO ���#�+ � ����+9-�+ +�"��#�5, '��#�%� 1 #� /� ! �+$ ∆Tc ∼ Tc0ξ
2
0/(Nfa

2)6

"�� a � ,� ��#� �5( )� ��� +��&-$%�� +�"��#��"� )�-$6 )�=#�+& �-$ ��9-7����$

) ���������5, =����#�! =��)� �+��#�-.�� ���9,���+� ��"�#�!�#. ����+9-.

�&9+�� ���5, +�"��#�5, '��#�%6 '#� ) ���#�!-$�# �) ���-���5� #�,��-�"�'�����

�-�/���#��

�-$ =��)� �+��#�-.��"� )��#!� /����$ �&8��#!�!���$ =����#�! -���-���>

!����( �!� ,) �!���+��#� � �!$����5, � =#�+ ����/���( ��!���+��#� Tc(H0)

!9-��� Tc0 95-� ) �!����5 ���#�#�'�� " &95� ) ��!� �#�-.�5� =��)� �+��#5

)� ���-���!���7 # ���)� #�5, ,� ��#� ��#�� �!� ,) �!��$8�"� +��#��� EF

! ��+9��� �!����+ +�"��#��+ )�-�� ���� ����$ ��+)����#� )�-$ �����!�-��.

��-������+6 ������ ����$ ��+)����#� � )� +�--��!5+ )����!��9 ���5+ +�"��#�+

I ��� �@L� <� +�--��!5( +�"��#�) �!�� ?� ���( � ++ � #�-8���( ∼ � ++

# ���)� #� �!�- +�"��#��� )�-� )��#�$���"� +�"��#� Msbn ! &��&7 8�-. +�/�&

)�-7��+� )����!56 ! ��#� &7 )�+�8�-��. �!� ,) �!��$8�$ )-���� EF ?� ���( �

++ I?� ��� ���� � ∼ � ++L� < � =#�, &�-�!�$, +�/�� �'�#�#.6 '#� ������ ����$

��+)����#� )�-$ bz ) ��#�'���� ���� ���� !��-. �!� ,) �!��$8�"� +��#���6 � )�

)�)� �'��( ��� ����#� x -���-���!��� �� +��.?�, +��?#�9�,6 '�+ ?� ��� �9 ��%��

� �#�'����$ #�+)� �#& � )-���� �) ���-$-��. )� ��!�"& � �!�(  ����#�!��"�

)� �,��� ρ(T ) ! ���� ����+ +�"��#��+ )�-�� ��� !���� ��  ��� �@6 +����+�-.��(

� �#�'����( #�+)� �#& � +��#��� ���#!�#�#!&�# )�-� ∼ 40 H�6 !�-�'��� ��#� �"�

��!)����# � ,� ��#� �5+ ���'����+ ������ ����"� +�"��#��"� )�-$ ! ���� ��

����!��(  ��&-.#�#6 �� ��#� 5( �-��&�# �9 �#�#. !��+���� � =#� ��-���(�5(

,� ��#� ��!���+��#� Tc(H0)6 ��#� 5( +�/�# 95#. ��#� ) �#� �!�� ��� !-�$���

-���-���!����( �!� ,) �!���+��#� �� #� +�����+�'����� ,� ��#� ��#��� )-�����

�-.#� ��#�!�5+ �)���9�+ ���-���!���$ )�-�!�( ��!���+��#� -���-.��(

� �#�'����( #�+)� �#& 5 +�/�# �-&/�#. +�#�����6 ����!����$ �� ��&'����

��-���(��"� �#�-��� #����, �!� ,) �!��$8�, )-����� 1  ����-� 4�� +5 �)�?�+

�,�+& =��)� �+��#�-.��( &�#���!�� � �9�&��+ ����!�5� )�-&'���5�  ��&-.#�#5�

B@



43;3 �(�#5,#�(�')/�) ,����� ( ,���  �7�&���7� '&,��)=

#�+#�9��&�  �0����#�(���7� �����)�&)

������ ��������� ���

�����
��� ����� � ������ 
����������	���

�
����

1 ) ��5�&8�+  ����-� 95-�  ���+�# ��� ����'� � !�, �!5, �# &�#& �, !

#����( )-���� ! )�-� +�"��#��( '��#�%5 ! ) ���-� H0 � Hc3(T )6 ��"�� +�/��

) ���9 �'. =����#�+� =� ��� �!�� +�"��#��"� )�-$ �!� ,) �!��$8�( )-����(�


5 )�����-�6 '#� ! =#�+ �-&'�� �� +� �!���� �+�?����"� ���#�$��$ �) ���-$�#�$

) ��# ���#!����( �# &�#& �( )� )�����&-$ ��( ��+)����#5 +�"��#��"� )�-$

Bz(r)� 1 =#�+  ����-� +5  ���+�# �+ ����'& � �� +� �!���� !�, �!5,

�# &�#& ! �-�95, +�"��#�5, )�-$,6 ��"�� =� ��� �!�� ���#�-.�� ��-.��6

'#� +�(���� �!���� #��� �&8��#!���� ��+��$7# ) ��# ���#!���&7 �# &�#& &

+�"��#��"� )�-$ ��� �!� ,) �!��$8�( )-����(� ��-�� +5 9&��+  ���+�# �!�#.

���#�$���6 �� +� &78���$ ! #����( )-���� !  ��&-.#�#� �� �,-�/����$ ! �&-�!�+

+�"��#��+ )�-� I|RUn {RYw WnnYRw XUnWR\\L6 #� ��#. ) � H0 = 0 � ! �#�&#�#!��

+�"��#��"� ��)�-$�

�#��6 )&�#. #����$ )-����6 )� �!������$ ! �!� ,) �!��$8�� ���#�$��� ! �&-�!�+

+�"��#��+ )�-�6 )�+�8��� ! )�-� +�"��#��"� ��)�-$ � ��)�-.�5+ +�+��#�+

m0 = m0z06 ��#� �+& ���#!�#�#!&�# ��+�"��'�����#. M(r) = m0 δ(x)δ(y)δ(z − a0)�

:&��+ �'�#�#.6 '#� +�"��#�5( +�+��# ��)�-$ ���#�#�'�� �-�95(6 B0 � Hc3(T )

IB0 � +����+�-.��� )�-�6 �����!��+�� ��)�-�+ �� )�!� ,���#� )-����L6 '#�

)��!�-$�# ) ���9 �'. ) ��# ���#!����( ��!���+��#.7 << �  ���+�# �!�#. ����'&

! -������!���+ ) �9-�/����� ��"-���� & �!����7 
���!�--� +�"��#��� )�-�

�) ���-$�#�$ )�-��( )-�#���#.7 #���6 ��#� &7 ! ��-& -���(���#� & �!����(

;������*
���!�--� &��9��  ����-�#. �� �!� ��+)����#5C �� �!� ,) �!��$8�( #��

−(c/4πλ2)A � �#� ����( #�� crotM6 &'�#5!�78�( ��-�'�� +�"��#��( '��#�%5� 1

=#�+ �-&'�� �+��+ �-��&78�� & �!����� �-$ !��#� ��"� )�#��%��-�

rot rot A +
f(z)

λ2
A = 4πrot

(
m0δ(z − a0)

δ(r)

2πr

)
, I0�0BL

"�� (r, ϕ, z) � %�-��� �'����$ ���#�+� ��� ����# � ��'�-�+ �#�'�#� �� )�!� ,���#�

)-����6 λ � "-&9��� ) ������!���$ �-$ #���!6 )� �--�-.�5, )-�����#� (x, y)�

�&��%�$ f(z) �) ���-$�#�$ �-��&78�+ �9 ���+C f(z) = 1 ) � −ds ≤ z ≤ 0 � f(z) = 0

) � z < 0 � z > ds6 ds � #�-8��� �!� ,) �!��$8�( )-����� 159� �+ ��-�9 �!�&

div A = 0 � 9&��+ ����#.  �?���� & �!����$ I0�0BL ! !��� A = rot a� <��-� #���(

��+��5 & �!����� I0�0BL ) �!���#�$ � �-��&78�+& !��&

rot rot a +
f(z)

λ2
a − 4π m0 δ(z − a0)

δ(r)

2πr
= ∇φ,

B2



"�� φ � ) ���!�-.��$ ���-$ ��$ �&��%�$� �'�#5!�$6 '#� rot rot a = ∇div a − ∆a6

!59� �+ ��-�9 �!�� div a = φ +�/�� )� �(#� � 9�-�� ) ��#�+& & �!����7 �-$

az(r, z)

�az − f(z)

λ2
az = −4π m0 δ(z − a0)

δ(r)

2πr
,

��#�-.�5� ��+)����#5 a �#�&#�#!&7# ! ��-& ��++�# �� ����'�� �-$  �?���$

)�-&'����"� & �!����$ !��)�-.�&�+�$ ��#�" �-.�5+ ) ��9 ���!����+ H����-$

�&-�!�"� )� $��� †� ����!��#��$ �&��%�$ ãz(q, z) $!-$�#�$  �?����+ �-��&78�"�

����� ��%��-.��"� & �!����$ !#� �"� )� $���

d2ãz(q, z)

dz2
−

(
q2 +

f(z)

λ2

)
ãz(q, z) = −2m0δ(z − a0), I0�0�L

 �?���� ��#� �"� �8�+ ! �#���� #��+ !���

ã(1)
z =

m0

q
e−q|z−a0| + A1 e

−qz (z > 0),

ã(2)
z = A2 e

−kz +B2 e
kz (−ds < z < 0),

ã(3)
z = B3 e

qz (z < −ds),

"�� k2 = q2 + λ−2� �?�!�$ ���'���$ �&��%�� ãz(q, z) � )� !5, ) ���!���5,

dãz(q, z)/dz ) � z = 0 � z = −ds )�-&'��+ I�+� #��/� e�@6 �2fL

A1 = A2 +B2 − m0

q
e−qa0 ,

A2 = 2m0 e
−qa0

(k − q) e−kds

(k + q)2 ekds − (k − q)2 e−kds
,

B2 = 2m0 e
−qa0

(k + q) ekds

(k + q)2ekds − (k − q)2 e−kds
,

B3 = 2m0 e
−qa0

2k eqds

(k + q)2 ekds − (k − q)2 e−kds
.

† G��
���� ��
����
 	��
 �
�
�
��� "
����� #$.8%?

K0[az(r, z)] = ãz(q, z) =

∞∫
0

rJ0(rq)az(r, z)dr,

az(r, z) =

∞∫
0

qJ0(rq)ãz(q, z)dq,

K0

[
d2az(r, z)

dr2
+

1
r

daz(r, z)
dr

]
= −q2K0[az(r, z)] = −q2ãz(q, z),

K0

[
2m0

r
δ(r)δ(z − a0)

]
= 2m0δ(z − a0),

�)� J0(x) 5 ������� A������ �����
�
 	
��)�
&

��



����+�# �+ ����#� 5� '��#�5� �-&'��C

�� ������ ������������ �������
���������� �������� a =#�+ �-&'�� �-��&�#

)�-�/�#. λ = ∞6 #�"�� k = q � A1 = A2 = 06 B2 = B3 = m0 exp(−qa0)/q� 1 �����+

�-&'�� !� !��, �9-��#$,  �?����+ $!-$�#�$

ãz(q, z) =
m0

q
e−q|z−a0|, az(r, z) =

m0√
r2 + (z − a0)2

,

Aϕ(r, z) = −∂az(r, z)

∂r
= m0

r

[r2 + (z − a0)2]3/2
,

) ���#�!-$78�� ��9�( ��!��#��� !5 �/���� �-$ )�-� #�'�'��"� +�"��#��"� ��)�-$

! �!�9����+ ) ��# ���#!��

0� �����
��������� 
���
������������ 1 =#�+ �-&'�� �-��&�# )�-�/�#. ds = ∞6

#�"�� A2 = B3 = 06 A1 = m0(q − k)e−qa0/q(q + k)6 B2 = 2m0 exp(−qa0)/(k + q)� ��

9�-.?�,  ���#�$��$, r � λ  �?����+ !� !��?��+ ) ��# ���#!� Iz > 0L $!-$�#�$

�&)� )���%�$ )�-�( �!&, ��)�-�(  ����"� �����6  ��)�-�/���5, ! #�'��, z = ±a0

I! =#�+ �-&'�� qλ� 16 q � kLC

ã(1)
z (q, z) =

m0

q
e−q|z−a0| − m0

q
e−q(z+a0),

A(1)
ϕ (r, z) = −∂az(r, z)

∂r
=

m0 r

[r2 + (z − a0)2]3/2
− m0 r

[r2 + (z + a0)2]3/2
.

������ !5 �/���� �-$ !��#� ��"� )�#��%��-� !�� )-���� #��/� +�/�#

95#. )�-&'��� �� ) ���#�!-���( � )�-��( =� ��� �!�� +�"��#��"� )�-$

�!� ,) �!������+� 1��#� �5( )�#��%��- !�&# � �!� ,) �!������ Iz < 0L �)��5>

!��#�$ �-��&78�+ !5 �/����+ †

A(2)
ϕ (r, z) = 2m0

∞∫
0

q2 exp (−qa0 + kz) J1(rq) dq

k + q
�

� 2m0 λ

a3
0

3 r/a0

[1 + r2/a2
0]

5/2
e−|z|/λ, I0�0@L

��#� �� �) �!��-�!� ) � a0 � λ�

† ��� ���������� ������
�
 ,.&.P- ���)�� �
��( 	��������( ��������
�
��� w = qa0& 4
��
����

	
)������
���
� ���
*���� �
)��*�� ��
*����� exp(−w)! �
 
��
��
� ���
) � ������
�  �)��

)
�
�� �
��� ��
����� w ≤ 1! �
�)
 ������
� �
*��  ��� ���)�� � ���)�(1�� �	���
���
�

������� ,��& #3/%-

Iαν =

∞∫
0

xα−1 e−px Jν(cx) dx,

�)� � �
��� ����
� p = 1! c = r/a0&

��
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 ������ ���������� ��
���� ��)�-.�&$ !5 �/���$ �-$ ��=���%���#�! A16�� B26

)�-&'��+ �-��&78�� !5 �/���� �-$ !��#� ��"� )�#��%��-� !�&# � �!� ,) �!��$>

8�( )-����C

A(2)
ϕ (r, z) = 2m0

∞∫
0

q2 e−qa0
k ch(z + ds)/λ+ q sh(z + ds)/λ

(k2 + q2) sh ds/λ+ 2kq ch ds/λ
×

× J1(rq) dq,

��#� �� ! ) ���-� a0 � max(λ, λ2/ds) +�/�# 95#. �!����� � �-��&78�+& !��&

A(2)
ϕ (r, z) =

2m0 λ

a3
0

I31
ch(z + ds)/λ

sh ds/λ
=

=
2m0 λ

a3
0

3 r/a0

[1 + r2/a2
0]

5/2

ch(z + ds)/λ

sh ds/λ
. I0�02L

��)�-.�&$ ��!��#��� ���#��?���� js = −(c/4πλ2)A6 �) �!��-�!�� �-$ 9��!�, �!�"�

���#�$��$6 ��,���+ )-�#���#. +�(���� �!���"� =� ��� &78�"� #���6 ���&%� �!��>

��"� +�"��#��( '��#�%�(

jfm
ϕ (r) = − c

4πλ2
A(2)

ϕ = − m0

2πλ

3ra0

[r2 + a2
0]

5/2

ch(z + ds)/λ

sh ds/λ
. I0�4�L

<�-&'����� !5 �/���� I0�4�L 9&��# ��)�-.��!��� ��-�� �-$  ��'�#� !�, �!�(

�# &�#& 5 I ����- 0�4�0L � �-$ ���-��� =��)� �+��#�-.�5, ����5, )� ���-���!���7

 �� &?���$ +�(���� �!���"� ���#�$��$ ! #����( )-���� )�-�+ +�"��#��( '��#�%5

I ����- 4�4L� ;�"�� !���#.6 '#� +����+�-.��� ���'���� !��#� ��"� )�#��%��-� �6

�-���!�#�-.��6 � )-�#���#� #��� jfm6 ���#�"��#�$ �� !� ,��( )�!� ,���#� )-����

) � z = 0� �#+�#�+6 '#� )-�#���#. ���&%� �!����"� '��#�%�( �!� ,) �!��$8�"�

#��� ! )-���� �+��# #��&7 /� ��!���+��#. �#  ����-.��( ��� ����#56 ��� �

)-�#���#. #��� ! �!� ,) �!��$8�+ )�-&) ��# ���#!� I0�0@L6 ������  ��-�'�7#�$

��!���+��#� �# z−��� ����#56 '#� �!$���� � 9�-�� �-�9�( =� ��� �!��( +�"��#��"�

)�-$ �!� ,) �!��$8�( )-����(� ��#� ����( ���9�����#.7 $!-$�#�$ �#�)����( �����

��#&,���$ +�"��#��"� )�-$ )�� )-����( ! ) �#�!�)�-�/���#. =��)����%��-.��+&

��#&,���7 ! �-&'�� )�-&) ��# ���#!�C

A(3)
ϕ (r, z) =

2m0 λ

a3
0

1

sh(ds/λ)

3 (1 + (|z| − ds)/λ) r/a0[
(1 + (|z| − ds)/λ)2 + r2/a2

0

]5/2
.

������ &��
����
������	 
�������� ��������� 
�
��	��	

����+�# �+ �-��&78�( �%��� �(  �� &?���$ +�(���� �!���"� ���#�$��$ !

�!� ,) �!��$8�( )-����6 ��,��$8�(�$ ! )�-� +�� �+�"��#�6 !  �/�+� ��-.��(

=� ��� �!��� <� +� � &+��.?���$  ���#�$��$ a0 +�/�& )-����( � +�� �+�"��#�+

�0



&!�-�'�!��#�$ -���-.��$ )-�#���#. +�(���� �!���"� #��� �� )�!� ,���#� )-����6

jfm
max ∝ 1/a3

0� �� ����#� �( � �#�'����( !5��#� acr -���-.��$ )-�#���#. #���

���#�"��# � �#�'����( )-�#���#� #���  ��)� �!���$ jc6 ���#!�#�#!&78�"�

-���-.��+&  �� &?���7 +�(���� �!���"� ���#�$��$6 �-�6 ��5+� �-�!�+�6

-���-.��+& )���!-���7 =�� "�#�'����"� 9� .� � �-$ ) ������!���$ !�, �(� ��*

�� +�-�( #�-8��5 )-���� ) ����?�� ! )-���& !�, �!5� )�-&)�#-� 9&�&#

 ��8�)-$#.�$ �� )� 5 !�, .*��#�!�, .6 ��#� 5� )�� ��(�#!��+ =� ��� &78�"�

+�(���� �!���"� #��� 9&�&# �!�"�#.�$ ! ) �#�!�)�-�/�5� �#� ��56 !  ��&-.#�#�

'�"� �9 ��&�#�$ !�, �!�$ �# &�#& �6 ���#�$8�$ �� !�&# ����"� ��-.%� !�, �( �

!��?��"� ��-.%� ��#�!�, �( †�
1 �����+  ����-� ! -������!���+ ) �9-�/���� +5 ���-�#�'����  ���'�#��+

)� �+�# 5 �� +� &78�(�$ !�, �!�( �# &�#& 5� 
5 9&��+ ) ��)�-�"�#.6 '#�

+�"��#�5( +�+��# '��#�%5 ���#�#�'�� 9�-.?�( INf � 1L6 #�"�� ) � a0 < acr

! )-���& ) ������# 9�-.?�� '��-� )� !�, .*��#�!�, .� 3#� )��!�-$�# �'�#�#.

 ��) ���-���� !�, �( �����-.�� ��++�# �'�5+ � ��)�-.��!�#. � ���77 )-�#���#.

!�, �( n(r) �-$ �)�����$ !�, �!�( �# &�#& 5� 1�, �!�$ �# &�#& � 9&��#

&�#�('�!�( ) � !5)�-����� �-��&78�, &�-�!�( I�+�6 ��) �+� 6 e�0�fL� 1�>)� !5,6

-���-.��$ )-�#���#. #��� �� ��-/�� ) �!5?�#. � �#�'���&7 )-�#���#. #���

 ��)� �!���$ jc I! ) �#�!��+ �-&'�� 9&��# ) ���,���#. "��� �%�$ ��)�-��#�-.�5,

!�, �(L� 1�>!#� 5,6 �-$ #�"�6 '#�95 !�, �!�$ �# &�#& � 95-� ��)��!�/��(6

)-�#���#. #��� ! �9-��#�  ��)�-�/���$ !�, �( �� ��-/�� 95#. 9�-.?� )-�#���#�

#��� )�����"� jpC

| jtot(r) | ≤ jc, I0�4�L

| jtot(r) | ≤ jp, ��-� n(r) �= 0. I0�40L

<�-��$ )-�#���#. �!� ,) �!��$8�"� #��� ! )-���� +�/�# 95#. ) ���#�!-���

! !��� �&++5 +�(���� �!���, #���6 ���&%� �!����"� +�"��#��( '��#�%�( jfm(r)6 �

#���6 �����!��+�"� ���#�+�( ��)��!�/�5, I��)�����"�!���5,L !�, �( jv(r)

jtot(r) = jfm(r) + jv(r).

�-$ #����( �!� ,) �!��$8�( )-���� ds � λ )-�#���#. +�(���� �!���"� #��� I0�4�L

+�/�� �'�#�#. ) ��#�'���� ���� ����( )� #�-8��� )-����C

jfm
ϕ (r) = −3 c m0

2πds

r a0

(r2 + a2
0)

5/2
. I0�44L

15'��-�+ !#� &7 ��+)����#& #���6 �!$����&7 � ��-�'��+ ! )-���� !�, �(�

<&�#. j1(r, r
′) � )-�#���#. #��� ! #�'�� r6 �����!��+�$ ���-� �!���5+ !�, �+6

��,��$8�+�$ ! #�'�� r′C

† 4
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j1(r, r
′) = j1(|r − r′|)

[
z0 × r − r′

|r − r′|
]


�"�� !5 �/���� �-$ )-�#���#� #��� jv(r) �����!��+�"� ���#�+�( ��)��!�/�5,

!�, �(6  ��) ���-���5, � ���%��# �%��( n(r)6 �+��# !��C

jv =
∫
n(r′)j1(|r − r′|)dr′. I0�4�L

1!���+ %�-��� �'���&7 ���#�+& ��� ����# Ir, ϕ, zL �  ���+�# �+ �����-.��

��++�# �'���  ��) ���-���� !�, �(6 n(r) = n(r)� 
�"�� ! !5 �/���� I0�4�L +�/��

!5'��-�#. ��#�" �- )� ���+&#�-.��( ϕ−��� ����#�� ;�"�� )�����#.6 '#� ! =#�+

�-&'��  ����-.��$ ��+)����#� #��� �#�&#�#!&�#

jvr =

∞∫
0

n(r′) r′ dr′
π∫

−π

j1(|r− r′|) r′ sinϕ dϕ = 0, I0�4AL

)����-.�& )��5�#�" �-.��$ �&��%�$ $!-$�#�$ ��'�#��( )� ϕ−)� �+����(�
���+&#�-.��$ ��+)����#� )-�#���#� #��� +�/�# 95#. ) �!����� � �-��&78�+& !��&

jv
ϕ =

∞∫
0

2πn(r′)G(r, r′)r′dr′, I0�4BL

G(r, r′) =

π∫
−π

j1(|r − r′|) (r − r′ cosϕ)√
r2 + r′2 − 2rr′ cosϕ

dϕ

2π
. I0�4�L

"�� �&��%�$ G(r, r′) �+��# �+5�- ) ��# ���#!����"�  ��) ���-���$ )-�#���#� #���6

�����!��+�"� ��-.%�+ !�, �( � )-�#���#.7 n(r) = δ(r − r′)/2πr6 r′ �  ���&� ��-.%��

	�-� min|r′−r| � max(λ, λ2/ds)6 #� +�/�� ! ��'��#!� �&��%�� j1(|r−r′|) ! !5 �/����
I0�4�L +�/�� ��)�-.��!�#. !5 �/���� �-$ )-�#���#� #��� )� -�!���"� !�, $ ��

9�-.?�,  ���#�$��$,6 r � λ2/dsC

j1(|r − r′|) =
cΦ0

4π2 ds

1

|r − r′|2 .

G(r, r′) =
cΦ0

8π3 ds

π∫
−π

(r − r′ sinϕ)

(r2 + r′ 2 − 2rr′ cosϕ)3/2
dϕ. I0�4@L

< ���!��$ ��+��& )� �+����( ϕ = π + 2ϕ′ ! !5 �/���� I0�4@L6 )�-&'��+†

† 0� ��	
������ ���)�(1�� �
 ������ ������
��?

L1 =

π/2∫
0

dϕ(
1 − k2 sin2 ϕ

)3/2
dϕ = k

dK(k)
dk

+K(k) =
E(k)
1 − k2

L2 =

π/2∫
0

sin2 ϕ(
1 − k2 sin2 ϕ

)3/2
dϕ =

1
k

dK(k)
dk

=
E(k)

k2(1 − k2)
− K(k)

k2
,

�)� K(k) � E(k) 5 	
���� :���	�������� ������
�� 	���
�
 � ��
�
�
 �
)
&

��
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	����
��
� ���
*����� ,.&@>-2 r′ 5 �
)��� �
���
&

G(r, r′) =
cΦ0

2π3ds

π/2∫
0

[
(r + r′) − 2r′ sin2 ϕ′

]
[
(r2 + r′ 2 + 2rr′) − 4rr′ sin2 ϕ′

]3/2
dϕ′ =

=
cΦ0

2π3ds

[
L1

(r + r′)2
+

2r′L2

(r + r′)2

]
=

cΦ0

4π3ds

[
E(k)

r(r − r′)
+

K(k)

r(r + r′)

]
I0�42L

"�� k2 = 4rr′/(r + r′)2�

���-�� !�, �!�( �# &�#& 5 9&��+ ) �!���#. �� )� �"� "��� �%�� !�, �!5,

)� 6 #� ��#. ) � (acr − a0)/acr � 1� < ��)�-�/�+ #��/�6 '#� jp � jc � =#�

&�-�!�� ��"-��&�#�$ � =��)� �+��#�-.�5+� ����5+� ) � #�+)� �#& �, 9-����, �

Tc I�+�  ����- 4�4L� :&��+ ) ��)�-�"�#.6 '#� �#�%���� ���  ��) ���-���� !�, �(

) ���#�!-$�# ��9�( �!� &���, ��-.%�6 ��,��$8�,�$ �� 9�-.?�+  ���#�$��� � &" �#

� &"�C !�&# ����� ��-.%� !�, �(  ���&�� r1 � )�-&?� ���( w1 � !��?��� ��-.%�

��#�!�, �(  ���&�� r2 � r1 � )�-&?� ���( w2 Iw1,2 � r1,2L� < ���#�!�+ )-�#���#.

!�, �( ! �-��&78�+ !���

n(r) = n+(r) − n−(r), I0���L

n+(r) �= 0 r ∈ (r1 − w1, r1 + w1),

n−(r) �= 0 r ∈ (r2 − w2, r2 + w2),

"�� n+(r) � n−(r) � ���%��# �%�� !�, �( � ��#�!�, �(6 ���#!�#�#!����� �-$ #���"�

�A



 ��) ���-���$ n(r) )-�#���#. #���6 �����!��+&7 !�, $+�6 &��9��  ����-�#. �� �!�

��+)����#5

jv
ϕ(r) = jv

+(r) + jv
−(r), I0���L

jv
+(r) =

∞∫
0

2πn+(r′)G(r, r′)r′dr′

jv
−(r) = −

∞∫
0

2πn−(r′)G(r, r′)r′dr′,

"�� jv
+(r) � jv

−(r) � #���6 �����!��+5� !�&# ����+ � !��?��+ !�, �!5+� ��-.%�+�6

���#!�#�#!����� �������5� &�-�!�$ +�-�( ?� ��5 ��-�% )� � �!����7 � �,

 ���&��+� )��!�-$7# &) ��#�#. !5 �/���� �-$ G(r, r′) �6 ���#!�#�#!����6 �-$ jv
+(r)

� jv
−(r)� ����+�# �+ �����-.�� !�/�5, ) ���-.�5, �-&'��!C

�� 15'��-�+ )-�#���#. #��� !��-� �# ��-.%� !�, �(6 r � r′� 1!���+ +�-5(

)� �+�# x = r′/r � 1 �  ��-�/�+ k6 E(k)6 K(k) )� �#�)��$+ x

G1(r, r
′) =

cΦ0

4π3ds r′ 2

(
x2 E(k)

1 − x
+
x2 K(k)

1 + x

)
�

� cΦ0

4π3ds r′ 2

(
π x2 +

3

4
πx4 + ...

)
� cΦ0

4π2ds

1

r2
, I0��0L

jv
±(r) = ±

∞∫
0

2πr′ n±(r′) G1(r, r
′) dr′ =

= ± cΦ0

4π2d

1

r2

r1+w1∫
r1−w1

2πr′ n±(r′) dr′ = ±cΦ0N

4π2ds

1

r2
, I0��4L

"�� N � )�-��� '��-� !�, �( ! !�, �!�+ ��-.%��

0� 15'��-�+ )-�#���#. #��� !�&# � ��-.%� !�, �(6 r � r′� 1!���+ +�-5(

)� �+�# x = r/r′ � 1 �  ��-�/�+ k6 E(k)6 K(k) )� �#�)��$+ x

G2(r, r
′) =

cΦ0

4π3ds r′ 2

(
E(k)

x(x− 1)
+

K(k)

x(x+ 1)

)
�

� cΦ0

4π3ds r′ 2

(
−π

2
x− 9

16
πx3 + ...

)
� − cΦ0

8π2ds

r

r′ 3
, I0���L

jv
±(r) = ±

∞∫
0

2πr′ n±(r′) G2(r, r
′) dr′ =

= ∓ cΦ0

8π2ds

r

r3
1

r1+w1∫
r1−w1

2πr′ n+(r′) dr′ = ∓cΦ0N

8π2d

r

r3
1

. I0��AL

�B



4� 15'��-�+ )-�#���#. #��� !9-��� ��-.%� !�, �( � )&�#. λeff � |r − r′| � r′�

1!���+ +�-5( )� �+�# |r− r′|/r′ = x/r′ � 1 �  ��-�/�+ k6 E(k)6 K(k) )� �#�)��$+

x/r′

k2 � 1 − 1

4

x2

r′ 2
,

G3(r, r
′) =

cΦ0

4π3ds r′ 2

(
E(k)

(r/r′)(r/r′ − 1)
+

K(k)

(r/r′)(r/r′ + 1)

)
�

� cΦ0

4π3ds r′ 2

(
r′

x
+

1

2
ln

(
r′

x

)
− ...

)
� cΦ0

4π3ds

1

r′(r − r′)
. I0��BL

< ��)�-�"�$ -�9� λ� |r − r1| � r16 -�9� λ� |r − r2| � r26 ��,���+

jv
+(r) =

∞∫
0

2πr′n+(r′) G3(r, r
′) dr′ =

r1+w1∫
r1−w1

2πn+(r′)
cΦ0

4π3ds

dr′

(r − r′)
I0���L

jv
−(r) =

∞∫
0

2πr′n(r′) G3(r, r
′) dr′ = −

r2+w2∫
r2−w2

2πn−(r′)
cΦ0

4π3ds

dr′

(r − r′)
. I0��@L

<� �(��+ � ��)�� ���#!����+&  ��'�#& ,� ��#� ��#�� !�, �!�( �# &�#& 56

!������78�( ! )�-� +�� �+�"��#�� ��� &/� 95-� �#+�'���6 +����+�-.��� ���'����

�&++� ��( )-�#���#� #���6 �����!��+�( +�� �+�"��#�+ � !�, �!5+� ��-.%�+�6

��-/�� 95#.  �!�� =����#�!��+& #��&  ��)� �!���$ jcC

max
r

|jfm(r) + jv
+(r) + jv

−(r)| = jc. I0��2L

<� ��?�+& ) ��)�-�/���7 )-�#���#. #��� ���#�"��# +����+&+� ! #�'�� r06

�#�#�$8�( ��-��� ��� �# ��-.%� !�, �(6 #�� � �# ��-.%� ��#�!�, �(6 #� ��#.

r1 � r0 � r2� 1 =#�+ �-&'�� �-$ !5'��-���$ !�-��� !�&# ����"� ��-.%� !�, �(

jv
+(r) +�/�� ��)�-.��!�#. !5 �/���� I0��4L6 �-$ !5'��-���$ !�-��� !��?��"�

��-.%� ��#�!�, �( jv
−(r) � !5 �/���� I0��ALG )-�#���#. #��� jfm(r)6 �����!��+�$

+�� �+�"��#�+6 �) ���-$�#�$ !5 �/����+ I0�44L� ��-�!�� I0��2L +�/�# 95#.

)� �)����� �-��&78�+ �9 ���+

−3cm0

2πds

r0 a0

(r2
0 + a2

0)
5/2

+
cΦ0N

4π2ds

1

r2
0

+
cΦ0N

8π2ds

r0
r3
2

= −jc, I0�A�L

d

dr
jfm
ϕ (r)

∣∣∣∣∣
r0

+
d

dr
jv
+(r)

∣∣∣∣∣
r0

+
d

dr
jv
−(r)

∣∣∣∣∣
r0

=

−3cm0

2πds

a0(a
2
0 − 4r2

0)

(r2
0 + a2

0)
7/2

− 2cΦ0N

4π2ds

1

r3
0

+
cΦ0N

8π2ds

1

r3
2

= 0. I0�A�L


5 ) ��)�-�"��+6 '#� �9 ���!�!?���$ ! )-���� !�, � )� �� #�+6 ���

��#���!�#.�$6 )� �+�8�7#�$ �� �9-��#� � +����+�-.�5+ #���+ Ir ∼ a0/2L ! �9-��#�

��
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� 4�
���
�������
� �
�	��)������ 	�
��
��� �
�
 jϕ(r) � �����	�
�
)�1��

	����� � 	
�� ����
�
����
 � ������
� ��������
 n(r)! �
����
(1
� � 	����� �

	
�� ����
�
����
&

�� 9�-�� �-�95+ #���+� 
�/�� �/���#.6 '#� �-$ �)�����$ �!�(�#! �#�#�'����(

!�, �!�( �# &�#& 5 ) �+���+� +���-. � �#�'����"� ���#�$��$ :���

|jfm(r) + jv
+(r) + jv

−(r)| = jp, n(r) �= 0. I0�A0L

1 =#�+ �-&'�� �-$ !5'��-���$ )-�#���#� #��� jv
+(r) � jv

−(r)6 �������5, ��-.%�+�

!�, �( �� +�-5,  ���#�$��$ �# ��,6 �-��&�# ��)�-.��!�#. !5 �/���$ I0���L � I0��@L�


���+ �9 ���+6 �� &�-�!�$ I0�A0L )�-&'��+ �8� �!� & �!����$C

V.p.

r1+w1∫
r1−w1

n+(r′)
cΦ0

2π2ds

dr′

(r − r′)
− 3cm0

2πds

r a0

(r2
0 + a2

0)
5/2

+

+
cΦ0N

8π2ds

r1
r3
2

= −jp, r1 − w1 ≤ r ≤ r1 + w1, I0�A4L

−V.p.
r2+w2∫

r2−w2

n−(r′)
cΦ0

2π2ds

dr′

(r − r′)
− 3cm0

2πds

r a0

(r2
0 + a2

0)
5/2

+

+
cΦ0N

4π2ds

1

r2
2

= −jp, r2 − w2 ≤ r ≤ r2 + w2, I0�A�L

"�� ��#�" �-5 ! & �!����$, I0�A4L � I0�A�L ��-/�5 95#. !5'��-��5 ! "-�!��+

���'�����

�@



��)�-.�&$ )��,��6 �)�����5(6 ��) �+� 6 !  �9�#� e�0�f6 +�/�� ) �!��#�

�9 �8���� ��#�" �-.�5, & �!����( I0�A4L*I0�A�L � )�-&'�#. ,� ��#� ��#���

�9 ��&78�(�$ !�, �!�( �# &�#& 5 ! ) �9-�/���� �-�9�"� )�����"� jp/jc � 1

!9-��� )� �"� "��� �%�� !�, �!5, )� 6 1 − a0/acr � 1� <��-�  �?���$ & �!����(

)�-&'��+ �-��&78�� !5 �/���$ �-$ )-�#���#� !�, �( � ��#�!�, �( I��#�-�

 ��'�#� ) �!����5 ! < �-�/���� 0LC

n+(r) =
3m0

Φ0a4
cr

√
w2

1 − (r − r1)2, I0�AAL

n−(r) =
12m0acr

Φ0r5
2

√
w2

2 − (r − r2)2,

"��

r1 = 0.286
jp
jc
a0; r1 · r4

2 = a5
cr; I0�ABL

w2
1 =

4a3
0

9π
√

3r1

N

Nf

; w1 = 2w2. I0�A�L

<�-&'���5� !5 �/���$ I0�AAL*I0�A�L 9&�&# ��)�-.��!��5 ! ��-.��(?�+ �-$

���-��� =��)� �+��#�-.�5, ����5, )� ���-���!���7  �� &?���$ +�(���� �!���"�

���#�$��$ ! #����( )-���� )�-�+ +�"��#��( '��#�%5 I ����- 4�4L�

43>3 �!(�'! � 7��(� 4

< �!���+ ����!�5�  ��&-.#�#56 )�-&'���5� ! �����( "-�!�

• �-$ "�9 ���5, MNO ���#�+ ) ��������5 ��%�--$%�� � �#�'����( #�+>

)� �#& 5 #����( �!� ,) �!��$8�( )-���� Tc(H0)� ���9,���+5+ &�-�!��+

$!-$�#�$ ��-�'�� ������ ����"� +�-��+��?#�9��"� +�"��#��"� )�-$6 �+�78�"�

��+��&#5� ���#& � Bz(x, y) = 06 "�� (x, y) � )-�����#. )-����� ����� )���9�5�

��%�--$%�� ��9-7��-��. #�-.�� �-$ +��"��!$��5, � +������)�'����, �!� ,) �>

!������! I=����# ;�##-�*<� ���L� <�-&'��5 � �!5� ����!�"� )� �,��� Tc(H0)

�-$ �-&'�$6 ��"�� ������ ����� )�-� ������� #�'�'�5+ +�"��#�5+ ��)�-�+6

� ���#� �!���5+ )� )�����&-$ �� )-�����

• ���-���!��� ) ��# ���#!����$ �# &�#& � +��"��!��#�!5, !�, �!5, ���#�$��(6

!������78�, ! #����( �!� ,) �!��$8�( )-���� 9�-.?�"�  ��+� � ! ������>

 ����+ �����-.�� ��++�# �'��+ +�"��#��+ )�-� �� -���� ����!�"� )� �,���

Tc(H0)� < � ��+������ !��?��"� +�"��#��"� )�-$ !��+�/�5 )� �,��5 +�/�&

���#�$��$+� �  ��-�'�5+� � 9�#�-.�5+� +�+��#�+� �&)� �!���, )� �

• ���-�#�'���� ���-���!��� �# &�#& � +�(���� �!���, #���! ! �!� ,) �!��$8�(

)-���� ) ���!�-.��( #�-8��5 ! )�-� +�-�( ��  �+�"��#��( '��#�%56

��)�-.�5( +�+��# ��#� �( � ���#� �!�� )� )�����&-$ �� )-�����

�2



• 1  �+��, +���-� :��� ���-�#�'���� ���-���!��� �# &�#& � �+�?����>

"� ���#�$��$6 !������78�$ ! #����( �!� ,) �!��$8�( )-���� ! )�-�

+�-�( ��  �+�"��#��( '��#�%56 ��)�-.�5( +�+��# ��#� �( � ���#� �!��

)� )�����&-$ �� )-����� <�������6 '#� �� )� �"�  �/����$ !�, �!5, )� 

 ��&-.#� &78��  ��) ���-���� !�, �( �+��# !�� �!&, ���%��# �'����, ��-�%6

!5'��-�� �,  ��+� ! ��!���+��#� �# !5��#5 ��)�-$ � �"� ��)�-.��"� +�+��#��

@�



#� $�
	��������"���� �	����"���� �������
���

	�"�� � ����� 
����	��������� 	"����

;323 �$+�# 6��,�#& ����( ,� &����'�(��&: ,�'�(���&)

$�#��#� �&��8�&(&�7����� ,�(�#5�����! & '�<���� &

1 �����+  ����-� 9&��# ) ���#�!-�� �9�� =��)� �+��#�! )� ) $+�+&

��+� ���7 � �#�'����"� )�-$ )���!-���$ 9� .� � :; ! +����!�5, �9 ��%�, �

+�����%� �!����( )�!� ,���#.7 †�
15 �/���$ I��4@L � I��42L6 )�-&'���5� !  ����-� ��0 �-$ �%���� ) ���-.��"�

)�-$ )���!-���$ 9� .� � :;6 )��!�-$7# ) �!��#� ���-�� =��)� �+��#�-.�5,

 ��&-.#�#�!� 1  $��  �9�# ���98�-��. � � �(�� �����, ���'���$, )�-$ Hen
<∼ 100 H�

�-$  ��-�'�5, �9 ��%�! `aZ2b^3c7 I+���� ��#�--56 =)�#�����-.�5� )-���� �

�� �+���L6 ������ ) �'��� �#�-. ���'�#�-.��"� )���!-���$ 9� .� � ��#�!�-��.

��$���(�

��9�#� l� _nSW|Vunr\ud RT ZY� e�Bf )��!$8��� ��&'���7 9� .� � :; !

+���� ��#�--�, `aZ2b^3c7 ) � H0 ‖ c� 1 =#�, =��)� �+��#�, � �#�'����� )�-�

!,��� !�, �( �) ���-$-��. )� ��-�+& �� ��!���+��#� M(H0) I ��� 0�L6 ��+� ����(

) � )��#�$���( #�+)� �#& �� � �#�'����� )�-� !,��� 95-� ��+� ��� ! �!&,

�-&'�$,C �� � )��-� �9-&'���$ �9 ��%� )�#���+ �����=�� "�#�'�5, =-��# ���!�

< � #���+ �9-&'���� )�!� ,���#�5� �����#5 �����!�-��. 9�� ��+�����$ �9h�+�5,

�!�(�#! �!� ,) �!������� :5-� �9�� &/���6 '#� )�-� !,��� )��-� �9-&'���$ IHafter
en L

95-� ! �����-.��  �� +��.?�6 '�+ )�-� !,��� ! ���9-&'����+ �9 ��%� IHbefore
en LC

Hbefore
en /Hafter

en ∼ 2 ÷ 3 ) � #�+)� �#& �, T = 77 ÷ 92 K6 Tc = 92.5 K I�+�

 ��� 00L� ����5(  ��&-.#�# ��,���#�$ ! ,� �?�+ ��"-���� � ��?�+� #�� �#�'����+�

�%����+� ) ���-.��"� )���!-���$ 9� .� � :;� ��(�#!�#�-.��6 )���#�!-$$ κ =
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�
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�
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���2��3�7! ���������� 	�� 	
��
���
� ���	��
���� ,�� �
 
�� #$8%-?
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λab/ξab ∼ 102 ! !5 �/���� I��4@L6 ��,���+6 '#� �����#5 +�"&# )���!�#. � �#�'�����

)�-� !,��� �� 9�-��6 '�+ ! A�B  ���� 1 #�/� ! �+$6 �����#5 �� +�"&# �9��)�'�#.

� �(�� ������ ���'���$ Hafter
en 6 )����-.�& �#��?���� Hmin c

en /Hc1 ��-/�� 95#. 9�-��

�6 ������ =��)� �+��#�-.�5� ���'���$ Hafter
en ) �!5?��# )�-� Hc1 �� 9�-��6 '�+ ! 0

 ���� ��+�#�+6 '#� !9-��� Tc )�!� ,���#�5� �����#5 �� ����5!�7# �#�-. ��-.��"�

!-�$��$ �� !�-�'��& � �#�'����"� )�-$ Hen� 3#� +�/�# 95#. �!$���� � #�+6 '#�

) � !5����, #�+)� �#& �, "-&9��� ) ������!���$ +�"��#��"� )�-$ &!�-�'�!��#�$ �

�#���!�#�$ 9�-.?� ,� ��#� ��"�  ��+� � �����#�!� ��5+� �-�!�+�6 ) � &!�-�'����

@0
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�� ���2��3�7 ,�� �
 
�� #$8%-? ◦ 5 	
�� ��
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• 5 	
�� ��
)
 � 
 �������� 
 �
��� N 	
�����
������ )�����
��! 	�������
�

����� �

���������� �
�����
��� Hc1(T )2 N 5 �
��
������
(1�� �
��
�&

#�+)� �#& 5 =����#�!�� &+��.?��#�$ �#�)��. �� �������#� )�!� ,���#�6 �6

���#!�#�#!����6 )�!� ,���#�5� �����#5 ! +��.?�( �#�)��� ����5!�7# !-�$��� ��

9� .� :;�

1  �9�#� �� �� �&"�-$ � � � eABf 9� .� :; 95- ���-���!�� �-$ � &"�(

"��+�# �� (H⊥c)� :5-� �9�� &/���6 '#� ) � T = 77 _ ) ������!���� ��'����#�$

! )�-$, Hen = 110 H�G #���+ �9 ���+ )�-� !,��� Hen ) �!5?��# Hc1 +����6

'�+ ! 4  ���� 
5 )�-�"��+6 '#� ! �����+ �-&'�� )�!� ,���#��$ ?� �,�!�#��#.

�� +�/�# �9��)�'�#. �#�-. ��-.��� )���!-���� 9� .� �6 )����-.�& ��?� �%����

) ������5!�7# �-��&78�� +���+�-.��� ���'���� Hmin ab
en ∼ 5.8Hab

c1 I+5 �'�#��+

λc/λab ∼ 56 λab/ξab ∼ 102L�

1  �9�#� }�>k� b]RS RT ZY� eB�f �� ����!� ���-���!���$ � �!�( ��+�"��'�!���$

M(H0) �) ���-��� )�-� !,��� ��� ! )� �--�-.��( (H0 ‖ c)6 #�� � ! )� )�����&-$ ��(
� ���#�%�� (H0⊥c) +�"��#��"� )�-$� �9�� &/��� �&8��#!����$ �����# �)�$

� �#�'����"� )�-$ )���!-���$ 9� .� � Hc
en/H

ab
en ≈ 36 '#� �'��. 9-���� � )�-&'���5+

��+� �%����+ Hc
en � Hab

en � 3#� ���'�#6 '#� )�!� ,���#�5� �����#5 +�"&# �9��)�'�#.

��9-7���+&7 �����# �)�7� ������ �9��-7#�5� !�-�'��5 Hen �-�?��+ +�-5 �

#��/� �� +�"&# 95#. �9h$����5 !-�$���+ ?� �,�!�#��#� �9 ��%��


���+ �9 ���+6 +5 ) �,���+ � �-��&78�+ !5!���+C ���+�# $ �� #�6

'#� )�!� ,���#�5� �����#5 +�"&# ���'�#�-.�� )���!�#. � �#�'����� )�-�

) ������!���$ !�, �( ! ���� ���5( +���� ��#�--�'����( �9 ���%6 #�+ �� +����

� �(�� ��-.��� )���!-���� 9� .� � :; ! 1
�< ! �9-��#� !5����, #�+)� �#& IT ∼

@4



TcL �� +�/�# 95#. �9h$����� 9�� &'�#� #� +���#�!�%����5, ) �%����!� �-$ �����,

#�+)� �#& IT � TcL )�!� ,���#��$ ?� �,�!�#��#. ��-/�� 95#. ��+��� &78�+

+�,����+�+ )���!-���$ 9� .� � :;6 )�=#�+& )�-&'���5� ��+� !5 �/���$ �-$

)�-$ Hen ��-/�5 ���#!�#�#!�!�#. �%���� ����& �-$  ��-.�� ��9-7���+5+ )�-�(

 �� &?���$ +�(���� �!���"� ���#�$��$ ) � T � Tc�

;343 �����'�(��&� ������*��0 �� �7�&*������& ,�����

 ���'� 5����(���0  �7�&�� ��#&&

������ ������ ��

�����
���	 ���
����
�������� ��
�����
���	 �����

� ������ 
����������	��� �
�����

< �9-�+� �) ���-���$ ) ��# ���#!����"�  ��) ���-���$ #���! J(r) ! �!&+� ��+

#���) �!��$8�+ �9 ��%� )�  ��&-.#�#�+ ��+� ���$ +�"��#��"� )�-$ B ) ���#�!-$�#

���'�#�-.�5( ��#� �� �-$  ��-�'�5, ) �-�/���(C �-$ ���-���!���$ ���9�����#�(

!�, �!�"� ���#�$��$ ! #����( �!� ,) �!��$8�( )-���� e�0@6 �026 �4�6 �4�f6

�-$ ) ��#�'����"� �9�� &/���$ �����#�! ! )�-&) �!������!5, )-��#���,6

) �������'���5, �-$ ) ���!���#!� +�� ��,�+ e�40f6 �-$ �� �� &?�78�( ���">

���#��� # �8�� ! +�"��#��( � ��� e�44f � � � �#���� #�5+ +�#���+ �-$

)���9�5, ���-���!���( $!-$�#�$ ��+� ���� ) ���-$ Bz ��+)����#5 +�"��#��"�

)�-$6 )� )�����&-$ ��( � )-����6 I��) �+� 6 W )�+�8.7 ,�--�!���( +�� ����)��

e�0@f6 +�"��#��)#�'����, +�#���! e�026 �4�f6 ��1�� +�� ����)�� e�4�6 �40fL

� )��-��&78�"� !5'��-���$ ) ��# ���#!����"�  ��) ���-���$ )-�#���#� #���

J(r)� ����'� )�-&'���$ ) ���-$ J(r) )� ��!��#��+&  ��) ���-���7 Bz(r)6

��+� ����+& !�� �9 ��%� �� !5��#� h0 �# )�!� ,���#� )-����6 $!-$�#�$ ) �+� �+

����  ��#��( +�#�+�#�'����( ����'�6 ���9�����#.7 ��#� �( $!-$�#�$ ' ��!5'�(��$

'&!�#!�#�-.���#.  �?���$ � +�-5+ ��+�����$+ )� �+�# �!� ��-�� +5 �9�&��+

����'���&7 ) �'��& ����  ��#���#� #���, ����' � ���-��+ �9�� ����!�5, +�#���!

�,  �"&-$ ���%���


�"��#��� )�-� � #�� �!$���5 �-��&78�+ -���-.�5+ ���#��?����+

rot B =
4π

c
j. I4��L

<�-&'�#. j(r) ��)�� ���#!���� �� ���#��?���$ I4��L ��!�-.�� ) �9-�+�#�'��6 #���

)�-� ��+� $�#�$ !�� �!� ,) �!������6 "�� j = 0� �-$ )�-&'���$ ��-���-.��(

�!$�� +�/�& )�!� ,���#�5+ #���+ J(r) = j(r)dsδ(z) � +�"��#�5+ )�-�+ Bz(r, h0)6

!��)�-.�&�+�$ ) ��9 ���!����+ �& .� � ��)�?�+ & �!����� I4��L �-$ �& .�*�9 ���!

J̃q � B̃q,k

B̃q,k =
4πds i

c(q2 + k2)

[
(q + kz0) × J̃q

]
.

@�



1 �����+  ����-� +5 !!���+ �-��&78�� �9����'���$C r = xx0 + yy0 �  ���&�>

!��#� �� )-�����#�6 q = qxx0 + qyy0 � �!&+� �5( !�-��!�( !��#� � �+��/�$

=#� & �!����� !��#� �� �� q � ��)�-.�&$ &�-�!��† divJ = 06 ��#� �� �) �!��-�!�

) � �#�&#�#!�� ��#�'����! #���6 )�-&'�+ �!$�. +�/�& ) ��# ���#!���5+

 ��) ���-����+ �!&+� �5, #���! � z−��+)����#�( +�"��#��"� )�-$

[q × z0]
(
B̃z

)
q,k

= −4πds i

c

q2

(q2 + k2)
J̃q. I4�0L

��+�#�+6 '#�

(
B̃z

)
q, z=h0

=
1

2π

+∞∫
−∞

(
B̃z

)
q,k
eikh0dk.

<��-� &+��/���$ & �!����$ I4�0L �� eikh0/2π � ��#�" � �!���$ )� k )�-&'��+

J̃q = K̃q ·
(
B̃z

)
q, z=h0

I4�4L

K̃q =
c i

2πds

[q × z0]

q
eqh0. I4��L

���#��?���$ I4�4L � I4��L �95'�� ��)�-.�&7#�$ �-$  �?���$ ����'� �

!���#���!-���$ #���! !  ��&-.#�#� !5'��-���$ �9 �#��"� ) ��9 ���!���$ �& .�

I�+�6 ��) �+� 6 e�4AfLC

J(r) =
1

(2π)2

∞∫
−∞

K̃q

(
B̃z

)
q, z=h0

e−iq·r d2q. I4�AL

�-$ h0 �= 0 ����!��( ���9�����#.7 ����'� !���#���!-���$ ) ���-$ #���!

$!-$�#�$ ��-�'�� +��/�#�-$ exp(qh0) ! �&��%�� K̃(q)6 )�=#�+& ! =#�+ �-&'�� ��

�&8��#!&�# �&��%�� H ��� & �!����$ :��*��!� �*;�)-���‡ � )�=#�+& ��!��+�/��

† B�
��� 	�
���
�������
�
 �
�	��)������ �
�
� � �
��
� 	����� 	�� �
����� ��
��	
���
�
 �
�


,�
�)
 divJ �= 0- 	��)��
���� � �
 
�
� #$@P! $@>%&

‡ <
����� #$@C%! ��
 )�� h0 = 0 �
*�
 	
������ 
�
��������
� ���
*���� )�� 	�
���
�������
�


�
�	��)������ �
�
�! �
�
�
� )
�*�
 �������� ������
� ������� Bz(r, z = 0) � 
�����
�


������� K̃q?

K(r) =
1

(2π)2

∞∫
−∞

K̃q e
−iq·rd2q =

c

4π2ds
rot

(z0

r

)
=

c

4π2ds

[z0 × r]
r2

7������ K(r) �
��
���
 �
�	
)
�� � �
�	��)������� �
�
 �
���� ����� � �
��
� �����	�
�
)�1��

	����� �
  
����� �
���
����� r � λ2/ds& ��� h0 = 0 	�
���
�������
� �
�	��)������ �
�
� �

)������
� �
�
	�
�
)�1�� ���)� �
*��  ��� �
�)��
 ���)�(1�� 
 �
�
�

J(r) =
c

4π2ds

∞∫
−∞

Bz(r′, z = 0)
[z0 × (r − r′)]

|r − r′|3 d2r′. ,@&8-

K

��
����� ,@&8- ����� 	�
��
� ���������� �����? �
� � 	����� �
*�
 	��)��
���� �
�

��	��	
����( �
�
� K(r)! �
�)
�
���� ��
���
�
����� �������! 	�� :�
� �
�	��)������

Bz(r, z = 0) �������� 	�
��
 	�
��
���( ���
����
� ,������-& =���
 ��)���! ��
 ������� K(r)
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)�-&'�#. ���-�#�'����� ���#��?����6 )���9��� I4�BL� �-$ h0 �= 0 ) ���-. #���!

+�/�# 95#. ��(��� #��/� �� ���#��?���$ I4�AL6 ������ �9 �#��� ) ��9 ���!����

�& .� 9&��# �&8��#!�!�#. #�-.�� ! #�+ �-&'��6 ��-�
(
B̃z

)
q,z=h0

) � q � 1 9&��#

�# �+�#.�$ � �&-7 95�# ��6 '�+ exp(−qh0)� ��!��#��6 '#� ��-� �&��%�$ f(x)

���� /�#  �� 5!5 �-�  �� 5!5 ) ���!���5,6 #� �& .�>�)��# =#�( �&��%�� �+��#

!5����'��#�#�&7 �#�)���&7 ���+)#�#��& !��� f̃(q) ∝ q−n� �+���� #���$ ��#&�%�$

 ��-��&�#�$ ! =��)� �+��#�6 ��"�� �� "-���&7  �"&-$ �&7 ���#�!-$78&7 Bs
z(r, h0)6

��#� &7 +�/�� �#�/���#!�#. � ��#���5+  ��) ���-����+ #���!6 ���-��5!��#�$

�� �"&-$ ��$ I?&+�!�$L ��+)����#� Bn
z (r, h0)6 ��#� �$ ) �!���# � )�$!-���7

!59 ���! �  �� 5!�! ) ���!���5, �� ��+� $�+�+ ! =��)� �+��#� ��"��-�

Bz(r, h0) = Bs
z(r, h0) + Bn

z (r, h0)� 
���+ �9 ���+6 ) � �#�&#�#!�� ?&+� +�/�#

�&8��#!�!�#. #�'���  �?���� �-$  ��) ���-���$ #���! )�  ��&-.#�#�+ ��+� ���$

z−��+)����#5 )�-$ �� ����'��( !5��#� h0� < � ��-�'�� ?&+�! )�$!-$7#�$

+��-���� ��#&,�78�� !5����'��#�#�5� ��+)����#5 �)��# � B̃z(q, h0)6 ��#� 5�

) �!��$# � =��)����%��-.�� 9�-.?�+& !�-��& ! !���#���!-�!��+��  ��) ���-����

#��� �-$ 9�-.?�, q6 � �����#�!� �5+  ��&-.#�#�+ !5'��-���$ J(r) �� +�-5,

) ��# ���#!���5, +��?#�9�,� ��#�'����+� ?&+�! +�"&# �-&/�#. ! �+���á$

���#�9�-.���#. ��#�'���� #���6 )�#�78�"� ��#'�� Q�--�G !�9 �%�� ����� &78�(

)-�#�� +56 ) �!��$8�� � �-&'�(�5+ ��+�����$+ !5��#5 � #�)�

�-$  �?���$ &�������( ) �9-�+5 I �"&-$ ���%�� $� � K̃(q) �� !5����,

'��#�#�,L  �� �9�#��5  ��-�'�5� �)���95� ���9�-�� ) ��#5+ �)���9�+ $!-$�#�$

�����'��#�#��$ ��-.# �%�$ ) ��# ���#!���5, "� +���� J(q)6 ��#� �$ ���-7'��#�$

�#���� #��( ) �%��& � &+��/���$ ) �!�( '��#� & �!����$ I4�4L �� ����#� &7

�����&7 IrdSwnrL �&��%�7 Wq6 ��#� �$ ��-/�� �9 �8�#.�$ ! �&-. ) � q � 1C

J̃q = Wq K̃q ·
(
B̃z

)
q, z=h0

. I4��L

1  $��  �9�# e�4�6 �406 �4Af ! ��'��#!� Wq ��)�-.�&�#�$ ) $+�&"�-.��$ ������$

�&��%�$

W (1)
q = θ(q0 − q), I4�@L

"�� θ(q) � �&��%�$ Q�!���(��6 q0 � ����#� 5( ) ���!�-.�� ����!��+5( )� �+�# 

�9 �����$ �)��# �6 ��#� 5( �) ���-$�# ) ��# ���#!�����  �� �?���� +�#���6

)����-.�& ���� +�%�$ � �# &�#& � #���! �� ) ��# ���#!���5, +��?#�9�, +��.?�,

�������� �������� "���
 ��
������ A�
9K
�
�
9=
	�
�


ds

c

∫
S

[K(r′) × (r − r′)]
|r − r′|3 d2r′ = δ(r).

������������
! J̃q = K̃q 	��
(
B̃z

)
q,z=0

= 1! 	�� :�
� Bz(r) = δ(r)&

@B
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0
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0
 = 1

���� ��� 7����9
 �
� �)�
 ��
������ A�
9K
�
�
 |K̃(q)|/K0 ,◦-! K0 = c/(2πds)!

	��)�����
�
 �

��
������ ,@&C- � �
������� �
��
��� ���������
��� �)�
 )��

������ �
��
���? ,�- 5 	
 �
����� ,@&P-! ,•- 5 	
 �
����� ,@&>-! ,�- 5 	
 �
�����

,@&$/-&

1/q0 9&��# )�#� $��� �����#�#�� #���"� +�#��� ���-7'��#�$ ! !�������!����

 �� 5!� ! �& .�>�9 ��� )-�#���#� #��� Jq ) � q = q06 '#� +�/�# ) �!��#� �

����  ��#��+& !���#���!-���7 J(r)�

�������5, �����#�#��! -�?��� ������$ �&��%�$ Q�����"�6 ��#� �$ "� ��#� &�#

��) � 5!���#. Jq !+��#� � �!&+$ )� !5+� ) ���!���5+�C

W (2)
q =

1

2
(1 + cos(πq/q0)) θ(q0 − q). I4�2L

������ � ! =#�+ �-&'�� ��#��#�$ ) �9-�+� ) �!�-.��"� !59� � ) �!�-.��"�

���'���$ q06 ��#� �� '�8� !��"� �) ���-$�#�$ =+)� �'�����

1 ��'��#!� �-.#� ��#�!��( !���!�( �&��%�� +�/�� ��)�-.��!�#. =��)����%�>

�-.�&7 �&��%�7 !���

W (3)
q = e−q/q0 , I4���L

"�� q0 ≤ 1/h0� ��+�'�#�-.�5+ �!�(�#!�+ #���( �&��%�� $!-$�#�$ =����#�!��$

��-.# �%�$ !5����'��#�#�5, ��+)����# Jq ) � ��, ������ ��) � 5!���#� !��,

) ���!���5,�

< ��%�)��-.�� ���( )��,�� �  �?���7 ��  ��#��( ����'� �  ��) ���-����

#���! ! �!� ,) �!��$8�( )-���� ��)�-.��!�� !  �9�#�, e4�6 4�6 �4B6 �4�f

I+�#�� �9�98����( ��!$��� 
�,���!�L� ��"-���� +�#��& 
�,���!� !+��#�

) $+�"�  �?���$ ����  ��#��( ����'� I4�4L ��,���#�$  ��) ���-���� J∗(r)

@�



�� �-���� "-����, �&��%�(6 ��#� �� +���+��� &�# ����#� 5( �&��%����-6

,� ��#� ��&78�( ��#�" �-.�&7 +� & �#-�'�$ ��+� $�+�"� +�"��#��"� )�-$

Bz(r, h0) �# !���#���!-�!��+�"� +�"��#��"� )�-$ B∗
z (r, h0)6 ���#!�#�#!&78�"�

 ��) ���-���7 J∗(r)� ���#����#!�+� +�#��� 
�,���!� $!-$7#�$ 9�-�� ��  ��#�5(

� )��-���!�#�-.�5( &'�# !-�$��$ ?&+�! �� ) ��# ���#!�����  ��) ���-����

#���6 !��+�/���#. &'�#� �))� �#��( �&��%�� ��#'��� Q�--�6  �"��# � &78�"�

-���-.��� +�"��#��� )�-�6 � #��/� �))� �#��( �&��%�� ��+� �#�-.�5, ) �9� �!6

) �$!-$78�(�$ ! &� ������� ��#���5, ���'���( +�"��#��"� )�-$ � ����#� �(

)��#�$���( ! �+��� τ �

1 ) �+������ � +�#��& ��-.# �%�� ) ��# ���#!���5, "� +���� �9�&��+

� �#� �( !59� � )� �+�# � �9 �����$ q0� 1�-�'��& q0 +�/�� �%���#. ���

+����+�-.�&7 ) ��# ���#!���&7 '��#�#&6 ��/� ��#� �( !�-�� ?&+� � &'�#�+

+��/�#�-$ exp(qh0) ! �)��# Jq �� ) �!5?��# !�-��� ��"��-�C B̃s
q0

>∼ B̃n
q0
· exp (q0h0)�

15 �/�$ q06 )�-&'��+ " &9&7 �%���& )� �+�# � �9 �����$C

q0 <∼
1

h0
· ln B̃s

q0
/B̃n

q0
∼ 1

h0
ln B̃s,max

q /B̃n,max
q , I4���L

<����-.�& #�)�'��� �#��?���� ��"��-*?&+ ! ��?�, =��)� �+��#�, B̃s,max
q /B̃n,max

q ∼
102 ÷ 104 I)�-&'��� �� ����!� �& .�*���-��� =��)� �+��#�-.�5,  ��) ���-���(

+�"��#��"� )�-$L6 )�=#�+& ln B̃s,max
q /B̃n,max

q ∼ 4÷ 9� 
5 )�-&'��+ �'�!���5( !5!��6

'#� ) ��# ���#!�����  �� �?���� R = 2π/q0 ��!�-.�� �-�9� I-�"� ��+�'����L

��!���# �# �#��?���$ ��"��-*?&+ � �-$ #�'�'��"� ��#'��� +�"��#��"� )�-$

�) ���-$�#�$ ! ����!��+ !5��#�( ����� �!���$C R ∼ h0� ;�"�� !���#.6 '#� ) �

�#�&#�#!�� ?&+�! IB̃n,max
q → 0L ) ��# ���#!�����  �� �?���� R → 06 #� ��#.

����'� � !���#���!-���� ) ���-$ #��� +�/�# 95#.  �?��� #�'�� !)-�#. �� ��+5,

+�-5, ) ��# ���#!���5, +��?#�9�!6 �) ���-$�+5, ?�"�+ ����� �!���$ �  ��+� �+

��#'��� dH �


���+ �9 ���+6 ! &�-�!�$,  ��-.��"� =��)� �+��#�6 ��"�� dH � h06 s � h0

Is � ?�" ����� �!���$L � ) � ��-�'�� ��-.��"� ?&+�  �� �?�78�$ �)���9���#.

�) ���-$�#�$ !5��#�( ����� �!���$� 1 =#�, &�-�!�$, +�/�� !59 �#. ) ��#�(?�(

!��  �"&-$ ��� &78�"� ����6 ! '��#���#�6 W (3)
q ) � q0 = 1/h0� 
�"�� �-$ �)��# �

#��� Jq )�-&'�+ �-��&78�� !5 �/����

J(r) =
c

4π2ds

∞∫
−∞

Bz(r
′, z = h0)

[z0 × (r − r′)]
|r − r′|3 d2r′, I4��0L

��#� �� ��!)����# � !5 �/����+ I4�BL6 ! ��#� �+ ���-��� ��+��� Bz(r
′, z = h0) !+��#�

Bz(r
′, z = 0)� �# �"� "�!� $6 ��#�" � �!���� ! !5 �/���� I4��0L ��-/�� ) �!���#.�$

)� 9������'��( �9-��#�� ������ !  ��-.��+ =��)� �+��#�6 ��"�� ��)�-.�&7#�$

�9 ��%5 ����'�5,  ��+� �!6 )�-$  ����$��$ 95�# � �)���7# � �#���!$#�$

) ���9 �/�+� +�-5+� �� 9�-.?�,  ���#�$��$,� <�=#�+& �-$ ) ��#�'����, %�-�(

�9-��#. ��#�" � �!���$ �-��&�# !59� �#. �� &�-�!�$ Bz � 06 #� ��#. ��"��

@@



��"��- �� ) �!5?��# & �!�$ ?&+�!� ���#����#!�+ ) ��-�"��+�( ) �%��& 5 I4��0L6

��#� �$ 9&��# ��)�-.��!��� ��-�� �-$ ) ��#�'����"� !���#���!-���$ ) ���-$

#��� J(r)6 $!-$�#�$ ) ��#�#� ) �+�����$ � ) ��+-�+�$  �� �?�78�$ �)���9���#.

(∼ h0) ! &�-�!�$, ��-.��"� ?&+�� �-��&�# ��+�#�#.6 '#� ) � &+��.?���� !5��#5

����� �!���$6 ��"��  ��+� ��#'��� Q�--� �#���!�#�$ 9�-.?� h06 +�#�� 
�,���!�

) ���#�!-$�#�$ 9�-�� ����!�#�5+ �-$  �?���$ ����'� �  ��) ���-���� #���!6 '�+

+�#�� ��-.# �%�� ) ��# ���#!���5, "� +����6 )����-.�& ) � =#�, &�-�!�$, ��

)��!�-$�# )�-&'�#. 9�-�� ��#�-.�&7 ) ��# ���#!���&7 �# &�#& & #���!�

������ *��
���� )�
���������
"��� �
������� � ���������
����

�!�� +��

3��)� �+��#5 )� ���-���!���7 ��#�#�'��( ��+�"��'�����#� �!� ,) �!�>

�$8�, )-���� ) �!���-��. �� =)�#�����-.�5, #����, )-����, `aZ2b^3c76

!5 �8���5, ! ��
 ���� <-���� 95-� ��"�#�!-��5 ! �����#�+)� �#& ��+

�����#���(��+ ) �%���� dS \dT^ +�#���+ �9 �#��"� +�"��# ����"�  ��)5-���$�

��#�-� #�,��-�"�'����, ) �%����! � ,� ��#� ��#��� �9 ��%�! )�� �9�� �)����5

!  �9�#�, e��06 ��46 ���f� Q� ��#� �5(  ��+� �9 ��%�! ! )-�����#� (x, y) � ��

++ × �� ++6 #�-8��� )-���� ds = 800 ÷ 1000 o� <-���� +��.?�( #�-8��5

+���� &��9�5 �-$ +�"��#�5, ���-���!���( ��>�� +�-�"� ��,!�'����"� )�#���6

! )-����, 9�-.?�( #�-8��5 �+��# +��#� ��!���+��#. )-�#���#� #���! �# |

��� ����#5� � �+� �)-�?�5, )-���� `aZ2b^3c76 #��/� 95-� ���-���!��5 )-����

� #����" ���'�!�78�+� �����#�+� #�)� #����, %� �)�� I� ,� ��#� ��( ?� ���(

102 +�+L � 9�� ��#�--�'����� )-�����

1 ��?�, =��)� �+��#�, 95-� ��&'��5 ) ��# ���#!���5� ,� ��#� ��#���

!�, �!5, �# &�#& 6 !������78�, ! �!� ,) �!��$8�, )-����, )��-� !�-7'���$

� !5�-7'���$ !��?��"� +�"��#��"� )�-$ H0� 
����+�-.��� ���'���� H0 ∼
600 H� !59� �-��. ���#�#�'�� 9�-.?�+ �-$ #�"�6 '#�95 "� ��#� �!�#. )�-���

) ������!���� +�"��#��"� )�#��� ! )-���&� <� )�����&-$ ��� +�"��#��� )�-�

�����!�-��. ��-������+ �� +���5+� �9+�#��+�� <��-� #�"�6 ��� !��?��� )�-�

!5�-7'�-��.6 )��!�/�5+ ��#'���+ Q�--� �  ��+� �+ '&!�#!�#�-.��( �9-��#�

A� +�+ × ��� +�+6  ��)�-�/���5+ �� !5��#� h0 = 100 ÷ 500 +�+6 ) ���!���-��.

��+� ���� ) ���-$ Bz(x, y)� x�" ����� �!���$ ���#�!-$- ���0A +�+� 1 �+$

��+� ���$ ! ����( #�'�� �) ���-$-��. ��� %������#.7 ��+� �#�-.��( �))� �#& 5

� ���#�!-$-� 0.25÷0.5 W��� <�-��� ! �+$ ����� �!���$ ����"� �9 ��%� ���#�!-$-� �#

0 �� �� '���! ! ��!���+��#� �# ��� ��#� ����� �!���$ �  ��+� � �9-��#� ��+� ���$

)�-$� � �!��. ?&+�! ��+� �#�-.��"� # ��#� ���#�!-$- ) �+� �� ��� H��

������ *!
�3����� �� �
"�����

����!��( !�) ��6 ��#� �+& 9&��# &��-��� ����!��� !��+���� ! �����+

 ����-�6 � =#� ) �+���+��#. +���-� � �#�'����"� ���#�$��$ e02f �-$ �)�����$

@2



) ��# ���#!����"�  ��) ���-���$ #���! !  ��-.�5, #����)-���'�5, �9 ��%�,�

��  ��� 0�Z ) ���#�!-�� ) ���-. +�"��#��"� )�-$ Bz(r, h0)6 ��+� ���5( ��

!5��#� h0 = 250 +�+ �# )-���� )��-� !�-7'���$ � !5�-7'���$ )� )�����&-$ ��"�

+�"��#��"� )�-$ ) � T = 77 _� ��# &��� ��+�#�#.6 '#� ����#� 5� ���9�����#�6

) ������5!��+5� #�� ��( � �#�'����"� ���#�$��$ :���6 #���� ��� -�"� ��+�'����(

 ��# +�"��#��"� )�-$ ! %��# � �9 ��%�6 �#�&#�#!&7# ! =��)� �+��#�-.�5, ����5,�

��)�-.�&$  ��) ���-���� Bz(r, h0)6 )� �� +&-� I4��0L +5 !5'��-�-� ) ���-. #���

J(r) I ��� 0�FL� H-�!��( ���9�����#.7 ��!���+��#� J(r) $!-$�#�$ �'��. ������ �����

 ��) ���-���� )-�#���#� #��� )� )�!� ,���#� �9 ��%�6 ! '��#���#�6 ��-�'�� !

%��# �-.��( �9-��#� � &)��+��?#�9��"� ) �!�-� I0 ÷ 4 ++L6 "�� )-�#���#. #���

&+��.?��� 9�-�� '�+ �� )� $���� �-$ ) ���#�!-����"� �9 ��%� +����+�-.�5�

���'���$ ��,!�'����"� )�-$ � #��� ���#�!-$7# ���#!�#�#!���� Bmax = 27.9 H� �

jmax = 3.3 · 106 oNWs2� 
���+ �9 ���+6 ) ��# ���#!�����  ��) ���-���� )-�#���#�

#��� �� +�/�# 95#. �)����� !  �+��, �#���� #��( +���-� :���6 ) ��)�-�"�78�(

J(r) = Jp6 Jp = const�


�/�� ) ��-�/�#. �����-.�� �9h$�����( ��9-7���+�"� =����#�� 1�>)� !5,6

)���!-���� #��� ! %��# � �9 ��%� ! ) ��%�)� +�/�# 95#. �!$���� � ��-�'��+

+�� ����)�'����, ������ �����#�(6 #� ��#. Jp = Jp(r)� Q�#$ ������ �����#�

I�!� ,) �!��$8�� " ��&-5L ! )-����, `aZ2b^3c7 ��(�#!�#�-.�� �&8��#!&7#6 �,

,� ��#� �5(  ��+� ∼ 1 +�+ ���'�#�-.�� +��.?�6 '�+ ��9-7���+5( ) �!�-�


�+ �� +���� �-$ ) �!� �� =#�( "�)�#��5 95-� ) �!����� !���#���!-���� #���!

�-$ #�( /� )-���� � ���������( %� �)���( I �� ���+L6 ��&8�( �# %��# � )-����

� )� ��� ��� ���+� � +��#�)�-�/����  �� ��� !59 ��5 #���+ �9 ���+6 '#�95

�����#. +����+�-.��� !-�$��� �� �!� ,) �!��$8�� #���6 ��#� 5� ! ����)� '����+

�9 ��%� ��-/�5 95-� 95 #�'. )� )�����&-$ ��  �� ��&� x� ��� %� �)��5

���#�!-$-� ) �+� �� 150 ÷ 200 +�+� :5-� �9�� &/���6 '#� ��-�'�� #���"�

�����#� ) �!���# � �� ����-.�5+ ��+�����$+ �# &�#& 5 ��,!�'����"� )�#���

I ��� 0AZLC �&8��#!����  ��?� �-��. �9-��#. � !�, $+� ) �#�!�)�-�/��"� �����

I��#�!�, $+�L6 ��#� 5�  ��.?� ����+�-� )� ��� �(�&7 �9-��#.G � �+� =#�"�

�� # �#. &+��.?�-��. +����+�-.��� )�-�6 Bmax = 20.2 H�� ���#!�#�#!����

��+���-��. � �#�-� 9�-�� �-�/�5+  ��) ���-���� #���! I ��� 0AFL6 ��#� 5�

#�)� . !5�&/���5 #�'. !��-.  �� ���� ������ ����!�5� ���9�����#� ��, ���-��.C

)-�#���#. #��� J(x, y) )�>) �/��+& )���!-��� !� !�&# ����( �9-��#�6 ��#� �$

#�)� . �����-��. ���� +� �!����( � �+�8����( ! ���#!�#�#!�� � ��!�( " ���%�(

�9 ��%�G ,� ��#� ��$ ?� ��� ) �!�-� ��#�-��. ����+����(� ��+�#�+ #��/�6 '#�

)��-� #�"�6 ��� ���-��&�+5( �9 ���% 95-  ��-�+-�� )� -����  �� ��� I) �

=#�+ �"� )-�8��. &+��.?�-��. !�!��L6 95-� )�-&'��5  ��) ���-���$ Bz(r, h0)

� J(r)6 �,���5� � ���9 �/���5+� ��  ��� 0�Z � 0�F " �����+�� ���) ���-����

J(r) �-$  ��-�+-����"� �9 ��%� #��/� �+��# � &)��+��?#�9�5( ) �!�- !

%��# � �9 ��%�� 1  �9�#�, e�426 ���6 ���f 95-� �9�� &/���6 '#� ) � !5����,

2�
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#�+)� �#& �, ��+�"��'�����#. �!� ,) �!��$8�, +��#���!6 ! #�+ '��-� � ) �

��-�'�� # ���)� #��"� #���6 #��/� ��-.�$ �)���#. !  �+��, +���-� � �#�'����"�

���#�$��$�

1 ��'��#!� ��)�-��#�-.��( �--7�# �%�� ��!���+��#� ��#�#�'��( ��+�">

��'�����#� � �# &�#& 5 #���! ! ) ��&#�#!�� �����#�! ) �!���+ ) ���-.

��,!�'����"� )�-$ �  ���'�#�����  ��) ���-���� #���! �-$ 9�� ��#�--�'����(

)-���� `aZ2b^3c76 ��#� �$ �9-����# ��#��#!���5+ ) �)$#�#!��+ �-$ �!� ,) �!��$>

8�, #���! I ��� 0BZ � 0BFL� ;�"�� !���#.6 '#� ! ��/��( �� '��#�( 9�� ��#�--�'����(

)-���� �� +� &7#�$  ��) ���-���$ Bz(r, h0) � J(r)6 ��'��#!���� )�,�/�� ��

) ���-� Bz(r, h0) � J(r) �-$ )-���� 9�� �����#�!�

�� ����!���� =#�, ����5, +�/�� ���-�#. �-��&78�� !5!��5C

�� ��-�'�� ) �!�-� ! )-�#���#� #��� ! %��# � �9 ��%� � �"� ,� ��#� ��$ ?� ���

�� ��!��$# �# ���9�����#�( +�� ��# &�#& 5 �9 ��%�6 � $!-$�#�$ ���#h�+-�+5+

�!�(�#!�+ � �#�'����"� ���#�$��$ �!� ,) �!��$8�, )-�����

0� < ��# ���#!����$ �# &�#& � ��#�#�'��( ��+�"��'�����#� �'��. ��-.��

��!���# �# �����#�!6 -�+�#� &78�, ) �#������ #���6 � "��+�# �'����,  ��+� �!

�9 ��%��

� &"�+ !��+�/�5+ �9h$������+ )���!-���$ )-�#���#� #��� ! %��# �-.��(

�9-��#� ! ���#�$��� � )�-���#.7 ) ����?�+ +�"��#�5+ )�#���+ +�/�# �-&/�#.

��!���+��#. )-�#���#� #��� )�����"� �# +�"��#��"� )�-$6 Jp = Jp(B)� 
5 ) �!�-�

�)�%��-.�5� ��+� ���$ ) ���-$ ��,!�'����"� )�#��� ! ) ��&#�#!�� !��?��"�

+�"��#��"� )�-$ H0 �� 0�� H� � �� �9�� &/�-� !-�$��$ H0 �� ) ���-. Bz(x, y)�

� �+� =#�"�6 +5 ���-���!�-� !��+�/�&7 ��  �-$%�7 +�/�& -���-.��( )-�#���#.7

#��� J(x, y) � !�-�'���( Bz(x, y, h0)C �-$ =#�"� +5 )��# ��-� " ���� J = J(Bz)

�-$ ��!)���78�, ���'���( (x, y)� 1 �#-�'�� �#  ��&-.#�#�!  �9�#5 e���f †6 ��+
�� &��-��#. �9�� &/�#. ����+&7 ��  �-$%�7 � )�-&'�#.  ��&+�&7 ��!���+��#.

Jp(Bz)�


5 )�-�"��+6 '#� ���9�-�� !� �$#�5+ �9h$������+ ��9-7���+�"� =����#�

$!-$�#�$ #� +���#�!� �!����$  �-����%�$ +�"��#��"� )�#��� I� �) +�"��#��"�

)�#���L� ��5+� �-�!�+�6 ) � T �= 0 �&8��#!&�# ����'��$ !� �$#���#. !5,���

��)�����"�!����"� !�, $ �� �!� ,) �!������6 )����-.�& ! �#�&#�#!�� +�"��#��"�

)�-$ �� �9-����# ��95#�'��( =�� "��(� <�=#�+& ��/� ��-� ! ��'�-.�5( +�+��#

!�, �!�� ���#�$��� ! )-���� ���#!�#�#!�!�-� +���-� :��� Jp = const I��

���-7'����+ +�-�( �9-��#� ! %��# � �9 ��%� ?� ���( )� $��� +�/!�, �!�"�

 ���#�$��$
√

Φ0/Bmax < 10−4 �+L6 #� �� �'�# !5,��� !�, �(  ��-.��$ )-�#���#.

#��� 9&��# +��.?�� �'�!����6 '#� !-�$��� � �)� ��-/�� ��-.��� !��"� ) �$!-$#.�$
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! �9-��#$, � 9�-.?�( ���%��# �%��( !�, �(6 #� ��#. ! %��# � �9 ��%�� <����-.�&

��?� ��+� ���$ ) ��# ���#!����"�  ��) ���-���$ +�"��#��"� )�-$ ����+��#

��!�-.�� +��"� ! �+��� I�# 0 �� �� '���!L6 95�# �$  �-����%�$ )�#��� +�/�#

) �!���#. � #�+&6 '#�  ���'�#5!��+��  ��) ���-���� #��� �� ���#!�#�#!&�# &�-�!�7

Jp = const� 
5 ) �!�-� �� �7 ��+� ���( ��#����!���#�  �-����%�� )�#���

! ���-��&�+5, �9 ��%�,6 ��#� 5� )��#!� ��-� �&8��#!�!���� #�� ���5!��+�"�

"�"��#���"� � �)� ! 1
�< eA4f� ��(�#!�#�-.��6 ��?� ��+� ���$ &���5!��#

�� 95�# &7  �-����%�7 ��,!�'����"� +�"��#��"� )�#���C ) � T = 77 _ ��

)� !5� �*0 +�� )�-�5( +�"��#�5( +�+��# &+��.?��#�$ �� 10 − 15% �-$

 ���5, �9 ��%�!6 '#� ���#!�#�#!&�# �� +�-���!����( ��� ��#�  �-����%�� S =

dM(t)/d(ln t) ∼ 0.05� < � )�!5?���� #�+)� �#& 5 ��� ��#.  �-����%�� !

���-��&�+5, �9 ��%�, �����'�#�-.�� &!�-�'�!�-��.6 ) � �,-�/����� ��� ��#.

�����'�#�-.�� &+��.?�-��. � ) � T = 4.2 � ��,!�'���5( )�#�� &+��.?�-�$ 5%

�� � +��� �#�-. ��-.�5( � �) ! �9-��#� "�-��!5, #�+)� �#& +�/�# &���5!�#.

�� #�6 '#� � �) +�/�# &��-�!�#.�$ �� �'�# ��-.��"� +�/!�, �!�"� �##�-��!���$6

=����#�!�� &+��.?�78�"� "-&9��& )�#��%��-� )�����"�G � #��/� �� #�6 '#� !

 ��-.�5, �9 ��%�, �+�7#�$ %��# 5 )�����"� �  ��-�'�5+� =�� "�$+� ��#�!�%���


���+ �9 ���+6 +5 ) �,���+ � !5!��&6 '#� � �) +�"��#��"� )�#��� �-��&�#

�'�#�#. ���9�-�� !� �$#��( ) �'���( )���!-���$ )-�#���#� #��� ! %��# �

#����)-���'�5, �9 ��%�! ! �9-��#� !5����, #�+)� �#& IT ∼ TcL� ��+�#�+6 '#�

�-$ !�, �!�"� ���#�$��$ � +�-�( )-�#���#.7 !�, �( � ) � #�+)� �#& �, T � Tc6

+�/�� �/���#.6 '#� +���-. � �#�'����"� ���#�$��$ :��� 9&��# �) �!��-�!��

1 ���-7'���� �9�&��+ ) �+���+��#. ���#��?���$

jp =
Jp

ds
� c ·sZ~[Bz]

2πds · ln(L/R)
, I4��4L

)�-&'����"� �-$ ���� ����"� �!� ,) �!��$8�"� ����� !  �+��, +���-� � �#�'����>

"� ���#�$��$ :��� e0�f � '��#� ��)�-.�&�+�"� �-$ �%���� )-�#���#� #��� ! �!� ,) �>

!��$8�, )-����,G sZ~[Bz] � +����+�-.��� ���'���� z−��+)����#5 ��,!�'����"�

+�"��#��"� )�-$6 ds � #�-8��� �!� ,) �!��$8�( )-����6 L �  ��+� �9 ��%�6

R = min(h0, dH) � )� �+�# �9 �����$6 #�'��� ���'���� ��#� �"� �-�9� ����5!��#�$

�� �%���� )-�#���#� #���� ���&-.#�#5 !���#���!-���$ )-�#���#� #��� &���5!�7# ��

#�6 '#� �%���� � ����( )-�#���#� #��� jp )� �� +&-� I4��4L ) �!���# � ����/����+&

���'���76 ��#� �� ) �+� �� !�!�� +��.?� +����+�-.��( )-�#���#� #���6 !��+�/��(

! �����+ !�, �!�+ ���#�$���� 
�+ �� +����6 #���$ �%���� ���# ) �!�-.�5( )�

)� $��& !�-�'��5  ��&-.#�#6 � )�=#�+& !)�-�� ) �+���+� �-$ 95�# �( ���"���#���

#������&8�( �)���9���#� )-���� � �-$ �%���� � ����( )-�#���#� #��� )������"��

��)�-.�&$ =��)� �+��#�-.�� )�-&'���&7 ��!���+��#. sZ~[Bz](T )6 )� �� +&-� I4��4L

+5 !5'��-�-� ��!���+��#. � ����( )-�#���#� #��� )�����"� jp(T ) �# #�+)� �#& 5

I ��� 0@L� ��!���+��#. jp(T ) 9-���� � -���(��( ��!���+��#� ) � #�+)� �#& �,6 ��

�-�?��+ 9-����, � Tc�
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 jp )��

)��� 
 �
��
�? M1 5 ◦! M2 5 • ,��& �
 �& $-&

;3;3 �+ �#��&� �#&�&*����0 ,�������& ���� #��,�#&(��&) �

,� �/�:  ���0 <�##� �7�&���0 *���&1!

������ *��
���� �������� � ������	

��� 95-� )������� !  ����-� 4�0��6 ���-�� =��)� �+��#�-.�5, ����5, )�

��+�"��'�!���7 #����, �!� ,) �!��$8�, )-���� ! )� )�����&-$ ��+ +�"��#��+

)�-� ) ���#�!-$�# !��.+� �-�/�&7 ����'&� :�-.?�(  ��+�"��'�!�78�( ���#� 

#���, �9 ��%�! ) �!���# � !5����( )-�#���#� =� ��� &78�"� #��� �� � �$, )-����6

!  ��&-.#�#� '�"� ��� �� +� �9 ��%�6 #�� � # &��� ���# �-� &�+�$ �# &�#& �

� ��! ! ���'�#�-.��( +� � �) ���-$7# =��)� �+��#�-.�� ��+� $�+5� +�"��#�5�

,� ��#� ��#����

1 =#�+  ����-� 9&�&# ) ���#�!-��5  ��&-.#�#5 ���-���!���( -���-.�5,

,� ��#� ��#�� �+�?����"� ���#�$��$6 �� +� &78�"��$ ! =)�#�����-.�5, #����,

)-����, `aZ2b^3c7 ! )�-� ��  �+�"��#��( '��#�%5 I+�� �+�"��#�L� ����+����5+

���#����#!�+ ��)�-.�&�+�( +�#����� e�@f $!-$�#�$ #� �9�#�$#�-.�#!�6 '#� )-�#���#.

�!� ,) �!��$8�"� #��� !9-��� � ��! �9 ��%� +�/�# 95#. ) ���9 �/�+� +�-�(

)� � �!����7 � #���+  ��)� �!���$ � �����#�#�'��( �-$  �/����$ !�, $�

<��#!� /�����+ #�"�6 '#� !�, �!5� -���� ) �����7# '� �� )�!� ,���#. )-����6 �

�� '� �� � �$ �9 ��%�6 $!-$�#�$ !�� ) ��# ���#!����"�  ��) ���-���$ Bz(x, y) �-$

#����( )-����6 ��+�"��'����( ! )�-� +�� �+�"��#� I ���02LC !�, � -���-���!��5

! �" ���'����( �9-��#� ! )-���� )�� +�� �+�"��#�+� 3#� ����'��#6 '#�

2�
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,h0 � 250 ���! T = 77 R-&

��)�-.��!���� +�"��#��( '��#�%5 ! ��'��#!� ��#�'���� ������ ����"� +�"��#��"�

)�-$ )��!�-$�# ��&'�#. -���-.�5� ,� ��#� ��#��� �!� ,) �!��$8�, �9 ��%�!

����'�5,  ��+� �!� ��+�#�+6 '#� ���#�+5 #���"� #�)� I+�"��#�5( ��)�-. ���

)�!� ,���#.7 �!� ,) �!������L ��#�!�� ���-��&7#�$ #��/� ! ) �-�/���� �

) �9-�+�+ +�"��#���-�!�( +�� ����)�� � -�!�#�%�� e�A6 �B6 ��f� ��� ) �!�-�6

! #���, ����'�, ) ��)�-�"��#�$6 '#� +�"��#�5( +�+��# ��)�-$ ���#�#�'�� +�-

� �� ����5!��# �&8��#!����"� !-�$��$ �� �!� ,) �!������ 
5  ���+�# �!��+

��&7 ��#&�%�76 ��"�� �+�?����� ���#�$��� ��+� ������#�$ )�-�+ +�� �+�"��#��

�%��� �( !�������!���$ #���"� !�, �!�"� ���#�$��$ �&8��#!���� ��!���# �# #�"�6

��� ) ���,���# )� �,�� )-���� ! �!� ,) �!��$8�� ���#�$���C ! +�"��#��+ )�-�

+�� �+�"��#� �-� ! �"� �#�&#�#!��� ��+� �/�!���� !�, �( ! )�-� +�� �+�"��#�

���-���!�-��. =��)� �+��#�-.�� !  �9�#� e��Bf� �+���� #���( �-&'�( ���#!�#�#!&�#

#�� �#�'����+& ���-��& e���6 ���6 ��@f6 ����!����+& �� � �!����� �!�9����(

=�� "�� �!� ,) �!������ 9�� !�, �( � � �����'�5+ !�, �+� ��� 9&��# )�������

��-��6 ���-���!���� ) �%���� �� +� �!���$ !�, �!�"� ���#�$��$ ! )�-� ��)�-$ !

�9 ��%�,6 �,-�/����5, �� T < Tc ! �&-�!�+ +�"��#��+ )�-�6 #��/� ) ���#�!-$�#

9�-.?�( ��#� ��6 )����-.�& )��!�-$�# )�-&'�#. !�/�&7 ���� +�%�7 � -���-.�5,

,� ��#� ��#���, �9 ��%��

< �%��� �� +� �!���$ �+�?����"� ���#�$��$ �)���� ! "-�!� �� <�

+� � &+��.?���$  ���#�$��$ a0 +�/�& )-����( � +�� �+�"��#�+ -���-.�5(

+�(���� �!���( #�� �� )�!� ,���#� )-���� ) �!5?��# � �#�'���&7 !�-�'��&6

'#� ) �!���# � ) ������!���7 ! )-���& !�, �!5, )�-&)�#�-.� �!�-�'�!�$ �!�(

 ���&� !�, �!5� )�-&)�#-� ���#�"�7# ) �#�!�)�-�/��( )�!� ,���#� )-����6 "��

 ��8�)-$7#�$ �� )� & !�, .*��#�!�, .� �9 ���!�!?���$ !�, � ��� �)-$7#�$ ��

%��# �, )�����"� � �����7# ��#�#�'��� )�-�6 ��#� �� ��#�+ ���-��&�#�$ � )�+�8.7

2@



���� �
� K���
 :��	�������
���
� ���
�
��� , $ 5 ��
��
! . 5 ����
�
����!

@ 5 	����
 ���2��3�7! C 5 	
)�
*�
! + 5 ��
����(1�� )
���� T
��
 U$!

8 5 ��	
)��*��� )
���� T
��
 U.! 3 5 ����
)
����! P 5 �
����
����! > 5

��
)
	�
�
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��#'���! Q�--�� 1  �+��, �����"� �%��� �$ ����5!��#�$ !��+�/�5+6 ! '��#���#�6

�) ���-�#. � �#�'���&7 )-�#���#. #���  ��)� �!���$ jc6 ���#!�#�#!&78&7

-���-.��+& )���!-���7 =�� "�#�'����"� 9� .� � :; �-$ !,�/����$ !�, �!5, -���(

! #���&7 �!� ,) �!��$8&7 )-���& '� �� �� )�!� ,���#.� 3#� ����'� �!���#�$ �

��+� ���7 )� �"�!�"�  ���#�$��$ acr6 ��'���$ � ��#� �"� ) ���,���#  �� &?����

+�(�W�� �!���"� ���#�$��$�

������ *��
���� )�
���������
"��� �
������� � ���������
����

�!�� +��

3��)� �+��#5 )� ��+� ���7 � �#�'����( )-�#���#� #���  ��)� �!���$

jc6 ���#!�#�#!&78�( )���!-���7 )�!� ,���#��"� =�� "�#�'����"� 9� .� � �-$

) ������!���$ !�, �(6 ) �!���-��. �� #����, c−� ���#� �!���5, )-����,

`aZ2b^3c76 !5 �8���5, �� )��-�/��, EwJZc3� :5-� !59 ��� '�#5 � #����)-�>

��'�5, �9 ��%� `aZ2b^3c7  ��+� �+ 0� ++ × 0� ++ � #�-8���( )� $��� @A�

Ȧ� ���-��&�+5� )-���� �+�-� �-��&78�� )� �+�# 5C Tc0 � 84 ÷ 86 _6 ?� ���

 ����#�!��"� )� �,��� 1 ÷ 2 _6 ������ �1D ��) �#�!-���� 10−4 ÷ 10−3 �+ I�� ��

HH% ) � �� �L6 ��!�-.�� !5����$ )-�#���#. #��� )�����"� jp(77K) = 105 ÷ 106

oN�+26 W�) �#�!-���� ! �� +�-.��+ ���#�$��� ρn ∼ ��� +��+ · �+ I) � 90 _L�

3��)� �+��#�-.��$ &�#���!�� �-$ ��&'���$ #�+)� �#& ��( ��!���+��#� jc(T )
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) ���#�!-$-� ��9�( +���5( �#�-�� � +����!�5+ ����!����+6 )�" &/���5+ !

/����( ���# I ��� 4�L� ���-��&�+�$ )-���� )�+�8�-��. �� �#�-��6 )�� ��#� 5+

�� �#� /�� 95- )�+�8�� ��" �!�#�-.� 
�+)� �#& � �9 ��%� �) ���-$-��. )�

��+�����7 ��) �#�!-���$ #� +���#'���6 ��#� 5( ��,���-�$  $��+ � )-����(

�� )�!� ,���#� �#�-���G #�'���#. ��+� ���$ #�+)� �#& 5 ���#�!-$-� 10−2 _�

�#�9�-���%�$ �������( #�+)� �#& 5 �9��)�'�!�-��. #� +� �"&-$#� �+6 ��#� 5(

�����!�- 9�-��� +�/�& )��!���+5+ � �#!���+5+ #�)-�+6 &) �!-$$ #���+6 #��&8�+

'� �� ��" �!�#�-.G #�'���#. �#�9�-���%�� #�+)� �#& 5 � �� ,&/� 10−2 _�

1 ��'��#!� +�� �+�"��#� ��)�-.��!�-��. '��#�%� Msbn5  ��+� �+ 4�� +�+×
4�� +�+× A�� +�+� :-�"��� $ !5#$�&#�( �� +� +�� �+�"��#� +�"��#�5( +�+��#

'��#�%5 95- � ���#� �!�� !��-. �-����( ���6 '#� #��/� 95-� )��#!� /����

) $+5+� ��+� ���$+� )�-�(  ����$��$� 
�"��#�5( +�+��# '��#�%5 m0 ∼
6.7 · 10−3 H�·�+3 95- �) ���-�� )�  ��&-.#�#�+ ��+� ���$ )�-�(  ����$��$

�� 9�-.?�,  ���#�$��$, �# '��#�%5� Q� ��#� ��#��� !�, �!�( �# &�#& 56

�9 ��&78�(�$ ! �!� ,) �!��$8�( )-���� ! )�-� +�� �+�"��#�6 ��+� $-��. �!&+$

�������!5+� ��#'���+� Q�--� �� ����!� )-���� gSMF �  ��+� �+  �9�'�( �9-��#�

A� +�+ × ��� +�+� ����� &78�( ��#'�� z�  ��)�-�"�-�$ ��� )�!� ,���#.7

)-���� ��  ���#�$��� 0A� +�+ � ��)�-.��!�-�$ �-$ ��+� ���$ ) ��# ���#!����(

��!���+��#� Bz(x, y) ) � T = 77 _� ��)��!�/�5( ��#'�� Q�--� z0 ��,���-�$

)�� )-����( #�'�� )�� +�� �+�"��#�+ � ��)�-.��!�-�$ �-$ ��+� ���$ ��#�#�'��(

��+�"��'�����#�� < ��# ���#!�����  �� �?���� ��#'���! ! )-�����#� (x, y)

�) ���-$-��.  ���#�$���+ �# ��#'���! �� )-����C RH1 � 100 +�+ � RH2 � 700

+�+�
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3��)� �+��# ) �!���-�$ ! ��#� !�-� #�+)� �#& �# 77 _ �� Tc06 ! ���)�����

 ���#�$��( +�/�& %��# �+ +�� �+�"��#� � )�!� ,���#.7 �A� +�+�a0����� +�+

�-$ ��/��"� �9 ��%�� < �%��& � ��+� ���$ ��#�#�'��( ��+�"��'�����#�6 !��>

����78�( ! )-���� ! )�-� +�� �+�"��#�6 ���#�$-� ! �-��&78�+ I ��� 4�ZL�

����+�"��'����$ )-���� �,-�/��-��. �� ����� �!����( #�+)� �#& 5 T < Tc06

��#� �$ )���� /�!�-��. � #�'���#.7 �� 0.01 �� 
�� �+�"��#6 )� !���'�-.��

 ��)�-�"�!?�(�$ ��-��� �# )-����6 �)&���-�$ �� ����#� �( !5��#5 a0 I ��� 4�FL6

��#� �$ ��+� $-��. +�� �+�# �+6 ��#�+ !��!. )����+�-�$ �� )� !���'�-.��"�

& �!�$ I ��� 4�WL� <��-� =#�"� ��)��!�/�5+ ��#'���+ Q�--� z0 ��+� $-��.

+�"��#��� )�-�6 ��#� �� +�/�� 95-� �'�#�#. ��9�#!���5+ )�-�+ )-���� I ��� 4�wL�


��"�� �#�5+ )�!#� ����+ �)������( ) �%��& 5 ��+� 95-� )�-&'��5 ��!���+��#�

!�-�'��5 ��#�#�'��( ��+�"��'�����#� �#  ���#�$��$ a0 �� +�� �+�"��#� �-$

��/��"� �9 ��%� ) �  ��-�'�5, ����� �!���5, #�+)� �#& �,� <� �'��-�+ "-�!�5�

���9�����#� ��?�,  ��&-.#�#�!C

> !�, �!5� -���� ) �����7# ! �9 ���% '� �� )�!� ,���#. )-����6 � �� � � ��!G

���
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>  ��&-.#� &78��  ��) ���-���� !�, �( �+��# �9-��#� � )�-�/�#�-.��( �

�# �%�#�-.��( ��+)����#�( BzG +����+&+ �9��-7#��( !�-�'��5 Bz !�� ��#��#

� &+��.?����+ a0G

> �9�� &/��� �&8��#!�!���� � �#�'����"�  ���#�$��$ acr6 ��#� �� ���#!�#�#!&�#

��'�-& !,�/����$ !�, �( ! �!� ,) �!����� I ���40ZLC ) � a0 > acr ��#�#�'��$

��+�"��'�����#. �#�&#�#!&�#6 '#� ���#!�#�#!&�# +�(���� �!���+& ���#�$��76

!�, �!�� ���#�$��� �9 ��&�#�$ #�-.�� ) � a0 < acrG

> � �#�'�����  ���#�$��� acr &!�-�'�!��#�$ �  ��#�+ #�+)� �#& 5 T I ���40FLG

> � �#�'����$ #�+)� �#& � )� �,��� :� �������"�*���#� -�%�*
�&-���6 �%���>

!��+�$ )� �� +&-� I0�4L6 �-$ ��?�, �9 ��%�! -�/�# �� ) ���-�+� ���)�����

 �9�'�"� ���)����� #�+)� �#& IT = 0.89 ÷ 0.98 Tc06 TBKT ≥ 0.99999 Tc0L� 3#�

&���5!��# �� #�6 '#� !�, �!5� )� 5 !�, .*��#�!�, . ��(�#!�#�-.��  �/��7#�$

9-�"��� $ ) ��&#�#!�7 +�� �+�"��#�6 � �� �-&�#&�%����5+ �9 ���+�

�-$ )�!5?���$ #�'���#� ��+� ���( � �#�'����"�  ���#�$��$ acr I! ) ��&#�#!��

?&+�!6 ���#!�#�#!&78�, ��#�'���#� ��+� ���$ +�"��#��"� )�-$ ∼ 0.1 H�L6 ���'����

acr �) ���-$-��. =��# �)�-$%��( ��!���+��#� ��,!�'����"� )�-$ B �#  ���#�$��$ a0

� ���'���7 B = 0 I ��� 40ZL� 
�+)� �#& �5� ��!���+��#� acr(T ) I ��� 40FL ,� �?�

���
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�)) ����+� &7#�$ �#�)���5+ ������+ acr ∝ (Tc0−T )nG �-$ !��, �9 ��%�! )�����#�-.

�#�)��� n � −0.6 ÷ 0.7�

��)�-.�&$ !5 �/���� I0�44L6 �)��5!�78�� ) ��# ���#!���&7 ��!���+��#.

+�(���� �!���"� #��� ! #����( )-���� Ids � λabL ! )�-� +�� �+�"��#�6 �

=��)� �+��#�-.�5� ��!���+��#� acr(T )6 +5 +�/�+ �%���#. ���'���� � �#�'����(

)-�#���#� #���  ��)� �!���$

jc(T ) = max|jfm
ϕ (r, z)| = |jfm

ϕ (acr/2, 0)| = −3 c m0

2πds

1

(5/4)5/2 a3
cr

, I4���L

���#!�#�#!&78�"� ��'�-& ) ������!���$ !�, �(6 λab � =����#�!��$ "-&9���

) ������!���$ �-$  ���+�# �!��+�( � ���#�%�� +�"��#��"� )�-$ �#����#�-.��

� ��#�--�" ���'����, ���( )-����� ��  ��� 44 ) ���#�!-��5 #�)�'�5� ��!���+��#�

jc(T )� �9 �#�+ !��+���� �� ����#� 5� !�/�5� ���9�����#� )�-&'���5,  ��&-.#�#�!C

> �-$ !��"� ���)����� #�+)� �#& �# 77 _ �� Tc0 �9�� &/���6 '#� jc � jGL IjGL �

� �#�'����$ )-�#���#. #���  ��)� �!���$ H���9& "�*;����&6 ���9,���+�$ �-$

)���!-���$ )�!� ,���#��"� 9� .� � ! ����-.�5, �9 ��%�,G ) � T = 77 _

jc/jGL ∼ 10−2L� 
���+ �9 ���+6 ��?�  ��&-.#�#5 ��"-��&7#�$ � ����5+�  �9�#

e�B6 �@6 AB6 B�f6 "�� �9�� &/��� =��# �+�-.�� +�-�$ !�-�'��� 9� .� � :; �-$

!,�/����$ !�, �!5, -���( ! �9 ��%5 `aZ2b^3c7G

> �-$ #�+)� �#& 6 9-����, � Tc06 =��)� �+��#�-.�5� ����5� ,� �?� �)) ����+�>

 &7#�$ ��!���+��#.7 jc ∼ (Tc0−T )p6 "�� p � 2 I�+� #��/� #�9-� �6 "�� ) �!����5

����!�5� )� �+�# 5 ���-���!���5, �9 ��%�!L�

��+� )-���� Tc0 jc(77K) jp(77K) p

l� 86.4K 2.2 · 106 oN�+2 0.8 · 106 oN�+2 2.07 ± 0.05

l0 86.9K 2.6 · 106 oN�+2 0.85 · 106 oN�+2 2.00 ± 0.05

l4 85.5K 2.0 · 106 oN�+2 0.95 · 106 oN�+2 2.00 ± 0.05

l� 86.6K 1.0 · 106 oN�+2 0.7 · 106 oN�+2 1.96 ± 0.05

������� �������������� �	��
���

�9�&��+ #�)� . !��+�/�5� ) �'��5 ��9-7���+�"� ��+� ��-.��"� )���!-���$

9� .� � :;� <���!-���� 9� .� � 9��&�-�!�� +�/�# 95#. �!$���� � ?� �,�!�#��#.7

� )�!� ,���#�5+� �����#�+�� 
���( +�,����+6 ��� )������� ! "-�!� �6

��(�#!�#�-.�� ���/��# � �#�'����� )�-� ) ������!���$ )� !5, !�, �(C Hen ∼
γHp

en6 "�� γ < 16 �� �����#5 )�!� ,���#� �� +�"&# �9��)�'�#. γ ∼ 10−26

���#!�#�#!&78�� =��)� �+��#�-.�5+ ����5+� � �+� =#�"�6 )���!-���� 9� .� � ��

�'�# ?� �,�!�#��#�( )�!� ,���#�6 �� ��? !�"-$�6 �� +�/�# �9h$���#. ���95'�5(

!�� #�+)� �#& ��( ��!���+��#� jc ∝ (Tc0 − T )2� 
� +���#�!�%����5( +�,����+

#��/� �� +�/�# �9��)�'�#. # �9&�+&7 #�+)� �#& �&7 ��!���+��#. jc(T )6 )����-.�&

���



)��-�  ��-�/���$ !5 �/���$ I����L !  $� )� �#�)��$+ (Tc0−T ) )�-&'��+ �-�"��+5�

!��� (Tc0 − T )3/2+n6 "�� n � %�-���

�����( 9� .� +�/�# 95#. �9h$���� !  �+��, +���-� " ��&-� �!����(

�/��������!���( � ��56 ) � =#�+  �-. �/��������!���, ���#��#�! +�"&# �" �#.6

��) �+� 6 " ���%5 �� ��� 3����#�!�5( � �#�'����( #��  ��)� �!���$ ! #���(

+���-� )� )� $��& !�-�'��5 ��#. �/��������!���( � �#�'����( #�� +�/�&

" ��&-�+�6 ��#� 5( ��+��"� +��.?� jGL� �-��&$  �9�#� e��2f6 ! ��#� �( ) ��-�/���

+���-. " ��&-� �!����( �/��������!���( � ��56 �) ���-�+ =����#�!�&7 "-&9��&

) ������!���$ +�"��#��"� )�-$ �-��&78�+ �9 ���+C

λ2
ab =

cΦ0

16π2µljc
, I4��AL

"�� l �  ��+� �!� ,) �!��$8�( " ��&-56 µ � =����#�!��$ +�"��#��$

) ���%��+��#. � ��56 �!$�����$ � �#��?����+ λ/l I�-$ λ/l ∼ 1 +5 �+��+ µ < 1L�

�'�#5!�$6 '#� λ(77K) ∼ 2000A 6 l ∼ 0.5 +�+6 jc = 2 · 106oN�+2 )�-&'��+

λab ∼ l� ;�"�� !���#.6 '#� ) � #�+)� �#& �, T > 77 _ �) �!��-�!� ���#��?����

λab > l6 )�=#�+& �-$ �)�����$ )-���� +�/�# 95#. ) �+���+� ) ��#�$ +���-.

e��2f6 ����!����$ �� &� �������+ )� +��?#�9& l �&��%����-� �!�9����( =�� "���

��+�#�+6 '#� =����#�!��$ "-&9��� ) ������!���$ λab ∼ l ��(�#!�#�-.�� ) �!5?��#

#�-8��& )-����C ds/λab ≤ 0.2 ) � !��, #�+)� �#& �, �# 77 _ �� Tc06 )�=#�+& ��?�

) ��)�-�/���� � #�+6 '#� ���-��&�+5� )-���� +�/�� �'�#�#. #����+�6 $!-$�#�$

�) �!��-�!5+�

1�� #�+)� �#& ��( ��!���+��#� jc(T ) �) ���-$�#�$ �!�(�#!�+� +�/" ��&-.>

��"� ��#� ��(��� 
�� �-$ �/��������!���( � ��56 ���#�$8�( �� �!� ,) �!��$>

8�, " ��&- � s−#�)�+ �)� �!���$6  ����-���5, ��=-��# �'����+� ) ��-�(��+�

IMNgNM ���#��#L6 �/��������!���( � �#�'����( #�� !9-��� Tc0 �+��# �-��&78&7

#�+)� �#& �&7 ��!���+��#. e�A�fC jc ∼ (Tc0 − T )� �#-�'�� ��9-7���+�( ��!���+��#�

jc ∼ (Tc0 − T )2 �# ,� ��#� ��#��� MNgNM ���#��#� &���5!�7# �� �&8��#!�����

)���!-���� +��&-$ )� �+�# � )� $��� �� " ���%�, " ��&-� 3#�# !5!��6 � #��/�

��9-7���+�$ ��-���(��$ ��!���+��#. jc(T ) !9-��� Tc06 ��,��$#�$ ! ��"-���� �

 ��&-.#�#�+�  �9�#5 e�A�f6 ! ��#� �( �%���� �/��������!���"� +�/" ��&-.��"� #���

) �!���-��. �� ����!� ��+� ���( +�"��#��( !��) ��+'�!��#� )�-�� ��#�--�'����,

`aZ2b^3c7 )-����� ��!�-.�� !5����� &��-.��� ��) �#�!-���� ���-��&�+5, ��+�

)-���� ! �� +�-.��+ ���#�$��( ρab(90K) � 100 +��+·�+6 ���'�#�-.�� ) �!5?�78��
&��-.��� ��) �#�!-���� ,� �?�, +�#�--�!6 +�/�# �-&/�#. &�������+ �� MNgNM

#�) �/��������!���( � ��5� <�=#�+& ��-� ���-7'�#. !��+�/���#. �&8��#!�!���$

���#��#�! �!� ,) �!�����*�� +�-.�5( +�#�--*�!� ,) �!����� IMNENM ���#��#L !

`aZ2b^3c7 )-����,6 #� )�-&'���5� ��+�  ��&-.#�#5 &���5!�7# �� �����# �)�5(

d−#�) �)� �!���$ ! " ��&-�,6 !��+�/���#.  ��-���%�� ��#� �"� ! 1
�< ��#�!��

�9�&/���#�$ ! )��-����� ! �+$ I�+�6 ��) �+� 6 +���" ���7 e�f � ) �!�����5� ! ��(

��5-��L�

��A
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< ���#�!-$�# ��#� �� � �!��#.  ��&-.#�#5  ��'�#� )� �+�# �! !�, �!5, �# &�#& 6

)�-&'���5� ! "-�!� 06 � ����5+� =��)� �+��#�� ��)�+��+6 '#� �#�#�'����$
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 5 ���������'��( � ��!��$8�( �# & �!�$ ��+� ���$ ρ/ρn� �?� ���� )� �,���
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)��� ��-���(���#� ! #�+)� �#& ��( ��!���+��#� +�8���#� # �#.�( "� +�����

P3ω(T ) ! �9-��#� #�+)� �#& 9-����, � Tc� �-$ %�-�"�  $�� �!� ,) �!������!
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��-���(��"� �#�-��� ) � &!�-�'���� #�+)� �#& 5 I#� ��#.6 &+��.?���$ P3ω(T ) ��

& �!�$ ��-���(���#� �� +�-.��"� +�#�--�L� ����'��6 #�'�5( � �#� �( �) ���-���$

T nl
c �#�&#�#!&�#6 )����-.�& �#�&#�#!&�# #�� �$ ��-���(��"� �#�-���6 )�=#�+&

) ���#�!-$�# ��#� �� )��#!� ��#. =#& "�)�#��& ,�#$ 95 =��)� �+��#�-.���

3��)� �+��#�-.��$ &�#���!�� I ��� 4AL �-$ ) �!�����$ ����! �+����"�

��+� ���$ ��-���(�5, IP3ω(T )L � # ���)� #�5, ,� ��#� ��#�� Iρ(T )L $!-$�#�$

+�������%��( &�#���!��6 ��������( �� �� ���� ��5+ � 	� 	� <��#�!5+ �

�)������( !  �9�#� e�A4f� ��+� ���� #�+)� �#& ��( ��!���+��#� +�8���#� # �#.�(

"� +����� ) �!����� ��!+��#�� � �� �� ���� ��5+� 1 =��)� �+��#� �1D ��"��-

�� '��#�#� ��0 
H% )���!�-�$ ! �1D ���� * �������-.�5( ��9�-.6 ���� �'���5(

�� ���%� +����( ) �!�-���( �-���( 0 ++ � ���+�# �+ A� +�+6 ��#� �$ ������$-�

!��?��( � !�&# ����� ) �!������ �������-.��"� ��9�-$� < �  ��) ��# ������ �1D

��"��-� )� ��9�-7 ) ���,���-� )�'#� )�-��� �# �/���� �# +����( ) �!�-��� !

��-& #�"�6 '#� !�-��!�( �+)����� �������-.��"� ��9�-$ ���'�#�-.�� ) �!5?�-

�+)����� ) �!�-���6 ) � =#�+ ! +����( ) �!�-��� !������- )� �+���5( #�� !5����(

)-�#���#�� 3#�# !5����'��#�#�5( #�� ������# ������ ����� �!����#�%���� ���

+�"��#��� )�-�6 -���-���!����� �� +��?#�9�, )� $���  ��+� �! ����� IL‖ ∼ 2 ++6

L⊥ ∼ 0.05 ++6 "�� L‖, L⊥ � ) ���-.�5� � )�)� �'�5� +��?#�95 -���-���%��

+�"��#��"� )�-$ ���#!�#�#!����L� < � !���+���(�#!�� ��-.��"� !5����'��#�#��"�

)�-$ � ���-��&�+5+ �9 ��%�+ ��*�� ��-���(�5, �!�(�#! �!� ,) �!������ ! �)��# �

�# �/����"� ��"��-� !������-� !5�?�� "� +����� ����!��( '��#�#56 ��#� 5�

 �"��# � �!�-��. #�+ /� �1D �����+� �-$ ) ���#! �8���$ =-��# �'����"�

���



���#��#� ����� � ���-��&�+5+ �9 ��%�+6 ) �!��$8�"� � "��� �%�� )� ���#��"�

��"��-� �� '��#�#� # �#.�( "� +�����6 �� �9 ���% )�+�8�-��. ���-� &78�$

#��-���!�$ )-���� #�-8���( �� +�+� � �!��. ?&+�! I!�-�'��� )� ���#��"�

��"��-� �� # �#.�( "� +�����L ���#�!-$- !�-�'��& )� $��� 10−13 1#�

1 ��'��#!� � ���#�#� ��)�-.��!�-�$ �#���� #�5( "�-��!5( �.7� �
H*��6 !

"� -�!��& ��#� �"� )�+�8�-�$ ��+� �#�-.�5( +��&-.6 ) ���#�!-���5( ��  ��� 4A�
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&�-�!�7 �9 �8���$ ! �&-. +��&-$ << �� )�!� ,���#� �!� ,) �!������� 
�'���

���-�#�'�����  �?���� )��!�-�-� 95 ��#�-.�� ���-���!�#. !�) �� � !-�$���

)�!� ,���#�5, �����#�!6 ! #�+ '��-� � !�-7'���( �� +�-.��"� +�#�--�6 ��

!�-�'��& � �#�'����"� )�-$ )���!-���$ 9� .� � :;�

0� 3��)� �+��#�-.��� ��9-7����� ) ���������5, ��%�--$%�( Tc(H0) �-$

�!� ,) �!��$8�, )-���� 9�-.?�"�  ��+� � ! )�-� +�"��#�5, '��#�%�

4� 
�� �#�'����� ���-���!���� ���9�����#�( )�-�!�( ��!���+��#� Tc(H0) �-$

�!� ,) �!��$8�, )-���� 9�-.?�"�  ��+� � ! ������ ����+ +�"��#��+ )�-�6

�+�78�+ ��+��&#5� -���� �&-�( Bz(x, y) ) ���!�-.��( ��++�# ��� 
��/�

) ���#�!-$�# ��#� �� ��&'�#. ) �%���  ��)��� +��"��!��#�!5, !�, �!5, ���#�$��(

) �  �� &?���� �����-.��( ��++�# �� ������ ����( ��+)����#5 +�"��#��"� )�-$�
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��� ��!��#�� e�A�f6 ���"&-$ �5� ��#�" �-.�5� & �!����$ g  ��� � )��#�$��5+�

��=���%���#�+� !���

b∫
a

g(t)

t− x
dt = f(x), a ≤ x ≤ b, I<���L

I"�� g(t) > ����!��#��$ �&��%�$6 &��!-�#!� $78�$ &�-�!�7 H�-.�� �L �+�7# ���

 �?���$6 �" ���'���5� !�&# � �# ���� [a, b]6 #�� � ���"&-$ �5�  �?���$6 ) �

��#� 5, �&��%�$ +�/�# ���#�"�#. 9������'�5, ���'���( �� ���%�, �# ���� [a, b]�

	����#!�����  �"&-$ ���  �?���� y(t) �) ���-$�#�$ �-��&78�+ !5 �/����+

g(t) = −
√

(b− t)(t− a)

π2

b∫
a

f(x)√
(b− x)(x− a)(x− t)

dx, I<��0L

��#� �� �&8��#!&�# ) � &�-�!��

b∫
a

f(x)√
(b− x)(x− a)

dx = 0. I<��4L
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1 =#�+ ) �-�/���� +5  ���'�#��+ )� �+�# 5 !�, �!�( �# &�#& 56 �9 ��&78�(�$

! )�-� +�� �+�"��#�� 1!���+ �-$ &��9�#!� 9�� ��+� �5� )� �+���5� ρi = ri/a06

i = {0, 1, 2}G Nf = 4πm0/(3
√

3a0Φ0) � )�-&'�+ ���#�+& & �!����( I0�A�L * I0�A�L !

9�� ��+� ��+ !���

− ρ0

(ρ2
0 + 1)5/2

+
1

9
√

3

N

Nf

(
2

ρ2
0

+
ρ0

ρ3
2

)
= −16

√
5

125

(
a0

acr

)3

, I<0��L

− (1 − 4ρ2
0)

(ρ2
0 + 1)7/2

+
1

9
√

3

N

Nf

(
1

ρ3
2

− 4

ρ3
0

)
= 0, I<0�0L

ρ1+w1/a0∫
ρ1−w1/a0

4a2
0 n+(ρ′)

9
√

3Nf

dρ′

(ρ− ρ′)
− ρ

(ρ2 + 1)5/2
+

1

9
√

3

N

Nf

ρ1

ρ3
2

=

= −16
√

5

125

(
jp
jc

)
, ρ ∈ (ρ1 − w1/a0, ρ1 + w1/a0), I<0�4L

−
ρ2+w2/a0∫

ρ2−w2/a0

4a2
0 n−(ρ′)

9
√

3Nf

dρ′

(ρ− ρ′)
− ρ

(ρ2 + 1)5/2
+

1

9
√

3

N

Nf

2

ρ2
2

=

= −16
√

5

125

(
jp
jc

)
, ρ ∈ (ρ2 − w2/a0, ρ2 + w2/a0). I<0��L

< �!���+ & �!����� I<0�4L � !��& I<���L6 !!��$ !�)�+�"�#�-.�5� �&��%�� g(ρ)

� f(ρ)C

g(ρ) =
4a2

0n+(ρ)

Nf

,

f(ρ) =
ρ

(ρ2 + 1)5/2
− 16

√
5

125

jp
jc

− 1

9
√

3

N

Nf

ρ1

ρ3
2

.

�-$ �&8��#!�!���$  �"&-$ ��"�  �?���$ ���9,���+� !5)�-����� &�-�!�$ I<��4L6

��#� �� +�/�# 95#. ) �!����� � �-��&78�+& !��& Iy = ρ− ρ1L

w1/a0∫
−w1/a0

f(y)dy√
(w1/a0)2 − y2

= 0,

'#� �-$ &���, !�, �!5, ��-�% =�!�!�-��#�� # �9�!���76 '#�95  ��-�/���� f(y) )�

�#�)��$+ y �� ���� /�-� '-���! !��� y0C
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ρ1

(ρ2
1 + 1)5/2

− 16
√

5

125
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jc

− 1

9
√

3

N

Nf

ρ1

ρ3
2

]
+

(1 − 4ρ2
1)

(ρ2
1 + 1)7/2

y + ...

�-$ =#�"� ���9,���+�6 '#�95 �-�"��+�� ! �!�� �#�5, ���9��, 95-�  �!�� �&-7�

ρ1

(ρ2
1 + 1)5/2

− 16
√

5

125

jp
jc

− 1

9
√

3

N

Nf

ρ1

ρ3
2

= 0 I<0�AL

��"-���� & �!����7 I<��0L ) ��# ���#!�����  ��) ���-���� !�, �( !� !�&# ����+

��-.%� +�/�# 95#. !5'��-��� )��-��&78�( �� +&-� †

4πa2
0

9
√

3Nf

n+(y) =

√
(w1/a0)2 − y2

π2
×

×
w1/a0∫

−w1/a0

(1 − 4ρ2
1)

(ρ2
1 + 1)7/2

t dt√
(w1/a0)2 − t2 (t− y)

=
1

π

√
(w1/a0)2 − y2. I<0�BL

����+�# �!�$ #���+ /� �9 ���+ & �!����� I<0��L6 )�-&'��+ !#� �� ���9,���+��

&�-�!�� �-$ �&8��#!�!���$  �"&-$ ��"�  �?���$

ρ2

(ρ2
2 + 1)5/2

− 16
√

5

125
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jc

− 1

9
√

3

N

Nf

2

ρ2
2

= 0 I<0��L

� !5 �/����6 �)��5!�78�� ) ��# ���#!�����  ��) ���-���� ��#�!�, �( I) �

!5'��-���� ��#�" �-�! ��)�-.��!�-��. &�-�!�� ρ2 � 1LC

− 4πa2
0

9
√

3Nf

n−(y) =

√
(w2/a0)2 − y2

π2
×

×
w2/a0∫

−w2/a0

(1 − 4ρ2
1)

(ρ2
2 + 1)7/2

t dt√
(w2/a0)2 − t2 (t− y)

= − 4

πρ5
2

√
(w2/a0)2 − y2. I<0�@L

��(��+ )� #�� �� !��+&8���(  �?���� & �!����( I0�A�L6 I0�A�L6 I<0�AL6 I<0��L

!9-��� )� �"� "��� �%�� !�, �!5, )� 6 �'�#�$ a0/acr = 1 − ε6 ε � 1� <���#�!-$$

) ��)�-�"��+5�  �?���$ ! �-��&78�+ !��� ρ0 = ρ
(0)
0 + ρ

(1)
0 ε6 ρ1 = ρ

(0)
1 + ρ

(1)
1 ε6

ρ2 = ρ
(0)
2 + ρ

(1)
2 ε6 N/Nf = νε � ) � �!��!�$ ��=���%���#5 ) � �������!5, �#�)��$,

ε6 ��,���+ I+5 ��)�-.�&�+ ) ��)�-�/���� jp � jcLC

† 4�� ���������� ������
�
�  ��
 ��	
���
�
�
 ���
��� jp � jc! ��
 	
��
���� ����
�� ρ1 � 1!

 �
�*� ���)�(1�� �
 ������ ������
��

a∫
−a

dt√
a2 − t2

= π,

a∫
−a

dt√
a2 − t2 (t− y)

= 0.

�0�



N

Nf

=
1.673[

1 + 0.024 (jp/jc)
3/4

] (
1 − a0

acr

)
,

ρ0 = 0.5 − 0.468

[
4 − 0.049 (jp/jc)

3/4
]

[
1 + 0.024 (jp/jc)

3/4
] (

1 − a0

acr

)
,

ρ1 = 0.286
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jc

+
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7/4[
1 + 0.024 (jp/jc)

3/4
] (

1 − a0
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)
,

ρ2 = 1.367

(
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)−1/4

−
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7/4
[
7.48 −

√
jp/jc

]
[
1 + 0.024 (jp/jc)

3/4
] [

1.86 +
√
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]7/2

(
1 − a0

acr

)
.

��#�" � &$ !5 �/���� I<0�BL6 �)��5!�78�� ) ��# ���#!�����  ��) ���-����

!�, �(6 ��,���+ ?� ��& ��-.%� !�, �( w1C

N =

r1+w1∫
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2πr′n−(r′) dr′ =
9
√

3Nf

2a0
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√

(w1/a0)2 − y2 dy =

= 9
√
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0
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√
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N
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=
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0

9
√
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(0)
1

ν
(
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)
+O(ε2).
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ρ
(0)
1 · ρ(0)
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2

9π
√
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0

N
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= w2
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